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Important Instructions

{][m-\ \n-¿-t±iß ƒ-
{]n-b]Tn-Xm-th,-

\n-ß ƒ-CXn-\Iw-F≥-.sF.H.Fkn-s‚ ]Ø mw-¢m- v-]T\ ]cºc

(sk°‚dn-tIm-gv-kv)-Xp-Sß n-°m-W p-at√m-.\n-ß ƒ-°dn-bm-hp-∂Xp-t]m-se

B kq-{Xn-Xhpw-Xp-S¿-®bm-bXp-am-b]T\w-Cu]m-Ty-]cºcbp-sShn-PbØ n-

\v-A Xym-hiy-am-W v-.\n-ß fp-sS ]T\sØ klm-bn-°p-∂Xn-\pw,-hn-Pbn-∏n-

°p-∂Xn-\p-am-bp-≈ hn-hn-[am-¿-§ß fpw-X{¥ß fpw-R ß ƒ-hn-Ikn-∏n-s®Sp-

Ø n-́p-≠ v-.A hbn-sem-∂m-W v-Syq-́¿-am-¿-°v-Uv-A ssk≥sa‚v-.(T.M.A.)

Xm-sg]dbp-∂ Im-cy-ß ƒ-°v-(T.M.A.) \n-ß sfklm-bn-°pw-.

Hcp-kz-bw-]Tn-Xm-hm-bn-Xo-cp-∂Xn-\m-hiy-am-bÿ n-c]T\kz-̀m-hw-hf¿-

Ø n-sbSp-°p-I.

 ]m-Ty-hn-jbØ n-s‚ A ¥x-kØ a\ n-em-°p-I.

 tNm-Zy-ß ƒ-°v-{]Xn-IcW ß ƒ-tcJs∏Sp-Ø p-hm-\p-≈ ]cn-io-e\w-t\SpIbpw

A Xp-hgn-A hkm-\]co-£ bv-°p-≈ Xøm-sdSp-∏v-\SØ p-Ibpw-sNøp-I.

 \n-ß ƒ-\ev-Ip-∂ {]Xn-IcW ß fpsS-Ir-Xy-Xsb°p-dn-®v-Dd∏p-hcp-Ø p-Ibpw-

-am-¿-§\n-¿-t±iß ƒ-kzo-Icn-°p-Ibpw-sNøp-I.

 \n-ß ƒ-Xn-cs™ Sp-Ø hn-jbß fn-ep-≈ ]p-tcm-KXn-]cn-tim-[n-°p-Ibpw-

A Xn-\\p-kr-Xam-bn-Fhn-sSbm-W v-Iq-Sp-X¬-_p-≤n-ap-́p-≈ sX∂dn-bp-hm-\pw-

Iq-Sp-X¬-\∂m-bn-]Tn-°p-hm-≥-]cn-{ian-°p-Ibpw-sNøp-I.

 \n-ß ƒ-cPn-kv-{S¿-sNbv-Xn-́p-≈ A w-Ko-Ir-X ÿ m-]\ß fn-se(AI)-A [ym-

]Icp-am-bn-_‘ s∏Sp-hm-\pw-A Xp-hgn-]T\Ø n-\m-hiy-am-bam-¿-§\n-¿-

t±iß ƒ-kzo-Icn-°p-hm-\pw-km-[n-°p-I.

Syq́¿am¿° vUvA ssk≥sa‚vXøm-dm-°p∂XvFß s\?

CusNdp-]p-kv-XIØ n-¬-Hmtcm-hn-jbØ n-\pw-Hmtcm]T\{]h¿-Ø \ß ƒ-

\n-ß ƒ-°p-Im-W p-hm-≥-km-[n-°pw-.Xn-cs™ Sp-Ø Hmtcm-hn-jbØ n-\pw-kz-

¥w-ssI∏Sbn-¬-Ip-d™ Xv-Hcp-]T\{]h¿-Ø \ (T.M.A)-sa¶n-epw-A w-Ko-
Ir-Xÿ m-]\Ø n-se\n-ß fp-sS A [ym-]Is‚ ]°¬-ka¿-∏n-t°≠ Xv-\n-¿-

_‘am-W v-.



T.M.A t̂ m¿am‰v

Hmtcm]T\{]h¿Ø \-Ø n\pw 20am¿°vhoX-amW p≈-Xv.IqSmsX Hmtcm

]T\{]h¿Ø -\-Ø n-sebpwtNmZy-ß ƒ G Xv]mT-Ø n¬\n-∂mW vFSp-Ø n-́p-

≈-sX∂vtNmZy-ß ƒ°p-t\sc\nß ƒ°vImW m≥ Ign-bp-∂-Xm-W v.1,2,3

tNmZy-ß ƒ Npcp°nDØ cw Fgp-tX-≠-h-bm-W v.Hmtcm∂n\pw \mev-tNm-Zy-

ß -fp-≠v.A Xn¬ G sX-¶nepw H∂n\vam{XtaDØ -c-sa-gp-tX-≠-Xm-bp-≈p.

A Xm-bXv2+2+2=6am¿°v.1,2,3tNmZy-ß ƒ°vB sI 6am¿°m-W p-≈-

Xv.

4,5tNmZy-ß ƒZo¿L-ambnDØ -c-sa-gp-tX-≠-h-bm-W v.Hmtcm∂n\pw\mev

-tNm-Zy-ß -fp-≠v.A Xn¬ G sX-¶nepw H∂n\vam{XtaDØ -c-sa-gp-tX-≠-Xm-bp-

≈p.A Xm-bXv4,5tNmZy-ß ƒ°vB sI 8am¿°m-W p-≈-Xv.(4+4=8).

6̨masØ tNmZyw4s{]mP-Iv‰p-IƒA S-ß n-b-Xm-W v.A Xn¬ \n∂pwHcp

s{]mPIv‰vam{Xta\nß ƒ sNtø-≠-Xm-bp-≈p.CutNmZy-Ø n\v6am¿°m-

W p-≈-Xv.Hmtcms{]mPIv‰pw sNøm-\p≈ \n¿t±-i-ß ƒ A XmXvs{]mP-Iv‰p-

I-fpsS IqsS sImSp-Ø n-cn-°p-∂p.

A ssk≥sa‚vka¿∏W w

]T\{]h¿-Ø \ß ƒ-(T.M.A.)ka¿-∏n-t°≠ kab]́ n-Ibp-sShn-hcw-Xm-

sgsIm-Sp-Ø n-cn-°p-∂p-.

A ssk≥sa‚vka¿∏n-t° ≠ Xob-Xn-Iƒ

]Tn-Xm-°ƒ-AI-bn-¬-

ka¿-∏n-t°≠ Xo-bXn-

]Tn-Xm-°ƒ°v-

A [ym-]I≥-̂ o-Uv-

_m-°v-\¬-Ip-∂ Xo-bXn-

A hkm-\Xo-bXn-s]m-Xp-A h[n-tbm-,-i\n-/Rm-b¿-F∂o-Zn-hkß tfm-

B bm-¬-A Sp-Ø {]hr-Ø n-Zn-hkw-A hkm-\Xo-bXnbm-bn-]cn-KW n-

t°≠ XmW v-.

]T\ {]h¿-Ø \ß fp-sS (T.M.A.) {]tbm-P\w-èn-°p-hm-≥-ka¿-∏W

kab]́ n-IIr-Xy-am-bn-]m-en-t°≠ Xm-W v-.kv-{Sow-̨1A \p-kcn-®p-≈ Hm̈ -

sse≥-{]thi\Ø n-\v-Sn-.Fw-.F._m-[Iam-W v-.Ch A Xm-Xv-hn-jbØ n-

s‚ s]m-Xp-]co-£ bv-°v-lm-Pcm-Ip-∂Xn-\p-ap-ºv-ka¿-∏n-t° ≠ Xm-W v-.

s]mXp-]-co£

G {]n¬-̨-sabv P\p-hcn31 s {̂_p-hcn15

HIvtSm-_¿-̨-\-hw-_¿ Pqsse31 HmKÃv15



2014-15 Block II A ≤y-b\h¿jwapX¬ sk°-‚dn,ko\n-b¿sk°‚dn

s]mXp]co-£ -I-fn¬ Syq́¬am¿°UvA ssk-bvsa‚n\v20%shbn-t‰Pv\¬I-

s∏-Spw.T.M.A. am¿°p-Iƒ am¿°vjo‰n¬ Hmtcmhnj-b-Ø n-\pw _mly-]-co-

£ bv°v\n›-bn-®n-́p≈ 80am¿°n-t\m-sSm∏w {]tXy-I-ambntcJ-s∏-Sp-Ø p-

∂-Xm-W v.

A [ym-]Is‚ ]° ¬-\n-∂pw-\n-ß ƒ-ka¿-∏n-®]T\{]h¿-Ø \Ø n-

s‚ (T.M.A.) cko-Xn-hm-ß p-hm-≥-ad°cp-Xv-.]T\ {]h¿-Ø \ ka¿-∏W

cko-Xn-bp-sS Hcp-am-Xr-I Cu]p-kv-XIØ n-s‚ A hkm-\w-sIm-Sp-Ø n-́p-≠ v-.

c̀W ]cam-b Im-cW ß ƒ-{]h¿-Ø \w-\n-e®tXm-A s√¶n-¬-A S®p-

]q-́n-btXm-B b ]T\tI{µß fn-¬-hn-Zym-¿-∞ n-Iƒ-A Xm-Xp-{]m-tZin-I

tI{µØ n-¬-(do-Pn-bW ¬-sk‚¿-)-]T\{]h¿-Ø \ß ƒ-(T.M.A.)ta¬-]d™

Xo-bXn-Ifn-¬-ka¿-∏n-t°≠ Xm-W v-.{]m-tZin-I tI{µß ƒ-]T\ {]h¿-

Ø \ß fp-sSaq-ey-\n-¿-ÆbØ n-\v-th≠ \S]Sn-{Iaß ƒ-]q-¿-Ø n-bm-°p-Ibpw-

ê{]Jym-]\Ø n-¬-Dƒ-s∏Sp-Ø p-∂Xn-\m-bn-A hm-¿-Up-Iƒ-F≥-.sF.H.Fkv-

sl UvIzmt́-gvkn-te°v-A b®p-sIm-Sp-°p-∂Xp-am-W v-.

_‘ s∏́ ]T\tI{µØ n-¬-\n-t∂m-A s√¶n-¬-{]m-tZin-ItI{µß fn-

¬-\n-t∂m-Hmtcm-hn-Zym-̀ym-kh¿-jhpw-]p-Xn-b T.M.A. ]p-kv-XIß ƒ-èn-

°p-∂Xm-W v-.G sX¶n-epw-Im-cW him-¬-\n-ß ƒ-°v-T.M.A. ]p-kv-XIw-èn-

°m-sX h∂m-¬-F≥-.sF.H.Fkn-s‚ sh_v-ssk‰v-www.nios.ac.in -\n∂pw

]pkvXIw-Uu-̈-tem-Uv-sNøm-hp-∂Xm-W v-.

Xn-cp-Ø ¬-hcp-Ø n-b \n-ß fp-sS ]T\{]h¿-Ø \ß ƒ-\∂m-bn-hm-bn-

°p-Ibpw-\n-ß fp-sS {]IS\w-h¿-≤n-∏n-°p-∂Xn-\m-bn-Xm-sg]dbp-∂ co-Xn-

bn-¬-A hsb D]tbm-Kn-°p-Ibpw-sNøp-I.

l F≥-.sF.H.Fkv-X∂n-́p-≈ ]m-T]p-kv-XIß fn-se]m-T̀m-Kß ƒ-ho-≠pw-

ho-≠pw-hm-bn-°p-I.

l hy-‡ n-KX kº¿-° ]cn-]m-Sn-Iƒ-(PCP)lm-Pcm-bn-\n-ß fp-sS]T\kµ¿-

ß̀ fn-¬-t\cn-Sp-∂ {]iv-\ß ƒ-]cn-lcn-°p-Ibpw-kw-ibß ƒ-A [ym-

]Itcm-Sv-tNm-Zn-®v-Zq-co-Icn-°p-Ibpw-sNøp-I.

l ]Tn-°p-∂Xn-\p-th≠ n-Iq-Sp-X¬-kabw-Nn-ehgn-°p-I.

Sn-.Fw-.F.\√\n-ebn-¬-D]tbm-Kn-®m-¬-hn-Pbn-bm-bHcp-]Tn-Xm-hm-bn-

am-dp-hm-≥-\n-ß sfhfscb[n-Iw-klm-bn-°pw-.



\n-ß ƒ-°v-Fs¥¶n-epw-kw-ibß tfm-,-\n-¿-t±iß tfm-Ds≠ ¶n-¬-aSn-

°m-sX R ß ƒ-s°gp-XpI.

NIOS HmU n-tbm-̨-ho-U ntbmt{]m{Km-ap-Iƒ

\nß -fpsSB h-iy-ß sfam\n-®p-sIm≠ v,NIOSkmt¶-XnIhnZy-bpsSam{¥n-

IX \nß -fpsS ]Sn-hm-Xn°-en¬ FØ n-°p-∂p.NIOS s‚ sh_vapJm-¥n-

cap≈ "ap‡ -hn-Zym-hm-W n' kº¿° ¢m p-Iƒkzbw]T\wkma-{Kn-Isf

]cn-]q¿Æ-am-°p∂p.Hmtcmhnj-b-Ø n-epwhnZ-Kv[¿amcmbn-́p-≈-h-cp-ambnkwh-

Zn-°m≥CXv\nß ƒ°vA h-k-c-sam-cp-°p-∂p.\nß -fpsStNmZy-ß fpwkwi-

b-ß fpwZpco-I-cn-°m≥tSmƒ {̂ o\º-¿18001802543¬ hnfn-°m-hp-∂-Xm-W v.

IqSmsX 0120̨4626949F∂ \ºdnepwhnfn-°m-hp-∂-XmW v.X¬k-abkwt{]-

j-W -ß -fpsSka-b-hn-h-c]́ nIXmsg-sIm-Sp-Ø n-cn-°p-∂p.]e-Im-c-W -ß -fm¬

X¬k-ab kwt{]-jW w D]-tbm-K-s∏-Sp-Ø m≥ \nß ƒ°vPCP D]-tbm-Kn-

°m≥ Ign-bm-sX-h-∂m¬ A Xns‚ sdt°mU nß vho≠ pw tIƒ°m-hp-∂-Xm-

W v.IqSmsX \nß -fpsS B h-iy-Ø n-\-\p-k-cn®vCXv̀mhn-bn¬ {ihn°m-hp-

∂-Xm-W v.

{]t£ -]W am[yaw {]t£ ]W kabw

ap‡ -hnZymhmW n i\n&Rmb¿ ]p\:kwt{]-£ W w

2.00 PM - 5.00 PM 8.00 A.M to 1.00 P.M
Xn¶ƒ apX¬ sh≈ nhsc & 5.00 P.M to 8.00 P.M
10.30 A.M to 12.30 P.M
s]mXp-A -h[nZnh-k-ß -fn¬

Xn¶ƒ apX¬ sh≈ nhsc

10.30 A.M to 1.30 P.M

Kym≥hmW n(F-̂v.-Fw) F√msh≈ n,i\n& ]p\:kwt{]-£ W w

Rmb¿Znh-k-ß -fn¬ sh≈ n,i\n&Rmb¿

8.30 A.M to 9.00 A.M 4.30 P.M to 5.00 P.M

IqSmsX Zqc-Z¿i-\nepw Kym≥ Z¿i-\nepw Cu]cn-]m-Sn-Iƒ Xmsg-sIm-Sp-Ø n-cn-°p∂

ka-b-ß fn¬ ImW m-hp-∂-Xm-W v.

Un.Un1 F√msh≈ n-bm-gvNbpw 5.02 AM - 5.25 AM

Kym≥Z¿i≥ F√mZnh-khpw 6.30 PM - & 7.00 PM

\n-ß ƒ-°v-F√m-hn-[ B iw-kIfpw-t\cp-∂p-.

A °m-Zan-Iv-hn-̀m-Kw-

\m-jW ¬-C≥-kv-‰n-‰yq-́v-Hm̂ v-Hm∏¨-kv-Iq-fnw-Kv-
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KW nXw

Mathematics

(211)

Syq́¿am¿°vkvA ssk≥sa‚v
Tutor Marked Assignment

am¿°v:20

Max. Marks: 20

\n¿t±-i-ß ƒ (i) F√mtNmZy-ß ƒ°pwDØ cwFgp-X-W w.HmtcmtNmZy-Ø n-s‚bpwam¿°v,A XmXv
tNmZy-Ø n\pt\sc\¬In-bn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) t]cv,F≥tdmƒsa‚v\º¿,]Tn-°p∂ ÿ m]-\-Ø ns‚ t]cv,hnjbw F∂nh

hy‡ -ambntcJ-s∏-Sp-Ø n-bn-cn-°-W w.HmtcmtNmZy-Ø n-\p-ap≈ \n¿t±-i-ß fpw

kqN-\-Ifpwhmbn®va\- n-em°nDØ -c-sa-gp-Xp-I.

Write your name, enrolment number,AI name and subject on the top of the first page of the

answer sheet.

1 XmsgsImSp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwH∂n-\p-am{XwDØ cwFgp-Xn-bm¬aXn. 2

Answer any one of the following questions.

a) HcpD]-\ym-k-a-’-c-Ø ns‚ kwL m-S-I¿a’-c-Ø n¬ ]s¶-SpØ vhnP-bn-°p∂ Hmtcm

hy‡ n°pw100cq]bpw ]s¶-Sp-sØ -¶nepw hnP-bn-°mØ Hmtcmhy‡ n°pw 25 cq]bpw

kΩm-\-ambnsImSp-°m≥Xocp-am-\n-®p.kΩm-\-ambnhnX-cW wsNbvX B sI XpI3000.

a’-c-Ø n¬ 63t]¿]s¶-Sp-Ø p-sh-¶n¬ F{X t]¿hnP-bn®p? (]mTw5ImW p-I)

The organisers of an essay competition decide that winner in the competition gets a prize of Rs.100 and
a participant who does not win get a prize of Rs. 25. The total prize money distributed is Rs. 3000. Find

the number of winners, if the total number of participant is 63. (See lesson 5)

b) Hcp]co-£ -W -im-e-bn¬aW n-°q-dn¬ 2.5%{]Imcw_mIvSo-cn-b-I-fpsSFÆwh¿≤n-°p-∂p.

XpS-°-Ø n¬ 5,06,000_mIvSo-cn-b-IƒDs≠-¶n¬c≠paW n-°q-dn\ptijwB ]co-£ -W -im-

e-bn¬F{X _mIvSo-cn-b-IƒD≠m-bn-cn°pw? (]mTw8ImW p-I)

In a laboratory, the count of bacteria in a certain experiment was increasing at the rate of 2.5% per hour.
Find the number of bacteria at the end of 2 hours if the count was initially 5,06,000.

(See lesson 8)

c) Nn{X-Ø n¬ ABCDE Hcpka-]-© -̀pPamIp∂pa, bpw b bpw c bpw XΩn-ep≈ _‘ w

Fgp-Xp-I. (]mTw13ImW p-I)

In figureABCDE is a regular pentagon. Find the relation between a, b and c. (See lesson 13)

A
B

C

D

E

a
b

c
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d) XmsgX∂n-cn-°p∂ tcJobka-hm-Iy-tPm-Sn°vFÆ-a‰\n¿≤m-cW aqey-ß ƒDs≠-¶n¬ a

bv°pwbbv°pwA \p-tbm-Py-ambhne-IƒIs≠-Ø p-I. (]mTw5ImW p-I)

For which values of a and b does the following pair of linear equations have infinite number of solutions?

(See lesson 5)

2x+3y=7

(a-b)x + (a+b)y = 3a+b - 2

2. XmsgX∂n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepwH∂n\pam{XwDØ cwFgp-Xn-bm¬aXn 2

Answer any one of the following questions.

a) Nn{X-Ø n¬ PA, QB, RC, SD Ch Hm-tcm∂pw tcJ  \vew_-ambnhc-®n-cn-°p-∂p.

AB = 6 sk.-ao,CD = 12 sk.-ao,SP = 36 sk.-aoB sW -¶n¬ PQ, QR, RS, PS F∂nh

ImW pI (]mTw12ImW p-I)

In given figure PA, QB, RC and SD all are pendicular to a line L. ItAB=6cm, BC=9cm, CD=12 cm and

SP=36cm then find P8, QR, RS and PS. (See lesson 12)

b) \nc-∏mbXd-bn¬ HcpZW vUpwHcpShdpwew_-ambnÿ nXnsNøp-∂p.ZW vU ns‚\ofw6

ao‰dpwA Xp-≠m-°p∂ \ng-ens‚\ofw4ao‰dpwB Ip-∂p.A tX-k-abwSh-dns‚\ng-ens‚

\ofw28ao‰-sd-¶n¬ A Xns‚DbcwF{X-sb∂vIW -°m-°p-I. (]mTw23ImW p-I)

Avertical pole of length 6m casts 4m long shadow on the ground.At the same time a tower casts 28m

long shadow on the ground. Find the height of the tower. (See lesson 23)

c) Xmsg]d-bp∂ tcJ-Iƒ Hcp-{Km-̂n¬ hc®vA h-bp-≠m-°p∂ {XntIm-W -Ø ns‚io¿j-I-

ß ƒFgp-Xp-I. (]mTw19ImW pI)

y=x, 3y=x and x+y=8

Determine graphically, the vertices of the triangle formed by the lines y=x, 3y=x and x+y=8

(See lesson 19)

d) 220cq]hnetcJ-s∏-Sp-Ø n-bn-́p≈ Hcpj¿́n\v20%IngnhvA \p-h-Zn-°p-∂p.j¿́n\vèn-

°p∂ hne-°n-gnhpwA Xns‚hnev]\hnebpwIW -°m-°p-I, (]mTw 8ImW pI)

The list price of a shirt is 220,Adiscount of 20% is announced on sales. What is the amount of discount

on it and its sale price? (See lesson 8)

l l

P

Q

R
S

A B C D
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3 XmsgsImSp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwH∂n-\p-am{XwDØ cwFgp-Xp-I. 2

Answer any one of the following questions.

a) Hcp£ oc-I¿j-I≥Xs‚c≠vFcp-a-Isf,H∂n\v20000/-̨cq]{]Imcwhn‰p.B ZysØ Fcp-

a-bn¬ \n∂v5%em̀hpwc≠ m-asØ Fcp-a-bn¬ \n∂v10%\jvShpwh∂p-sh-¶n¬hne-]v\-

bn¬em̀tam\jvStamF{X-sb∂vIW -°m-°p-I.

(]mTw 8ImW pI)

A milkman sold two of his buffaloes for Rs. 20,000 each. On one he made a gain of 5% and on the other

a loss of 10% find his over all gain or loss. (See lesson 8)

b) XmsgsImSp-Ø n-cn°pw{]ImcwHcpSmIvkn-°qen\n›-bn-®n-cn-°p∂p:̨

B ZysØ 1Intem-ao-‰-dn\v20cq]bpw]n∂oSvA [nIwhcp∂ HmtcmIntem-ao-‰-dn\v6cq]bpw

B bn\nP-s∏-Sp-Ø n-bn-cn-°p-∂p.k©-cn®ZqchpwB sIIqenbpwNc-ß -fmbnFSpØ vtcJo-

b-k-a-hmIywcq]o-I-cn®v{Km̂ vhc-bv°p-I. (]mTw5&19ChImW pI)

The taxi fare in a city is as follows:

For the first kilometre, the fare is Rs. 20 and for the subsequent distance is Rs.6 per kilometre. Write a
linear equation for the condition by using distance covered and total fare as variable and draw its graph.

(See lesson 5 & 19)

c) Nn{X-Ø n¬ QT PR, TQR = 50o, SPR=40oF¶n¬ a, b,cChHm-tcm-∂n-t‚bpwhne

\n¿W -bn-°p-I. (]mTw10ImW pI)

In fig.: QT PR, TQR=50o and SPR=40o, find the value of a, b and c. (See lesson 10)

d) ka-]m¿iz-{Xn-tImW w PQR ¬ PQ=PR=17 sk.aoQR=16 sk.aoCXns‚ tI{µ-_nµpG

F¶n¬ PGIW -°m-°p-I. (]mTw14ImW pI)

In a isoscles triangle PQR, PQ=PR=17 cm and QR=16 cm. If G is centroid of triangle, find PG.

(See lesson 14)

4 G sX-¶nepwHcptNmZy-Ø n\pam{XwDØ cwFgp-Xp-I. 4

Answer any one of the following questions.

a) F¶n¬ hneImW pI (]mTw 2ImW pI)

P

Q
S

a
R

b

c

40°

50°

T
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If , then find the value of . (See lesson 2)

b) IaeHcp_nkn\- n¬8000cq]\nt£ -]n-®p.5%\nc-°n¬hm¿jnIIq́p]eniIW -°m-

°p-∂p-sh-¶n¬

(i) c≠ ph¿j-Ø n\ptijwIa-e-bpsSt]cn-ep≈ \nt£ ]wF{X ?

(ii) aq∂m-asØ h¿jsØ ]eniF{X-sb∂vIW -°m-°p-I. (]mTw9ImW pI)

Kamla invested Rs. 8000 in a business. She would be paid interest at 5% per annum compounded

annualy.Find (See lesson 9)

(i) The amount credited against her name at the end of the second year.

(ii) The interest for the third year.

c) ]mZw8sk.aoew_w 6 sk.aohcp∂ Hcpá-{Xn-tImW whc-®v,A Xns‚ A ¥¿hrØ w

\n¿an-°p-I.CuhrØ -Ø ns‚B cwF{X-sb∂vIW -°m-°p-I. (]mTw18ImW p-I)

Construct a right angle triangle whose sides which makes the right angle are 8cm and 6cm respectively.

Find the radius of incircle after constructing incircle of this triangle. (See lesson 18)

d) XmsgsImSp-Ø n-cn-°p∂ B hrØ n]́ nIbpsSam[yw50B Ip-∂p.20-̨40,60-̨80F∂o¢m p-

I-fnseB hr-Ø n-IƒI≠p-]n-Sn-°p-I.

The mean of the following frequency table is 50. But the frequencies of classes 20-40 and 60-80 are

missing.Find themissing frequencies. (See lesson 24)

¢m p-IƒClasses 0-20 20-40 40-60 60-80 80-100 B sITotal

B hr-Ø n-Iƒ frequencies 17 ? 32 ? 19 120

5 G sX-¶nepwHcptNmZy-Ø n\pam{XwDØ cwFgp-Xp-I. 4

Answer any one of the following questions.

a) Hcp{XntIm-W -Ø ns‚HcptImW ns‚ka-̀mPnA Xns‚FXn¿h-isØ ka-am-bn-̀m-Kn-°p-

∂p-sh-¶n¬ A XvHcpka-]m¿iz-{Xn-tIm-W -am-sW ∂vsXfn-bn-°p-I. (]mTw14ImW p-I)

If the bisector of an angle of a triangle bisects the opposite side, prove that the triangle is isocceles.

(See lesson 14)

b) HcptlmÃ-enseHcpamksØ ôkns‚ Hcp̀mKwÿ nc-am-W v._m°nsa n¬ \n∂pw

£̀ W wIgn-°p∂ Znh-k-ß ƒ°-\p-kr-X-ambnamdn-sIm-≠ n-cn-°p-∂p.HcphnZym¿∞ n20Znh-

k-tØ °v1000cq]bpwas‰mcphnZym¿∞ n26Znh-k-tØ °v1180cq]bpwtlmÃ¬ ôkmbn

\¬Ip-∂p-sh-¶n¬ ÿ nc-s∏-Sp-Ø nb ôkpwHcpZnh-k-tØ -°p≈ £̀ -W -sN-ehpwF{X-

sb∂vtcJobka-hm-Iy-Ø n-eqsSIs≠-Ø p-I. (]mTw5ImW p-I)

Form the pair of linear equations in the following problem and find their solution by algebraic method:

A part of monthly hostel charges is fixed and the remaining depends on the number of days one has taken
food in the mess. When a student takes food for 20 days, she has to pay Rs.1000 as hostel charges
wheres another student who takes food for 26 days, Pay Rs.1180 as hostel charges. Find the fixed

charges and the cost of food per day. (See lesson 5)

c) Hcp h̀\ \n¿am-Xmhv̂ vfm‰ns‚ hnev]\ hne,DSs\ ]W -ambn\¬Ip-∂p-sh-¶n¬

3000000/-̨cq]bpwXhW hyh-ÿ -sb-¶n¬ XpS-°-Ø n¬1031600cq]-bpw,_m°nXpI]mZ-
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hm¿jn-I-ambnaq∂pXpey-K-Up-°-fmbnA S-®p-Xo¿°p-IbpwthW w.hm¿jn-I-ambn10%Iq́p-

]-eniIW -°m-°p-∂p-sh-¶n¬Hmtcm]mZ-h¿j-Ø nepwA S-t°≠ XpIbpwB sI]en-ibpw

IW -°m-°p-I. (]mTw9ImW p-I)

A builder announces sale of flats each for Rs. 3000000 cash or Rs. 1031600 cash down payment and
three equal quartery instalments. If the rate of interest charged is 10% per annum compounded quarterly,

compute the value of each instalment under the instalment scheme.Also find the total interest.

(See lesson 9)

d) aao‰¿bao‰¿Db-c-ap≈ c≠ pXqW p-Iƒ pao‰¿A I-e-Ø n¬ ÿ nXnsNøp-∂p.Hmtcm

XqW ns‚bpwio¿j-Ø n¬\n∂pwFXn¿XqW ns‚]mZ-Ø n-te°vhc-°p∂ tcJ-IƒJW vUn-

°p∂ _nµp
ba

ab


Db-c-Ø n-em-sW ∂vsXfn-bn-°p-I.

Two poles of height a metres and b metres respectively are p metres apart. Prove that the height of the

point of intersection of the lines joining the top of each pole to the foot of the opposite pole is given by

metres.

6 XmsgsImSp-Ø n-cn-°p∂hbn¬G sX-¶nepwH∂n-s\-°p-dn®v500hm°n¬Ipd-bmsX t{]mPIvSv

FgpXnXøm-dm-°p-I. 6

Make any project out of the four given blow in 500 words.

a) G sX-¶nepw HcpIPLam®ns‚hnh-c-ß ƒ tiJ-cn®vc≠ pSoap-I-fp-tSbpw{]I-S\w Xmsg

]dbpw{]Imcwhni-I-e\wsNøp-I. (]mTw24ImW p-I)

Collect the data of any IPL Match and analyse the information of both teams in undermentioned con-

texts: (See lesson 24)

i) HcpHm-h-dnseicm-icndÆp-Iƒ

Run-rate per over

ii) _uf¿am¿FSpØ hn°-‰p-I-fpsSFÆhpw{]XnHm-h¿hńp-sIm-SpØ dÆp-I-fpsS

FÆhpw

Run scored in 5th, 10th, 15th and 20th over

iii) _uf¿am¿FSpØ hn°-‰p-I-fpsSFÆhpw{]XnHm-h¿hńp-sIm-SpØ dÆp-I-fpsS

FÆ-hpw.

Wicket taken and runs per over given by bowlers

XmsgX∂n-cn°pw{]Imcwapgp-h≥hnh-c-ß fpwhni-Zo-I-cn-°p-I.

Represent the whole information in detail in–

iv) ]́ nIXøm-dm-°pI

Written form using tables

v) Nn{X-cq-]-Ø n¬ _̨m¿{Km̂ v
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Pictorial forms- Bar Charts

vi) _ufn-ß n-s‚bpw_m‰n-ß n-s‚bpwXmc-X-ay-]-T\w ]̨́ n-I-cq-]-Ø n¬

Tabular form- Comparisons on bowling pattern, batting pattern etc.

b) HcpIS-emkv\ofw,hoXn,hnI¿W wCh-bv°-\p-kr-X-ambnH∂n\p]ndtIas‰m-∂mbnaS-

°n-bm¬ Ińp∂ Hmtcmcq]-Ø n-s‚bpw t]sc-gp-Xp-I.CXn\pth≠ nXmsgsImSp-Ø n-cn-

°p∂ kqN-\-Iƒ]men-°p-I. (]mTw13,15ImW p-I)

By folding the paper along length, breadth and diagonal one after the other and naming the figures so

formed.

For this, follow the following steps:

i) G sX-¶nepwA f-hn-ep≈ Hcpka-N-Xp-cm-Ir-Xn-bn-ep≈ IS-emkvFSp-°p-I.

Take a square paper of any dimension

ii) c≠vka-̀m-K-ß ƒèn-bv°-Ø -°-hn[w\of-Ø n-\-\p-kr-X-ambn(a-[y-_n-µp-°-fn¬\n∂pw)

aS-°p-I.aS-°p-̀mKwIpØ p-°-fm¬tcJ-s∏-Sp-Ø p-I.

Fold it lengthwise in two equal parts (from mid-points) to get a crease.

iii) apI-fn¬]d-™ n-cn-°p∂ {]hrØ nhoXn-bv°-\p-kr-X-ambnB h¿Ø n-°p-I.

Repeat it breadthwise also, after the first fold to get another crease.

iv) CtX {]hrØ nhnI¿W -Ø n-\-\p-kr-X-ambpwB h¿Ø n-°p-I.

Now fold the double folded paper along a diagonal and get a crease.

v) IS-emkvXpd-°p-I.

Unfold the paper

hnI¿W -Ø n-\-\p-kr-X-ambn
Diagonalwise

\o-f-Ø n-\-\p-kr-X-am-bn
Lengthwise

hnI¿W -Ø n-\-\p-kr-X-ambn
Diagonalwise

hoXn-bv°-\p-kr-X-am-bn
Breadthwise
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XmsgX∂n-cn-°p∂ hnh-c-ß ƒDƒs∏-SpØ n]́ nIXøm-dm-°p-I.

Make a table showing squares, triangles, right triangles and the number of line segments from the opened

sheet, where creases are formed.

Hc-‰-Ø p-\n∂pw á-{Xn-tIm-W -ß fp ka-N-Xpc Zo¿L ew_ at‰-s X ¶n-epw

at‰A ‰w-hsc sSFÆ w ß fpsS NXp-c-ß ß fpsS ka-X-em-Ir-XnI

FÆ w -fpsS FÆ w FÆ w fpsS FÆ w

Number of line Number of Number of Number of Number of Any other plane
segments running right squares rectangles Trapeziums figure and
from one end to other triangles their number

CtX {]hrØ nHcphenbka-N-Xp-c-I-S-em-kn¬c≠ pXhW aS°nB h¿Ø n-°p-I.apI-

fn¬ sImSp-Ø n-cn-°p∂ B Ir-Xn-Iƒ°vA Xo-X-ambnat‰-sX-¶nepwB Ir-Xn-Iƒèn-bv°p-

∂pt≠ m?

Repeat thisactivity forabiggersquare folding it twice lengthwiseandbreadthwiseand twicediagonalwise.

Unfold the paper and make a table of above type for that. Can you find more plane figures (other than

those in the above table? Is the types of figures and their Frequency changing.

c) HcpIS-bp-S-a-bp-tSbpw,I¿j-I-t‚bpw2013 2̨014kmº-Ø nIh¿jsØ (1.04.2013-̨31.03.2014)

hym]mcwXmsgX∂n-cn-°p∂ kqN-\-I-fpsSA Sn-ÿ m-\-Ø n¬\nco-£ n-°pI

(]mTw8,9ImW p-I)

Observe the business of a shopkeeper and a farmer in the financial year 2013-14 (from 1stApril 2013

to 31st March 2014) in respect to undermentioned contexts: (See lesson 8 & 9)
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i) IS-bn¬ èn-bv°m-hp∂ 10C\wkm[-\-ß -fpw,Irjn-°m-cs‚10C\whnf-hp-I-fpw.

10Available items is shop and crops ropped by the farmer

ii) IS-bp-S-a-bpsSB sI sNehpw(hmSIkm[-\-ß -fpsShne,KXm-Km-Xw,sshZyp-Xn,

\nIp-Xn)Irjn-°m-cs‚ B sI sNehpw(hn-Ø ns‚ hne,hfw,shf-fw,KXm-K-Xw,

]W n-°q-en)

Total expenditure of shopkeeper (Rent, C.P. of articles, Transport, electricity, phone, Tax) and

total expenditure of farmer (cost of seed, Fertilizer, water, labour and transport)

iii) B sI\nt£ -]hpwB sIhchpw

Total investment and total income

iv) em̀-i-X-am\wA s√-¶n¬ \jvS-i-X-am\w?G Xvhym]m-c-amW vIqSp-X¬ em̀-I-c-sa∂v

ImcW klnXwhni-I-e\wsNøp-I.

Profit% or loss%

Analyse, which business is profitable and enlist the reasons?

d) ......................................................

km[\ IS scm° XpS°Ø n¬ amk Hmtcm ]eni

Ø ns‚ hne A S-t°≠ KUp-° KUp-hn\pw-

t]cv XpI fpsS FÆ w A S-t°≠

XpI

Name of Shop Cash Price Down payment No. of monthly Amount of each Rate of

article instalments instalment interest

Htc H∂vFirst -------------- ------- ------- -------

tamU¬ c≠ vSecond -------------- ------- ------- -------

sSen-hn-j≥ aq∂vThrid -------------- ------- ------- -------

\mevFour -------------- ------- ------- -------

\nß -fpsSkao-]-ap≈ ISkµ¿in®vHtc]≤-Xn-bn-eqsSA hnsShnev°p∂ \mevC\-ß -

fpsShne-hn-h-c-∏-́nIapI-fn¬ sImSp-Ø n-cn°pw{]ImcwIW -°m-°p-I.]eni \nc-°p-Iƒ

Xmc-XaywsNbvXvanI-®-tX-sX∂vIs≠-Ø p-I. (]mTw8,9ImW p-I)

Visit to your nearby shop and collect the data regarding purchasing any four items under plan scheme.
Make a table of purchase scheme under cash Price and instalments regarding any special item.

(See lesson 8 & 9)

CXp-t]msea‰vaq∂n-\-ß -fpsS]́ nIXøm-dm°n]eni \nc°vXmc-XaywsNøp-I.

Compare the rates of interest and find which offer is best.
Make similar table for other three items and compare the rate of interest.
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imkv{Xhpwkmt¶-XnI hnZybpw
Science and Technology

(212)
Syq́¿am¿° UvA ssk≥sa‚v

Tutor Marked Assignment

B sI-am¿°v:20
Max. Marks: 20

\n¿t±-i-ß ƒ:(i) F√mtNmZy-ß fpw\n¿∫-‘-am-W v.Hmtcm-∂n-s‚bpwaqeywA Xm-Xn-SØ vtcJ-s∏-

Sp-Ø n-bn-́p≠ v.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsSt]cv,{Ia-\-º¿,]T-\-tI-{µ-Ø ns‚t]cv,hnj-bw,F∂nhH∂m-asØ

]pd-Ø ns‚apI-fn¬ Xs∂ Fgp-Xp-I.

Write your name, enrolment number,AI name and subject on the top of the first page of the
answer sheet.

1-Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ H∂n-s\-°p-dn®v40̨60hm°p-I-fn¬hni-Zo-I-cn-°pI.

Answer any one of the following questions in about 40-60 words:

(a)HcpXcw-K-Ø ns‚k© m-c-]-Y-amW vXmsg-sIm-Sp-Ø n-cn-°p-∂-Xv.Abn¬\n∂vObn¬FØ m≥

A Xv2 sk°‚vka-b-sa-Sp-Ø p.F¶n¬ A Xns‚ (i)B hrØ n(ii)Xcw-K-ssZ¿L yw

F∂nhI≠ p-]n-Sn-°pI (A ≤ymbw18{i≤n°pI)

The adjoining diagram shows a wave travelling in space. The wave reaches from O toAin 2s. find (i)
frequency (ii) wavelength of the wave. (See lesson 18)

(b)kp\nX A ‘-bmbHcpIṕn-bm-W v.HcpA XnYnXs‚A Ω-bp-ambnkwkm-cn-°p-∂XvA hƒ

tI ṕ.i_vZ-Ø n¬IqSnam{XwA hƒ°vA XvHcp]pcp-j-\m-sW ∂pwA XvXs‚A Ωm-h-\m-

sW ∂pwa\- n-em-bn.CsX-ß s\km[n-®p.

(A ≤ymbw18{i≤n°pI)

Sunita is visually impaired. She hears a quests conversing withher mother. Justby hearing the voice of the
guest she recognised sound which revealed to her that (i) it was a male voice, and (ii) the person was her
materialuncle. (See lesson 18)
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(c)A _vZp-≈°vISpØ ]\n-bm-W v.HcpXm]-am-]n-\n-bp-]-tbm-Kn®vA hs‚A Ω A h\v39°C

]\n-bmW vF∂pI≠ p-]n-Sn-®p.tUmIvS-dpsS A SpØ vt]mIp-∂-Xn-\p-apºvCuXm]-\ne

m̂c≥lo‰vam]-I-Ø n¬ F{X-sb∂vI≠ p-]n-Sn-°m≥ A h¿B {K-ln-®p.\nß ƒ°vA Xv

sNøm≥klm-bn-°m-tam. (A ≤ymbw14{i≤n°pI)

Abolul is down with high fever. Her mother measures his body temperature to e 39°C using a celcius
thermometer. Before leaving for the doctor’s clinic she wants to know the valve on fahrenheit scale. Help
her to convert the temperature on fahrenheit scale. (See lesson 14)

(d)]qPywUn{Kn-bn-ep≈ sh≈ tam]qPywU n{Kn-bnsea™ p-I-́tbm\nß -fpsSioX-f-]m-\obw

XW p-∏n-°m≥D]-tbm-Kn-°p-I.F¥p-sIm≠v? (A ≤ymbw14{i≤n°pI)

What will you prefer to cool your soft drink: ice at 0 °C or water at 0 °C? Why? (See lesson 14)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwH∂ns\Ipdn®v40̨60hm°p-I-fn¬hnh-cn-°pI? 2

Answer any one of the following questions in about 40-60 words:

(a) tamƒ\nbawF∂m-se¥v?45{KmwPe-Ø n¬ A S-ß n-bn-cn-°p∂ PeX∑m-{X-I-fpsSFÆw

F{X? (A ≤ymbw3{i≤n°pI)

What is mole concept? Calculate the number of molecules in 45g of water. (See lesson 3)

(b) an° kwbp-‡ -ß fpwc≠ vaqe-I-ß -fpsSan{i-W -am-W v.ChsbZznam\kwbp-‡ -ß ƒF∂p-

]-d-bp-∂p.Ch-bpsScmk-\mawFgp-Xm≥Hcpam¿§-ap-≠v.A Xp-]-tbm-Kn®vXmsg-]-d-bp-∂-h-

bn¬\n¿Ωn-°-s∏-Sp∂ kwbp-‡ -ß -fpsSt]cvFgp-Xp-I.

Most of the simple compounds are made up of elements. Such compounds are known as binary com-

pounds. There is a method to write the formula of binary compounds. By using the method, Write down

the formula of the compounds formed by these ions.

(1) Mg2+ and PO
4

3–

(2) Al3+ and NO
3

–

(c) Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬HmIvko-I-c-W hpw\ntcm-Ivko-I-c-W hpwkẁ -hn-®XvG Xn-\mW v.

(A ≤ymbw4{i≤n°pI)

Identify the substances which are oxidised and the subtance that are reduced in the following reactions.

(See lesson 4)

(1) Zn(O) + 2 AgNO
3

(aq) Zn (NO
3
)

2
(aq) + 2 Ag(O)

(2) MnO
2
(O) + 4H Cl (aq) MnCl

2
(aq) + Cl

2
(q) + 2H

2
Ol)

(d) teml-ß fpwA tem-l-ß fpwXΩn-ep≈ \mevhyXym-k-ß ƒFgp-XpI.

(A ≤ymbw27{i≤n°pI)

Write down any four differences between metals and nonmetab. (See lesson 27)
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3. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwH∂ns\Ipdn®v40̨60hm°p-I-fn¬hnh-cn-°p-I.2

Answer any one of the following questions in about 40-60 words:

(a) a\p-jy-i-co-c-Ø n¬izk-\-Ø n\vizmk-tIm-ihpwcmk-kw-bp-‡ -ß ƒ°v{KŸ n-I-fpw,\n¿Ωm-

W -Ø n\vIcfpw,hnX-c-W -Ø n\vc‡ hpwD]-tbm-Kn-°p-∂p.tImi-ß -fnseCXns‚]¶m-fn-

IƒB scms° F∂vhni-Zo-I-cn-°p-I.

(A ≤ymbw21{i≤n°pI)(1/2 x4=2)

Inthehumanbeing, lungsareforrespiration,glandsforsecretion, liver forsynthesisandbloodfordistribution
of substances. Name the counterparts in the cell which are the cell organelles responsible for the same
functions. (See lesson 21) (1/2 x4=2)

(b) DDTD]-tbm-Kn®vCt∏mƒsImXp-Ip-Isf\in-∏n-°p-∂XvFfp-∏-a-√.A h{]Xn-tcm-[-tijn

B ¿÷n-®n-cn-°p-∂p.CuhyXym-k-Ø n\vB kv]-Z-ambImcy-sa-¥∂pw A XvI≠ p-]n-Sn®

imkv{X-⁄ s\Ipdn®pwhni-Zo-I-cn-°p-I. (A ≤ymbw20{i≤n°pI)(1+1)

Once mosquitoes could be killed by DDT but not any longer because mosquitoes have becomes resistant
to DDT and a new species evolved. Name the evolutionary mechanism responsible for this change and
the Scientist who suggested this mechanism. (See lesson 20) (1+1)

(c) lcnX hnπ-h-Ø ns‚KpW -̂-e-ß ƒXpS¿∂vA \p-̀-hn-°m≥Nne{it≤-b-amb\S-]-Sn-Iƒ

B h-iy-am-W v.A h-bn¬{][m-\-am-W v.

(i) ssPh-Ir-jn-bpsSt{]m’m-l-\w.

(ii)]mc-ºcyPe-kvt{Xm-X- p-I-fpsS]p\-cp-÷o-h\w

CXvI¿j-IscFß s\klm-bn-°p∂pF∂vhni-Zo-I-cn-°p-I.

States how each of the above would benefit the farmers. (1+1)

(d) ssPh-hy-h-ÿ -bnseHcpB lm-c-irw-JeFß ns\Du¿÷hpwt]mj-I-ß fpwhnX-cW w

sNøp∂pF∂vhni-Zo-I-cn-°p-I. (A ≤ymbw29{i≤n°pI)

Construct a food chain explaining flow of energy and nutrients in an ecosystem. (1+1) (See lesson 29)

4 Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ H∂ns\Ipdn®v100̨150hm°p-I-fn¬hni-Zo-I-cn-°p-I. 4

Answer any one out of the following four questions in about 100-150 words:

(a)HcphkvXp-hns‚ m̀cw25{KmwB W v.CXn¬ q̀anF{X \yq́̈ _ew{]tbm-Kn-°p∂p.̀qan-

tb-°mƒCćǹ mchpw]IpXnB c-hp-ap≈ Hcp{Kl-Ø n-te°vCuhkvXp-hns\sIm≠ p-

t]m-bm¬ A hnsS A Xns‚ m̀chpw Xq°hpwF{X?(̀qKp-cp-Xzm-I¿jW w 10 m s–2F∂v

IcpXmw.) (A ≤ymbw11{i≤n°pI)

Mass of a body is 25 kg. What is its weight in newton on earth? The body is carried to a planet whose
mass is two times the mass of earth and radius is half that of earth. What will be the mass and weight of
the body on the planet? (Take the value of a g on earth as 10 m s–2) (See lesson 11)
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(b) Hcpcmk-k-ao-I-c-W -Ø n¬ ùXn-I-ambkml-N-cy-ß ƒFß ns\B bn-cn-°pw.

(A ≤ymbw4{i≤n°pI)

Write down balanced chemical equations with physical state and necessary conditions if any:

(See lesson 4)

(1)t̂ mkv̂-dkvt¢mdn≥hmX-I-hp-ambntN¿∂vt̂ mkv̂-dkvs]‚mt¢mssdUvD≠m-°p-∂p.

Phosphorous burns in chlorine gas to form phosphorous pentachloride.

(2)\n°epwtkmUnbwsslt{Um-IvsskUpwtN¿∂v\n°¬sslt{Um-Ivssk-Up-≠m-Ip-∂p.

Nickel nitate is treated with NaOH to form nickel hydroxide.

(c) arK-ß ƒ°vaq∂p-Xcwt]io-I-e-IƒD≠v.H∂vssIIm-ep-I-fn¬,H∂vDZ-c-Ø ns‚hi-ß -fn¬,

as‰m∂vlrZ-b-Ø n¬,Ch-bpsSt]cv,kz̀m-hw,A h-bpsSkm∂n≤ywshfn-hm-°p∂ kz̀mh

khn-ti-jX F∂nhhni-Zo-I-cn-°pI.

Animals have three types of muscle tissue, striated found in arms etc. unstriated found in lining of stomach
and cardiac found it the heart. Mention the characteristics of each which justify their presence in the
locations mentioned above. 1x4

(d)c≠pIm¥nI{[qh-ß ƒ°n-S-bn¬ ABF∂ Iºnhen-®p-sI-́n-bn-cn-°p-∂p.A Xn¬HcpsshZyp-

X-sk√pwkzn®pwL Sn-∏n-®n-́p-≠v.kzn®vA S-bv°p-tºmƒkẁ -hn-°p-∂-sX-¥m-W v.G Xv\nb-

a-amW vChnsSD]-tbm-Kn-®n-cn-°p-∂-Xv.(1)sshZypX sk√ns‚{[qh-ß ƒ]c-kv]cwam‰n-

bm¬F¥p-kw-̀-hn°pw(2)Im¥n-I-{[q-h-ß ƒ]c-kv]cwam‰n-bm¬F¥mW vkẁ -hn-°p-I.

(A ≤ymbw17{i≤n°pI)

A straight wire AB is stretched between the pole pieces of a strong magnet as shown. The wire is
connected to a battery through a key. What will happen when plug is inserted in the key? Name the rule
that you use for the purpose. State the rule. What will happen, when the (i) Terminals of the battery are
reverted (ii) pole pieces of the magnet are reversed? (See lesson 17)

5 Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬G sX-¶nepwH∂n-s\-Ip-dn®v100̨150hm°p-I-fn¬hni-Zo-I-cn-°pI.4

Answer any one out of the following four questions in about 100-150 words:

(a) ùaXm]-\-Ø n\vXmsg-]-d-bp-∂hFß ns\Imc-W -am-Ip-∂p.

How do the following contribute towards global warming?
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(i) Imen-I-fpsStabv°¬ Grazing cattle

(ii)A an-X-amb\KcP\-kwJyOverpopulated cities

(iii) hyh-kmbime-Iƒ Factories

(iv) amen\ywIØ n-°p-∂XvBurning Waste

(b) cmapwiymapwIq́p-Im-cm-W v.A h¿Irjn-°m-cp-am-W v.cmans‚Irjn-bn-S-Ø ns‚ ê-̀q-bn-jvTX

Ipd-™ p-h-cp-∂-Xn¬ A h≥ZpxJn-X-\m-W v.Hcph¿jw]b¿IrjnsNøm≥iymwA hs\

D]-tZ-in-°p-∂p.CXvFß s\ q̀an-bpsS ê-̀q-bn-jvTX Iq́p-∂p.A Xn-\p≈ \mepL -́ß fpw

hni-Zo-I-cn-°p-I. (A ≤ymbw31{i≤n°pI)

Ram and Shyam are friends. They are farmers. Ram was sad because his fields were no longer fertile as
before. Shyam asked him to sow peas on this land for a year to revise the soils fertility. Explain four steps
through which this would be possible within that year (See lesson 31)

(c) (i) aqe-I-ß -fpsSB h¿Ø \]́ nI\nß ƒ]Tn-®n-cn-°pw.aqe-I-ß sfteml-ß ƒ,A tem-

l-ß ƒ,A ¿≤ teml-ß ƒ F∂n-ß s\h¿§o-I-cn-®n-cn-°p-∂p.teml-ß sf\n¿[m-

cW wsNøp-∂-Xn\vD≈ {]h¿Ø \whni-Zo-I-cn-°p-I.You have studied the periodic table

where elements are arranged. Elemants have been divided into three types metals, nonmetals and

metalloids.Outline the processes for the extractionofmetals with low, meadiumand high reactivity.

(ii) sshZypX D]-I-c-W -ß -fn¬ sNºvD]-tbm-Kn-°p-∂XvF¥p-sIm≠ v? is used to make

electrical wire why?

(d)sshZyp-Xn-bpsSA anX {]hm-l-Ø n¬\n∂vc£ -s]-Sp-∂-Xn-\mbnD]-tbm-Kn-®n-cp∂ ]c-º-cm-

KX coXnF¥m-bn-cp-∂p.A Xns‚{]h¿Ø \wF¥m-W v.CXn-\mbnD]-tbm-Kn-°p∂ teml-

°q-́ns‚khn-ti-j-X-IƒF¥m-W v.kao]Ime-L -́-Ø n¬CXn-\mbnD]-tbm-Kn-°p∂ kwhn-

[m\wF¥mW v? (A ≤ymbw17{i≤n°pI)

Name the device which was generally used in olden days to protect the electrical installation from the
risks arising on account of excessive current due to overload or short circuiting. How does it work.
Name two characteristics of the material of the device.Also name a material having these characteristics.
Also name the device which is being generally used these days for the same purpose. (See lesson 17)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-Xn¬ Hcp]mTy-{]-h¿Ø \wsNøpI. 6

Make any one project out of the four given below.

(a)]ehen-∏-Ø n-ep≈ aq∂p-I-√p-IfpwHcpkv{]nwKv{XmkpwHcp-]m{Xwsh≈hpwFSp-°p-I.

HcpNc-Sns‚klm-b-Ø n¬ HcpI√v]m{X-Ø nsePe-Ø n¬ XmgvØ p-I.A Xns‚ Xq°w

{Xmkn¬tcJ-s∏-Sp-Ø n-bn-cn-°p-∂XvF{X-sb∂vIpdn-s®-Sp-°p-I.I√ns‚hmbp-hn-ep≈ m̀chpw

F{X-sb∂vtcJ-s∏-Sp-Ø p-I.sh≈-Ø n¬apß p-tºmƒI√ns‚Xq°wIpd-bp-∂Xv{i≤n-°pI.

a‰pI√p-IƒsIm≠ vCu{]h¿Ø \wXpS-cp-I.Hmtcm{]mh-iyhpwhcp∂ Xq° hyXymkw

t\m°p-I.CXvF√m{]mh-iyhpw H∂p-X-s∂-bmtW m?CXn¬\n∂v\nß ƒF¥mW va\-

 n-em-°n-b-Xv.
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]e-Xcw{Zmh-I-ß ƒD]-tbm-Kn®vCu{]h¿Ø \w]p\-cm-hn-jv°-cn-°p-I,asÆ-Æ,Idn-bp-

∏ns‚]qcn-X-em-b\nF∂nhD]-tbm-Kn-°p-I.Hmtcm{]mhiyhpwπh-X-_ewamdp-∂XvF¥p-

sIm≠v?

Cu{]h¿Ø -\-Ø n¬\n∂vπh-X-_-esØ \nb-{¥n-°p∂ L S-I-ß ƒG sX∂vhni-Zo-I-cn-

°p-I.

Take three stones of different size, a spring balance and a container filled with water. Suspend one stone
from a spring balance with the help of a thread. Note the reading of the spring balance. This is the weight
of this stone in air. Now dip the stone fully in to water kept in the container. Note the reading of the spring
balance again. The decrease in the reading of the spring balance is the buoyant force acting on the stone.

Now repeat the experiment with other two stones of different size. Note the buoyant force in each case.
What do you find? In the buoyant force same or different in each case. What do you infer from this
experiment?

Now repeat this experiment one stone and with three different liquids of different densities.You may take
water, kerosene oil and saturated solution of common salt. What do you find in this case? Why the
buoyant force is different in each case?

On the basis of your observations find the factors on which the magnitude of the buoyant force acting on
a body depends.

(b)]e-X-c-Ø nepwhen-∏-Ø n-ep-ap≈ IpsdIm¥-ß ƒkwL-Sn-∏n-°p-I.Ch-bn-sem∂vHcpI\w

Ipd™ IÆmSn{]X-e-Ø n-\-Sn-bn¬h®ńvA Xn-\p-ap-I-fn¬t\¿Ω-bmbCcp-ºp-s]mSnhnX-

dp-I.IÆm-Sn-bn¬arZp-hmbnX ṕ-tºmƒD≠ m-Ip∂ ]mt‰̈ {i≤n-°p-I.CXns‚Nn{X-sa-Sp-

°p-Itbmhc-bv°p-ItbmsNøp-I.

Cu{]h¿Ø \wa‰p≈ Im¥-ß ƒsIm≠ vXpS-cp-I.

 G Xp-̀m-K-Ø mW vIm¥nI_e-tc-J-IƒIqSp-X-em-bp≈ Xv.

 Ch-sb√mw]c-kv]cwIq́n-ap-́p-∂pthm

 ChbpsSB IrXnF√mIm¥-ß ƒ°pwXpey-am-tW m.

 CØ cwtcJ-Iƒhc-bv°m≥thsdmcpam¿§w]dbm-tam.

Take some magnets of different shapes, such as bar magnet, house shoe magnet and dish magnet. Keep
one magnet, say a bar magnet under a thin glass sheet. Sprinkle some iron fillings on the glass sheet while
tapping it continuously. Observe the pattern in which iron fillings align themselves. Do you find a definite
pattern in the alignment of iron fillings.Take a photograph of this pattern with your mobile phone or draw
about 10 – 12 lines show the pattern on a sheet of paper.

Now repeat this experiment by using a horse shoe magnet and disc magnet the following question.

 In which region are the magnetic lines crowded?

 Do lines of forces intersect each other at any point?

 Are the lines of force different on similar for all shapes of magnets?
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 Suggest same other method for observing/drawing the lines of forces.

(c) ùa-Xm-]-\hpwImem-hÿ mhyXn-bm-\hpw]Tn-°p-I.G sX-¶nepw]gb]{X-am-kn-I-I-fn¬

\n∂vCXns\Ipdn-®p≈ hm¿Ø m-i-I-e-ß ƒtiJ-cn®vIpdn-∏p-IƒXøm-dm-°p-I.

To understand global warming and climate change. Select from old magazines and newspapers those
which have news or write-ups on global warming and climate change.

Ch-sb√mwHcpNm¿́p-t]-∏-dntemXq°ntemH ń®vhbv°p-I.\nß ƒ°vA h-bp-]-tbm-Kn®v]h¿

t]mbn‚vss…Up-IƒD≠m-°mw.A hsbXmsg-]-d-bp-∂-Xp-t]mseh¿§o-I-cn-°p-I.

Collect all relevant cuttings and make a scrap book or collage or paste on chart paper.You may even scan them
and make slides, or use them to make a PowerPoint presentation. The contents may be categorized and
present as the following sections.

 F¥mW v̀ua-Xm-]-\-Ø n-s‚bpwImem-hÿ mhyXn-bm-\-Ø n-s‚bpwImc-W w.What is global

warning and climate change?

 CXn\pklm-bn-°p∂ L S-I-ß ƒG h?Factors that cause global warming and climate change

 CXn\v̀qan-bnseNcm-N-c-ß -fn-ep≈ {]̀ mhwF¥v?Consequences thereof on living & non living.

 CubnsSkẁ -hn®G sX-¶nepw{]IrXnZpc-¥-Ø n¬ CuImc-W -ß ƒDt≠ mF∂v]cn-tim-

[n-°p-I.Evidence from recent disasters in many parts of the world.

 CXvIpd-bv°m-\mbnhnhn[cmPy-ß ƒ\S-Ø p∂ {ia-ß ƒhne-bn-cp-Ø p-I.Efforts of various

countries in reducing of green gases.

 Kyoto Protocolt]mse-bp≈ A ¥-cmjv{SkwL-S-\-Iƒ°vlcn-X-Krl hmX-I-ß -fpsS{]̀ mhw

Ipd-°m-\p≈ {ia-Ø n¬F¥p-]-¶m-W p-≈-Xv.Role of International conventions (e.g. Kyoto Protocol)

etc. in the reduction of emission of greenhouse gases.

(d)aÆncItºmÃv\n¿ΩmW w]c-º-cm-K-X-ambHcpIm¿jnI{]h¿Ø nB W v.Preparing Vermi

compost & its use in your kitchen garden

aÆncItºmÃv\n¿ΩmW w]c-º-cm-K-X-ambHcpIm¿jnI{]h¿Ø nB W v.CXn¬Km¿ln-Ihpw

hyh-km-bn-I-hp-ambamen-\y-ß sf\Ωƒ ]p\-cp-]-tbmKw\S-Ø p-Ibpw A Xn¬ \n∂vkq£ va-

tImi Pohn-I-sfbpwhfhpw\n¿Ωn-°p-∂p.Cu{]h¿Ø -\-Ø n¬ aÆn-c-°p≈ ÿ m\whfsc

hep-Xm-W v.Xmsg-]-d-bp∂ {]h¿Ø -\-Ø n-eqsS\nß ƒKm¿l nIamen-\y-Ø n¬ \n∂vFß ns\

aÆncItºm-Ãp-≠m-°p∂pF∂pa\- n-em-°p-∂p.

Vermi composting is a convenient and effective step towards sustainable agriculture.Where recycling of animal
wastes, crop residues agro – industrial wastes as well as of house hold kitchen residences. Here surplus/
unwanted organic materials are converted into manure by micro-organisms. Earthworms are an important link
in the conversion of organic matter into Vermi compost. Through this project your may learn to prepare vemi

compost using kitchen waste, from residues or any other waste organic matters.

.....................................Materials required:-
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l HcpIpgn-tbm,aÆv/kna‚vsIm≠ v\n¿Ωn®henbHcp̀c-W ntbmkwL -Sn-∏n-°p-I.

l henbHcpπmÃnIvIS-emkv

l tdm°vt̂ mkvt̂ ‰vF∂ cmk-hkvXp

l NmW Iw

l Nm°v/Iºn-heF∂nhkwL -Sn-∏n-°p-I.

L ẃ1 πmÃnIvjo‰p-]-tbm-Kn®vIpgnA s√-¶n¬ c̀-W n-bpsSXmgvhiwaqSp-I.Cover the bottom of

the cement tank/Earthen pot/pit in the ground with plastic sheet.

L ẃ2 15̨ 20skao.I\-Ø n¬amen\yw\nc-∏mbnXpS-cpI.Spread a layer of organic waste (15-20 cm)

on the top of the sheet. You can use kitchen waste, farmyard waste, biogas sludge…. (Find out what
other materials can be used for this purpose. Take the help of village elders/internet etc.). Sprinkle rock

phosphate an top in about 1 ½ 2 kg.

L ẃ3 CXn-\p-ap-I-fn-embnG I-tZiw1 ½ 2Intemtdm°vt̂ mkvt̂ ‰vCSp-I.Sprinkle rock phosphate

an top in about 1 ½ 2 kg.

L ẃ4 CXn-\p-ap-I-fn¬ NmW Iwsh≈-Ø n¬Ie°nHgn-°p-I.Prepare and add a layer of cow dung

slurry on the top.

L ẃ5 CØ cw]eA Sp°pI-fmbnIpgn/̀cW n\nd-bv°p-I.Fill the pit/pot completely & evenly with

layered material.

L ẃ6 Ipg®NmW IwD]-tbm-Kn®vIpgnA S-bv°p-I.Seal the place by applying a layer of mind or cow

dung on top.

L ẃ7 G I-tZiw20Znh-k-Ø n-\p-tijwCXn\papI-fn-embnaÆn-csb\nt£ -]n-°p-I.Allow the

material to decompose for about 20 days.After 20 days put the earthworm on top, they will find their

ways into the material.Vermi composting Earthworms – Delhi IIT.

L ẃ8 a‰p]£ n-I-fn¬\n∂p≈ B {I-aW wXS-bm-\mbnIpgnNmt°mIºn-h-etbmD]-tbm-Kn®v

aqSp-I.Cover the pit/vessel with gunny bags/wire mesh to protect the worms from predatory birds.

L ẃ9 G I-tZiwc≠ p-am-k-tØ bv°vXpS¿®-bmbnaq∂p-\m-ep-Zn-hkwCS-hńvsh≈ wsIm≠ v\\-

bv°p-I.Sprinkle water over the whole mixture at the internals of 3-4 days for 2 months. This is to

maintain moisture & body temperature of the earthworm.

L ẃ10 c≠ vamk-Ø n-\p-tijwIpgnXpd∂vItºm vHcpIq\-am-XncnXd-bn¬ \nc-Ø p-I.c≠p-

aq∂paW n-°q¿sIm≠ vaÆn-c-Iƒ Xmtgbv°vt]mIpw.It normally takes 2 months for the
compost to be ready, when it is ready it is black, quite light and has a pleasant earthy smell. Check if it
is ready after 2 months, remove the cover and load the material in a cone shaped structure on the floor.

Leave it undisturbed for 2-3 hrs to let the worms move slowly to the bottom.

L ẃ11apI-fnse m̀KwNm°p-I-fn¬\nd-bv°p-I.Separate the upper portion in a bag.
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L ẃ12 Xmg-Ø p≈ m̀KwHcpA cn∏D]-tbm-Kn®vA cn-s®-Sp-°p-I.CuaÆn-c-Isf\ap°vho≠ pw

D]-tbm-Kn-°mw.SA Sieve the lower portion to separate worms. They can be used again.

L ẃ13 CuItºmÃvD]-tbm-Kn®vA Sp-°ftXḿ-Ø ntem]qt¥m-́-Ø ntemIrjnsNøp-I.sNSn-I-

fpsShf¿®\nco-£ n-°p-I.Use this compost for growing crops in your crop field/plants to kitchen

garden/flower pots etc. and observe the growth of plants. Record your observation.

L ẃ14 \nß -fpsSA \p-̀-h-ß -fn¬\n∂vHcpIpdn∏vXøm-dm-°p-I.A Prepare your report on the basis

of your experience. While conducting this project.

 In which region are the magnetic lines crowded?

 Do lines of forces intersect each other at any point?

 Are the lines of force different on similar for all shapes of magnets?

 Suggest same other method for observing/drawing the lines of forces.

(e)aq∂psSÃyq-_p-IƒFSpØ vA, B, CF∂vtcJ-s∏-Sp-Ø n-b-Xn-\p-tijwF√m-Ø nepwHmtcmCcpºv

B W n-IƒCSp-I.

Take three test tubes and label them asA, B and C. Put one iron nail each in test tubesA, B and C.

 Abn¬ ip≤-ambPewG I-tZiwB W n]Ip-Xn-̀mKwapß p-∂-Xp-hsc\nd-bv°p-I.In test

tubeAtake distilled water so that half the nail is immerred in water and cork it.

 Bbn¬\ndsbPew\nd®vsSÃvSyq_v\∂mbnA S-bv°p-I.In test tube B take enough distilled

water such that the iron nail is completily immerred in it and cork it so that no air comes in contact with it.

 Cbn¬ \ndsbPew\nd®vsSÃvSyq_v\∂mbnA S-bv°p-I.Cbn¬ Ipd®vCaCl
2
Hgn®v

\∂mbnA S-°p-I.3̨4Znh-k-tØ °vChsb\nco-£ n-°p-I.In test tube C, tube small amount
of CaCl

2
and cover it with a small cotton plug. Now put an iron nail in it and cork it. Keep all the test

tubes undisturbed for at least 3-4 days and then observe carefully.

(i) G Xn-emW vIqSp-X¬Xpcp-ºp-≠m-Ip-∂Xv

In which test tube the rusting of iron nail takes place.

(ii) CcpºvXpcp-ºn-°m-\p≈ kml-NcywG sXm-s°.

What are the essential conditions for rusting of iron?

(iii) CaCl
2
{]̀ mhwF¥mW v?

What is the role of CaCl
2
taken in test tube C.

(iv) Xpcp-ºns‚cmk-\mawFgp-Xp-I.

Write down the chemical formula of rust.
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(v) F¥mW vXpcp-ºn-°¬F∂ {]{In-b.

What is corrosion?

(vi) AF∂ sSÃvSyq_n¬ HcpXp≈ nshfn-s®Æ Hgn-s®-¶n¬ F¥pkẁ -hn-t®-s\.

If a little amount coconut oil is added to the water taken in test tube A, then how it would affect the

rusting?

\nß ƒ°vA \p-h-Zn®A wKo-IrX ]T\tI{µ-Ø n¬\n∂pwXmsg-]-d-bp∂ cmk-h-kvXp-°ƒkẁ -cn®v

A ≤ym-]-Is‚klm-b-Ø m¬Xmsg-]-d-bp-∂-{]-h¿Ø -\-ß ƒsNbvXvDØ cwI≠ p-]n-Sn-°p-I.

Learner should visit the allotted study centre, collect the following materials and carry out the experiments under the

supervision of a teacher and answer the following conditions:

CuSO
4

5H
2
O, NaOH, Mg, S,Zn

(i) CuSO
4
te°vZnIq́nbm¬F¥pkẁ -hn-°pw.

What happens when Zn is added to aqueous solution of CuSO
4
.?

(ii) MgXW pØ sh≈-hp-ambpwNqSp-sh-≈-hp-ambpwFß ns\{]h¿Ø n-°pw.

How does Mg react with (a) cold water and (b) hat water?

(iii) NaOHambnZnFß ns\{]Xn-I-cn°pw

How does Zn react with NaOH.

(iv) teml-ß -sfbpwB tem-l-ß -sfbpwI≠ p-]n-Sn-°p-I.

Identify metals and non-metals among the materials collected.

(v) CuSO
4
.5H

2
O

What is the colour of solid CuSO
4
.5H

2
O

(vi) CuSO
4
.5H

2
ONqSm-°n-bm¬F¥p-kw-̀-hn-°pw.

What happens when 5 is burnt in air?
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Social Science

(213)

Syq́¿am¿° UvA ssk≥sa‚v
Tutor Marked Assignment

B sI-am¿°v:20
Max. Marks: 20

\n¿t±-i-ß ƒ:(i) F√mtNmZy-ß fpw\n¿∫-‘-am-W v.Hmtcm-∂n-s‚bpwaqeywA Xm-Xn-SØ vtcJ-s∏-
Sp-Ø n-bn-́p≠ v.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsSt]cv,{Ia-\-º¿,]T-\-tI-{µ-Ø ns‚t]cv,hnj-bw,F∂nhH∂m-asØ
]pd-Ø ns‚apI-fn¬ Xs∂ Fgp-Xp-I.

Write your name, enrolment number,AI name and subject on the top of the first page of the
answer sheet.

1. Xmsg-sIm-Sp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwHsc-Æ-Ø ns‚DØ cw40̨60hm°p-I-fn¬

Fgp-XpI. 2×1=2

Answer any one out of the following four questions in about 40 to 60 words.

(i) a≤y-ImeC¥y-bnseA h-ti-jn-°p∂ G sX-¶nepw2]pcm-h-kvXp-°ƒNq≠ n-°m-́n,A h

a≤y-ImeC¥ym-N-cn-{X-Ø nseB Ime-L ẃa\- n-em-°p-∂-Xn\vF{X-am{Xwklm-b-I-c-am-

sW ∂vhni-Zo-I-cn-°pI (A ≤ymbw2{i≤n-°p-I)

Identifyany twomaterial remains ofMedieval Indiaandexplainhowtheywill helpyou tounderstand the
history of that period. (See lesson 2)

(ii) ]n¬°methZ-Im-e-L -́-Ø n¬,B cy-tKm{X kaq-l-ß -fpsSh≥tXm-Xn-ep≈ ]uc-kvXy-Znim

{]bm-W w,KwKm-̨-Zp-hm_v{]tZ-i-ß -fn-te°vD≠m-bn-cp∂p''Cu{]kvXm-h-\sbkm[q-I-cn-°p-∂-

Xn-\mbnA \p-tbm-Py-ß -fmbG sX-¶nepwc≠vkqN-\-Iƒ\¬In{]kvXm-h\km[q-I-cn-°p-I.

"There was a large scale eastward movement of the Aryan communities towards the Ganga- Doab
region in laterVedic period. Justify this statement by giving any two suitable arguments.

(iii) inem-bp-K-Ø n¬\n∂pwteml-bpKw(BronzeAge)Ø nte°p≈ am‰wD≠m-b-t∏mƒa\p-jy-Po-hn-
X-co-Xn-Iƒam‰-ß ƒ°vhnt[-b-am-bn.Cuam‰-Ø n\vImc-W -ambc≠vL S-I-ß ƒIs≠Ø nPohn-

X-co-Xn-Iƒsa®-s∏-Sp-Ø p-∂-Xn\vA hF{X-am{Xwklm-b-I-c-am-bn-cp∂pF∂vhni-Z-am-°p-I.

(A -≤ymbw1{i≤n-°p-I)

Human Life changed when it progressed from the StoneAge to the BronzeAge. Identify any two factors
responsible for it and explain how they helped to improve the life of the people. (See lesson 1)

(iv) _n.-kn.6̨mw\q‰m≠v{]mNo\C¥y-bnsekmaql y̨aX ]cn-h¿Ø -\-ß -fpsSIme-L -́-sa∂v

]d-b-s∏-Sp-∂p.CuA ǹ-{]m-b-tØ mSv\nß ƒtbmPn-°p-∂pthm?Imc-W -ß ƒhni-Z-am-°p-I.

(A -≤ymbw1ImW p-I)

It said that the 6th century B.C. was a period of socio-religious transformation inAncient India. Do you
agree? Explain giving reasons. (See lesson 1)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwHsc-Æ-Ø ns‚DØ cw40̨60hm°p-I-fn¬
Fgp-XpI

Answer any one out of the following four questions in about 40 to 60 words. 2×1=2
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(i) ]¿∆-X-ß fpwka-Xe{]tZ-i-ß fpwXΩn-ep≈ G sX-¶nepw2hyXym-k-ß ƒFgp-Xp-I.

(A -≤ymbw9ImW pI)

Write any two points of distinction between Plain and Mountain. (See lesson 9)

(ii) cmP-ÿ m≥kwÿ m-\-amW vG ‰hpwIqSp-X¬agèn-°p∂ {]tZ-i-sa-¶n¬A hn-SpsØ ImgvN-

IƒF{]-Im-c-am-bn-cn°pw (A -≤ymbw10ImW p-I)

If Rajasthan State has the highest rainfall, what would be the state’s scenario?   (See lesson 10)

(iii) \nß ƒhkn-°p∂ {]tZ-i-Ø nseP\-\-\n-c°vac-W -\n-c-°v,km£ -cXm\ne-hm-cw,kv{Xǫ-

]p-cpjA \p-]mXwF∂nhI≠ p-]n-Sn-°p-I. (A ≤ymbw14ImW p-I)

Find out the Birth Rate, Death rate, Literacy Rate and Sex Ratio of the district where you live. Write

them in a table. (See lesson 14)

(iv) "kv{Xǫ-]p-cpjA \p-]m-X-Ø n-ep≈ Ipdhvkmaqly{]iv\-ß ƒh¿≤n-∏n-°p∂p'Cu{]kvXm-

h\km[q-I-cn-°p-∂-Xn\vA \p-tbm-Py-ambG sX-¶nepw2\ymb-hm-Z-ß ƒNq≠ n-Im-́p-I.

(A -≤ymbw14ImW p-I)

‘Societal unrest increases because of decreasing Sex Ratio.’ Justify this statement by giving any two

suitablearguments. (See lesson 14)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwHsc-Æ-Ø ns‚DØ cw40̨60hm°p-I-fn¬

Fgp-XpI 2×1=2

Answer any one out of the following four questions in about 40 to 60 words

(i) kmº-Ø n-I-̨-km-aq-lnI kaXzw t{]m’m-ln-∏n-°p-∂-Xn\vDX-Ip∂ G sX-¶nepw c≠ v

"kwÿ m\\n¿t±-iIXXz-ß ƒNq≠ n-°m-́p-I. (A -≤ymbw17ImW p-I)

Identify any two Directive Principles of State Policy which are meant to promote social and economic

equality (See lesson 17)

(ii) c̀-W -L-S-\-bpsS73Dw74Dw t̀ Z-K-Xn-Iƒkv{Xoim-‡ o-I-c-W -Ø n-te°v"\bn®p'Imc-W -

ß ƒklnXwhni-Z-am-°p-I. (A -≤ymbw18ImW p-I)

"73rd and 74th amendments have paved the way for women empowerment" Explain giving

reasons. (See lesson 18)

(iii) C¥y≥P\m-[n-]Xykwhn-[m-\-Ø n¬P\-]-¶m-fnØ w\¬Ip∂ 2DZm-l-c-W -ß ƒI≠ p-]n-

Sn-°p-I. (See lesson 22)

Find any two examples to show the participation of people in the democratic system of India.
(A -≤ymbw22ImW p-I)

(iv) C¥ybpsS tZio-bp¬{K-Y-\-Ø n\v{]m[m\yw\¬Ip∂ c̀-W -L-S\maqey-ß -fn¬ G sX-

¶nepwHscÆwhni-Z-am-°p-I. (A -≤ymbw24ImW p-I)

Discuss the impact of any one constitutional value which you consider to be important for national

integration. (See lesson 24)

4 Xmsg-sIm-Sp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwHsc-Æ-Ø ns‚DØ cw100̨150hm°p-I

fn¬ Fgp-XpI

Answer any one out of the following four questions in about 100 to 150 words.
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(i) a≤y-Im-e-L b́qtdm-∏n¬kwPm-X-amb q̂U-en-kw,A ∂v\ne-\n-∂n-cp∂ kmaqlycmjv{Sob,

kmº-Ø nIkwhn-[m-\-ß sf]q¿Æ-ambpw]cn-h¿Ø -\-Ø n\vCS-bm-°n.CXvF{]-Imcw

kẁ -hn®pF∂v\nß ƒNn¥n-°p∂p? (A -≤ymbw2ImW p-I)

Feudalismthat emerged inEurope inMedieval timescompletely transformed theexistingsocial, political

and economic organizations of that time. How do you think this happened? (See lesson 2)

(ii) aX-hn-izm-k-ß -fn-epw,kmwkv°m-cnItaJ-e-I-fnepwHcpal-Ø mb]mc-ºcyka-\z-b-Ø n\v

a≤y-Im-e-L ẃkm£ ywhln-®p.C¥y-bnse ‡̀ n-̨-kq̂ n{]ÿ m-\-ß -fn¬ Cu]mc-ºcy

ka-®bwF{X-am{Xw{]Xn-̂-en-°p∂pF∂vhni-Zo-I-cn-°p-I. (A -≤ymbw2ImW p-I)

In the sphere of religion and culture, Medieval Period witnessed a great synthesis of traditions. How was

this synthesis of traditions reflected in the Bhakti and Sufi movements in India? (See lesson 2)

(iii) hnhn[Imc-W -ß -fm¬ \Zo-Pewaen-\-am-bn-sIm-≠ n-cn-°p-∂p.aen-\o-I-c-W -tXmXvXptemw

Ipd-bv°p-∂-Xn-\mbn\nß -fpsS m̀K-Ø p-\n∂vG sXms° \S-]-Sn-Iƒ\nß ƒkzoI-cn°pw?

(A -≤ymbw9ImW p-I)

The river water is getting contaminated because of various factors. What steps would you take to

minimize the water contamination at your end? (See lesson 9)

(iv) C¥y-bpsS q̀]-S-Ø n¬ A \p-tbm-Py-ambkqN-\-Nn-”-ß ƒ\¬InXmsg-sIm-Sp-Ø n-cn-°p-

∂hA S-bm-f-s∏-Sp-Ø p-I.

On the outline map of India, mark and label the following with appropriate symbols:

a) C¥y≥{]tZ-i-Ø n-ep≈ lnam-eb]¿∆-X-Ø nseG ‰hpwDb-cw-Iq-SnbsImSp-ap-Sn.

b) G ‰hpwIqSp-X¬h¿j-]mXw(a-g-e-̀y-X)èn®{]tZiw.

c) ä kq̈ agB Zywèn-°p∂ kwÿ m-\w.

d) s]\n≥kq-e¿C¥ysbc≠mbnhǹ-Pn-°p∂ \Zn.

a. The highest peak of the Himalaya in India

b. The place where the highest rainfall is recorded

c. The state where monsoon bursts first

d. A river dividing the peninsular India into two parts

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwHsc-Æ-Ø n\v100̨150hm°p-I-fn¬DØ cw

Fgp-Xp-I. 4

Answer any one out of the following four questions in about 100 to 150 words.

(i) {]mtZ-inIKh¿W -sa‚p-I-fpsS c̀-W -{]-tZ-i-ß -fnse{]iv\-ß ƒIqSp-X¬Imcy-£ -a-ambn

]cn-l-cn-°p-∂-Xn\vklm-b-I-c-amb\mev\S-]-Sn-Iƒ\n¿t±-in-°p-I.(A -≤ymbw18ImW p-I)

Suggest any four measures to make the Local Government bodies more efficient to solve the problems

of their areas. (See lesson 18)

(ii) kzX-{¥hpw\oXn-]q¿∆-hp-ambXnc-s™ -Sp-∏p-IsfXS- -s∏-Sp-Ø p∂ 2XS- -ß ƒ \nß -

fpsSA ǹ-{]m-b-Ø n¬ G sXm-s°-sb∂vI≠ p-]n-Sn®vA h-bv°p≈ ]cn-lm-c-ß ƒ\n¿t±-in-

°pI (A -≤ymbw22ImW p-I)
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Identify any two problems which you feel hindrance in the path of free and fair efections and suggest

remedies. (See lesson 22)

(iii) lnam-eb]¿∆X {]tZ-i-ß -fn-tebpwZ£ nW C¥y(Peninsular India)bntebpw\Zn-IƒXΩn-

ep≈ hyXymkwhni-Z-am-°p-I.DZm-l-c-W -ß ƒklnXw\mevImcy-ß ƒhy‡ -am-°pI.

(A ≤ymbw9ImW p-I)

Differentiate between Himalayan and Peninsular river systems. Give four points with examples.

(See lesson 9)

(iv) \nß -fpsSkwÿ m-\-Ø nseImem-h-ÿ sbkzm[o-\n-°p∂ G sX-¶nepw4Imcy-ß ƒhni-

Zo-I-cn-°p-I. (A ≤ymbw10ImW p-I)

Explain any four factors affecting climate of your state. (See lesson 10)

6. Xmsg-sIm-Sp-Ø n-cn-°p∂ \mevt{]mP-IvSp-I-fn¬ G sX-¶nepwHscÆw\n¿∆-ln-°p-I.6×1=6

Make any one Project out of the list of four projects given below:

A. \nß -fpsS]́ -W tam\K-ctam\nco-£ n-°p-I.hfsc]g°wD≈-XmbHcpsI ń-StamA s√-

¶n¬]g-°w-sIm≠ vDt]-£ n-°-s∏-́tXmB bHcpku[w\nß ƒ°vXo¿®-bmbpwIs≠-

Ø p-hm≥Ign-bpw.Is≠ Ø nbku[sØ kw_-‘ n®vXmsg-sIm-Sp-Ø n-cn-°p∂ Imcy-ß ƒ

I≠ p-]n-Sn-°p-I.

a) CXvB cpsSsI ńSwB Ip∂p?

b) \n¿Ωm-XmhvB cvB W v?

c) F∂v\n¿Ωn®p

d) Dt]-£ n-°-s∏-́XvF¥p-sIm≠v?

e) \n¿Ωn®B fp-IƒCt∏mgpwPohn-®n-cn-°p-∂pthmA s√-¶n¬ Ct√?

f) Ct∏mƒA h¿Cs√-¶n¬Fhn-tSbv°vt]mbn?

Look around your town or city.You will definitely find a building which is either very old or deserted.

Find out the following facts about it:

a. Whose building it is?

b. Who built it?

c. When was it built?

d. Why is it deserted now?

e. Are the people who built it still there or not?

f. If not, where have they gone?

Make a note of it.You will be surprised to learn many things related to it.
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B. \nß -fpsS{Kmaw/\Kcw/hkn-°p∂ {]tZ-i-Ø n-ep≈ 20hoSp-I-fn¬ Hcpk¿t∆\S-Ø p-I.

hnhn[hb vhǹm-K-Ø n¬s∏-Sp∂ ]pcp-j-∑m-cp-sSbpwh\n-X-I-fp-sSbpwkm£ -cXm\ne-

hmcwI≠ p-]n-Sn-°p-∂p.k¿t∆-I-fn¬ \n∂pwè n®hnh-c-ß ƒ Npcp-°-ambnXmsg-sIm-Sp-

Ø n-cn-°p∂ amXr-I-bn¬Xq°p-I.

Conduct a survey of 20 households in your village/city/locality.Try to find out the literacy rate in broad

age groups for males and females. The conducted survey could be summarized in the following format:

hb vhǹmKw B sIP\-kwJy km£ c¿ km£ -cXm(%) B sI

(h¿j-ß -fn¬) \º¿ \º¿ \ne-hmcw km£ -cX (%)
Age group Total population Literate persons Literacy Rate (%) Total literacy

(years) (No) (No) (%)

]pcp-j-∑m¿kv{XoIƒ ]pcp-j-∑m¿kv{XoIƒ ]pcp-j-∑m¿ kv{XoIƒ

Male Female Male Female Male Female

0&14

15&59

60+

apIfnse]́ n-I-bn¬ \n∂pw è n®hnh-c-ß -fpsS A Sn-ÿ m-\-Ø n¬ Xmsg\¬In-bn-cn-°p∂

tNmZy-ß -fpsSDØ cwI≠ p-]n-Sn-°p-I.

a) hnhn[B bp vhǹm-K-ß -fnsekm£ -cX \ne-hm-c-Ø n\vs]mXp-kz-̀mhwDt≠ mA tXm

hyXym-k-s∏-́n-cn-°p-∂pthm?

b) km£ -cX \ne-hm-c-Ø nsehyXym-k-ß -fpsSImcW wG sXms° A tXmadn-®mtW m?

c) \nß -fpsS{]tZ-i-Ø p≈ km£ -cXm\ne-hm-c-Ø n\vG sX-¶nepw{]mb-]q¿Ø nhnZym-̀ymk

t{]m{Km-an\v]¶vDt≠ m?

d) kmap-ln-I-ambs]mXp-kz-̀m-h-Ø n\vkm£ -cXm\ne-hmcwHcpA ¿∞ -]q¿Æ-ambkqNnI

B tW m?hnh-cn-°pI

On the basis of information compiled in the above table, try to find the answers to the following questions:

a. Is the literacy rate uniform or different among the broad age groups?

b. What are the reasons for differences in literacy rate or otherwise?

c. Is there any role of adult education programme on the literacy rate of your area?

d. Is literacy a good indicator of social uniformity? Explain.

C. \nß -fpsS{]tZ-i-Ø p≈ {]mtZ-inIKḧ sa‚ns‚t]cvFgp-Xp-I.{]mtZ-inIKh¿W -sa‚v

CuSm-°p∂ G sX-¶nepw3\nIp-Xn-Ifpw,\S-∏n-em-°n-b-tXm,\S-∏n-em-°p-∂tXmB b3hnI-

k\{]h¿Ø \wI≠ p-]n-Sn-°p-I.Xmsg-sIm-Sp-Ø n-cn-°p∂ ]́ n-I-bn¬ Is≠-Ø nbhnh-c-W -

ß ƒDƒs∏-Sp-Ø p-I.

Name the Local Government body of your area. Find out any three taxes and any three development works

done or being done by in your area. Complete the following table with this information.
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{]mtZ-inI c̀W L S-I-Ø ns‚t]cv.

........ {]mtZ-inI c̀-W -k-anXn \S-∏n-em-°nbhnI-k\{]h¿Ø -\-ß tfm

CuSm-°p∂ \nIp-Xn-Iƒ \S-∏n-em-°p-∂tXmB bhnI-k\{]h¿Ø -\-ß ƒ

Taxes imposed by local body Development work done or
being done by local body

1.

2.

3.

Suggest three works which you would like to be done on priority basis and give reasons for their priority.

\S∏n-em-°-W -sa∂v\nß ƒB {K-ln-°p∂ aq∂v{][m\hnI-k\Imcy-ß ƒap≥K-W \m{Ia-Ø n¬

\n¿t±-in-°p-I.ap≥K-W \m{Ia-Ø ns‚Imc-W -ß ƒhyIy-X-am-°p-I.

D. C¥y≥ c̀-W -L-S-\-bpsSapJy-A -h-Xm-cn-I-bn¬ sImSp-Ø n-́p≈ aqey-ß -fn¬G sX-¶nepw3FÆw

sXc-s™ -Sp-°p-I.XmsgsImSp-Ø n-cn-°p∂ ]́ n-I-bn¬ ChDƒs∏-SpØ n]q¿Ø n-bm-°p-I.

Choose any three words from the Preamble of the Constitution of India which have been used as values. Put

these words in the table given below and complete the table as per given example.

apJy-A -h-Xm-cn-I-bn¬ \¬In aqey-Ø ns‚ CXvF{]-Imcw

bncn°p∂ aqey-Ø ns‚ hm°v hnh-cW w {]mtbm-Kn-I-am-°n-bn-cn-°p∂p

Word from the Explanation of the value How has it been put
Preamble used as a value into practice

Example
DZm-l-cW w

cmjv{S-Ø nse\nb-a-Ø ns‚

ap≥]n¬ F√m-hcpw Xpey-cm-W v.

a‰vG sX-¶nepw A Sn-ÿ m-\-

Ø n¬ hnth-N\w C√

All are equal before the law
of the state and there is no
discrimination on anybasis

kaXzw

Equality

Xpey-Xbv°p≈

A h-Imiw F√m-h¿°p

\¬In-bn-́p-≠ v.

Right to equality has been
given toall
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kmº-Ø n-I-imkv{Xw
Economics (214)

Syq́¿am¿° UvA ssk≥sa‚v
Tutor Marked Assignment

]c-am-h[nam¿°v:20

Max. Marks: 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pwDØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pwA \p-h-Zn-

®n-́p≈ am¿°vtNmZy-tØ m-sSm∏w sImSp-Ø n-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsS t]cv,F≥tdmƒ \º¿,hnjbw XpS-ß nbhDØ c-°-S-em-kns‚

B Zyt]Pns‚ apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the

answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepw H∂v40-̨60hm°p-I-fn¬

DØ -c-sa-gp-XpI 2×1=2

Answer any one out of the following four questions in about 40-60 words:

(i) \nß -fpsS{]tZ-iØ vHcp_m¶vDs≠ ∂vhnNm-cn-°p-I.\ntXy\[mcmfwB fp-Iƒ

_m¶vkµ¿in-°p-∂-Xmbn\nß ƒ ImW p-∂p.F¥vDt±iw/Dt±-i-ß ƒ°m-bn-

ḿW vA h¿_m¶vkµ¿in-°p-∂-Xv.

(]mTw15 t\m°pI)

Suppose, you have a bank in your locality. You see many people visiting the bank daily. For what pur-

pose/purposes they visit the bank. (See lesson 15)

(ii) \nß -fpsS]nXmhvIpd®v]W wkºm-Zn-®n-́p-≠ v.Fhn-sS-bmW vA t±-l-Ø n\vXs‚

kºmZywkq£ n-°p-hm≥ km[n-°p-∂Xv?F¥p-sIm≠ v?

(]mTw15 t\m°pI)

Your father has saved some money. Where would he keep his saving and why?(See lesson 15)

(iii) an.FIvkv,an.ssh̨ bn¬ \n∂pw c≠m-bncw cq] hmbv] hmß p-∂p.aq∂pamk-

Ø n\ptijwFIvkv]W w Xncn®v\¬Ip-∂p.hm¿jnI ]en-i-\n-c°v12%B sW -

¶n¬ F{X cq] ]en-i-bmbnA t±l w \¬IW w? (]mTw16t\m°pI)

Mr. 'X' borrows Rs. 2,000 from Mr. 'Y'. Mr. 'X' pays this money back after three months. What amount

should be paid by him as interest if the rate of interest is 12% per annum. (See lesson 16)

(iv) Hcpt_°dnDS-a-ÿ \vXs‚ Xe-apSnsh́p-hm≥ ]W -an-√m-Ø -Xp-sIm≠ vapSn-sh́v

Iqen°vXpey-ambXpI°v{_Upwa‰v̀£ -W -km-[-\-ß fpw\¬Ip-∂p.CussIam-

‰-Ø n¬ A h¿t\cn-Sp∂ _p≤n-aṕvF¥mW v?

(]mTw14t\m°pI)
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If a baker does not have money for a hair cut and offers bread and other food stuff to the barber worth

the same cost of hair cut. What difficulty they have to face in this transaction.

(See lesson 14)

2. XmsgsImSp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepw H∂v40-̨60hm°p-I-fn¬

DØ -c-sa-gp-Xp-I. 2×1=2

Answer any one of the following four questions in about 40-60 words:

(i) \nß -fpsSA b¬hm-kn°vHcpA ]-ISwkẁ -hn-®p-sh∂vIcp-Xp-I.A t±-l-Ø ns‚

Im¿]q¿Æ-ambnXI¿∂p-t]m-bn.A t±-l-Ø ns‚ Imdn\vC≥jp-d≥kvIº-\n-

bn¬ \n∂vèn-°m-hp∂ B \p-Iq-ey-ß ƒ Fs¥ms°? (]mTw16t\m°pI)

Suppose, your neighbour meets an accident. His car is totally damaged. He has a proper insurance policy
of his car.What compensation he can get from the insurance company for the damaged car caused by the

accident. (See lesson 16)

(ii) hf¿Ø p-ar-K-ß ƒ,D¬]m-ZnX hkvXp-°ƒ XpS-ß nb D¬]-∂-ß ƒ _m¿́¿k{º-

Zmbw km[y-am-Ipw-hn[w Ffp-∏-Ø n¬ hǹ-Pn-°phm≥ km[y-a-√.CuDZm-l-c-W -

Ø ns‚ A Sn-ÿ m-\-Ø n¬ _m¿́¿k{º-Zm-b-Ø ns‚ \yq\-X-bmb""hkvXp-°-fpsS

hǹ-P-\-Ø ns‚ A m̀hw'' hni-Zo-I-cn-°p-I.

(]mTw14t\m°pI)

Some goods such as livestock or manufactured goods cannot easily be divided to provide fractional
barter items. Explain the difficulty of 'lack ofdivisibility' inbarter systemof exchange in the contextof this

example. (See lesson 14)

(iii) Hcp_m¶nse{]mcẁ \nt£ ]XpI]Xn-\m-bncwcq]-bm-W v.Iymjvdnk¿hvtdtjym

10iX-am-\-am-W v.Cu\nt£ ] XpI-bpsS klm-b-tØ msS _m¶n\vkrjvSn-°m-

hp∂ samØ hmbv] XpI IW -°m-°pI. (]mTw15 t\m°pI)

Initial deposit in a bank is Rs. 10,000. The cash reserve Ratio (CRR) is 10%. Calculate the amount of

total credit that the bank car create with the helf of this deposit. (See lesson 15)

(iv) Xmsg\¬In-bn-cn-°p∂ ]́ n-I-bn¬\n∂v2014G {]n¬,sabv,Pq̈ ,Pqsseamk-ß -

fnsekºmZyw IW -°m-°p-I. (]mTw16t\m°pI)

Calculate the amount of saving for the months ofApril, May, June and July 2014 from the table given

below: (See lesson 16)

Month(amkw) Income(hcpam\w) Expenditive(sNehv) Saving(kºmZyw)

(Rs) (Rs) (Rs) (Rs)

G {]n¬ 2014 15,430 15,100 ----

sabv2014 15,900 15,700 ----

Pq̈ 2014 16,300 16,500 ----

Pqsse2014 16,500 16,200 ----
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3. XmsgsImSp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepw H∂v40-̨60hm°p-I-fn¬

DØ -c-sa-gp-Xp-I. 2×1=2

Answer any one out of the following four questions in about 40-60 words:

(i) \nß ƒ Hcp{]j¿Ip°¿am¿°-‰n¬ \n∂vhmß n.F∂m¬ Uoe-dpsS ]°¬

\n∂pw_n¬ hmß p-hm≥ad-∂p-t]m-bn.Ip°¿D]-tbm-Kn-®-t∏mƒ A Xn\vXI-cm-dp-

s≠ ∂vIs≠-Ø n.{]j¿Ip°-dns‚_n¬ hmß m-Xn-cp-∂-Xns‚Fs¥-¶nepwc≠ v

tZmj-ß ƒ Fgp-Xp-I. (]mTw 24t\m°pI)

You Purchased a pressure cooker from the market but you forgot to take its bill from the dealer. When

you used this cooker, it was found faulty. Give any two demerits of not taking the bill of pressure cooker.

(See lesson 24)

(ii) P\-kwJyh¿≤-\hvh\-\-io-I-c-W -Ø n\vhgnsXfn-°pw.Fß ns\ A Xvh\y-Po-

hn-Isf_m[n°pw?

(]mTw 23t\m°pI)

Increase in population leads to deforestation. How does it affect the wild life? (See lesson 23)

(iii) h≥\K-c-ß -fnsehmbpaen-\o-I-cW wXS-bp-hm≥Kḧ sa‚v]c-am-h[n{ian-°p-

∂p-≠v.hmbp-a-en-\o-I-cW w XS-bp-hm≥ Kḧ sa‚vFSp-t°≠ G sX-¶nepw c≠ v

am¿§-ß ƒ Fgp-Xp-I. (]mTw 23t\m°pI)

The government is trying its best to check air pollution in big cities. Suggest any two ways that should be

adopted by the government to ckeek air pollution. (See lesson 23)

(iv) 20,000cq]bv°v\nß ƒhmß nbD¬]-∂-Ø n\vXI-cm¿Is≠-Ø n-sb∂vk¶-ev]n-

°p-I.\jvS-]-cn-lm-c-Ø n-\mbnFhn-sS-bmW v\nß ƒ ]cmXnka¿∏n-t°-≠ Xv?

(]mTw 21t\m°pI)

Suppose, you purchased a product for Rs. 20,000 and it was found faulty. Where can you file a com-

plaint of this product for compensation? (See lesson 21)

4. XmsgsImSp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwH∂v100-̨150hm°p-I-fn¬

DØ -c-sa-gp-Xp-I. 4×1=4

Answer any one out of the following four questions in about 100-150 words:

(i) \nß ƒ°vF¥n-\mW v]W w?\nß -fpsS]W w sIm≠ v_m[n-°m-hp∂ c≠ vImcy-

ß ƒ hni-Zo-I-cn-°p-I.

(]mTw14t\m°pI)

Why you should have money? Explain any two functions that your money can perform.

(See lesson 14)

(ii) \nß -fpsS A Ω ]m{X-ß ƒ \¬In]gb hkv{X-ß ƒ hmß n.Cu{Ib-hn-{Ib

kwhn-[m-\sØ F¥vhnfn-°p∂p?Cu ssIam‰kwhn-[m-\-Ø ns‚ G sX-¶nepw

c≠ v\yq\-X-Iƒ FgpXneL p-hmbnhni-Zo-I-cn-°p-I. (]mTw14t\m°pI)



45kmº-Ø n-I-imkv{Xw (Economics)

Your mother exchanges utensils for old clothes. What is this system of exchange called? Give any two

demerits of such a system of exchange and explain them in brief. (See lesson 14)

(iii) _m¶p-Iƒ \nt£ -]-ß -fpsS \nc-h[nCćnhmbv]krjvSn-°p-∂p.Fß n-s\-bmW v

hni-Zo-I-cn-°p-I. (]mTw15 t\m°pI)

Banks create credit in multiple times of deposits. Explain, how? (See lesson 15)

(iv) \n-t£ -]-ß ƒkºZvhyh-ÿ -bpsShnI-k-\-Ø n-\mbnD]-tbm-K-s∏-Sp-Ø m-hp-∂-Xm-

W v.Fß n-s\-bmW vhni-Zo-I-cn-°p-I. (]mTw16t\m°pI)

Savings can be used for the development of the economy. Explain, how? (See lesson 16)

5. XmsgsImSp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepw H∂v100-̨150hm°p-I-fn¬

DØ -c-sa-gp-Xp-I. 4×1=4

Answer any one out of the following four questions in about 100-150 words:

(i) KwKm-\-Znbpwbap\\ZnbpwhrØ n-bm-°p-∂-Xns\kw_-‘n®v\mwCt∏mƒ[mcmfw

kwkm-cn-°p-∂p-≠ v.G sX√mw hgn-I-fn-eqsS Cu\Zn-I-fnseaen-\-Pew kaq-l-

Ø n\vtZmj-I-c-ambnamdp∂p? (]mTw 23t\m°pI)

Now a days we talk of cleaning Ganga and Yamuna rivers. In what ways the polluted water of these

rivers is harmful for the society? (See lesson 23)

(ii) henb\K-c-ß -fn¬ hml-\-ß -fp-tSbpwhyh-km-b-ß -fp-tSbpw{Iam-Xo-X-ambh¿≤-

\hvaqewZn\w-{]XnA tcm-N-I-ambi_vZwh¿≤n®vhcp-∂p.CØ -c-Ø n-ep≈ A tcm-

N-I-ambi_vZwa\p-jy-cpsSimco-cn-Ihpwam\-kn-I-hp-ambB tcm-KysØ Fß ns\

_m[n°pw? (]mTw 23t\m°pI)

Due to growth of industries and vehicles in the big cities displeasing noise is increasing day by day. How

does this noise affect the physical and mental health of the people? (See lesson 23)

(iii) kaq-l-Ø n-ep≈ F√m-h¿°pwkpÿ nchnIm-k-Ø n¬ kẁ m-h-\-Iƒ \¬Ip-hm≥

km[n-°pw.DØ -c-hm-ZnXzt_m[-ap≈ ]uc-s\∂ \nebv°v\nß ƒ°vCXn¬

Fß ns\ ]¶m-fn-I-fm-Ip-hm≥ km[n°pw? (]mTw 23t\m°pI)

Every body in the society can contribute to sustainable development. How can you contribute to the

sustainable development as a responsible citizen? (See lesson 23)

(iv) DØ -c-hm-Zn-Xz-ap≈ D]-t̀m-‡ mhvF∂ \nebv°vXmsg]d-bp∂ kml-N-cy-ß -fn¬

\nß ƒ F¥psNøpw? (]mTw 24t\m°pI)

a) am¿°-‰n¬ èy-amb\nc-h[n{_m≥Up-I-fn¬ \n∂vHcpCe-Iv{SnIvCkvXn-cn-

s∏́ nhmß n-°m≥.

b) s{_Upw ]g-h¿§-ß fpw hmß n-°¬

What you should do as a responsible consumer in the following cases? (See lesson 24)

a) To purchase an electric iron from among several brands available.

b) To purchase bread and fruit jam.
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6. XmsgsImSp-Ø n-cn-°p∂ \mevs{]mP-IvSp-I-fn¬ G sX-¶nepw H∂vXøm-dm-°p-I.

6×1=6

Prepare any one of the following four projects given below:

(i) \nß -fpsSkao]{]tZ-i-Ø p≈ Hcp_m¶vkµ¿in-°p-I.\nß -fpsS t]cn¬ Hcp

tkhnwKv_m¶vA °u≠ vB cw-̀n-°p-hm≥ B h-iy-s∏-Sp-I.\nß -fpsS A °u≠ v

B cw-̀n-°p-hm≥amt\-P¿°m-h-iy-ambImcy-ß -fpsSHcp]́ nIXøm-dm-°p-I.\nß -

fpsSk¿s∆-bpsS A Sn-ÿ m-\-Ø n¬ Hcp_m¶n¬ ]pXnb tkhnwKvkvA °u≠ v

B cw-̀n-°p-hm-\p≈ \S-]-Sn-{Iaw500hm°p-I-fn¬ s{]mPIvSvdnt∏m¿́vB bnA h-X-

cn-∏n-°p-I. (]mTw15 t\m°pI)

Visit a bank in your locality. Request the manager of the bank to open your saving bank account in the
bank. Prepare a list the items required by the manager to open your account and on the basis of your
survey prepare of project report in about 500 words explaining the procedure of opening a new saving

bank account in the bank. (See lesson 15)

(ii) HcpC≥jz-d≥kvG P‚ns\ hnfn®vC≥jz-d≥kvIº-\n-bpsS B tcmKyC≥jz-

d≥kvt]mfnkn\¬Ip-hm≥ B h-iy-s∏-Sp-I.{]kvXpX C≥jz-d≥kvt]mfnkn

hmß p-hm-\m-h-iy-amb\n_-‘-\-Ifpwhyh-ÿ -Ifpw{i≤n-°p-I.\nß -fpsSk¿s∆-

bpsS A Sn-ÿ m-\-Ø n¬ 500hm°p-I-fn¬ t]mfn-knsb kw_-‘ n®vC≥jz-d≥kv

G P‚v\nß -tfmSvhni-Zo-I-cn®F√mhyh-ÿ -Ifpw\n_-‘-\-IfpwImW n®vHcp

s{]mPIvSvdnt∏m¿́vXøm-dm-°p-I. (]mTw16t\m°pI)

Call an insurance agent and ask him to issue your health insurance policy from the insurance company.
Note the terms and conditions required to buy the said health insurance policy. On the basis of your
survey prepare a project report in about 500 words mentioning all the terms and conditions explained to

you by the insurance agent regarding this policy. (See lesson 16)

(iii) \nß -fpsS kao-]-Ø p≈ Hcp\Znkµ¿in-°p-I.B \Zn-bnsePe-a-en-\o-I-c-W -

Ø ns‚ t{kmX-kp-Iƒ Is≠-Ø p-I.IqSmsX \Zn-bnsePe-a-en-\o-I-c-W -Ø n-s\-

XnscKḧ sa‚vFSp-Ø n-́p≈ \S-]-Sn-Iƒ Fs¥-√m-sa∂vI≠ p-]n-Sn-°p-I.\nß -

fpsS k¿s∆-bpsS A Sn-ÿ m-\-Ø n¬ Xmsg]d-bp∂ Imcy-ß ƒ IW -°n-se-SpØ v

500hm°p-I-fn¬ Hcpt{]mPIvSvdnt∏m¿́vXøm-dm-°p-I.

(]mTw 23t\m°pI)

a) Pe-a-en-\o-I-c-W -Ø ns‚ hnhn[ t{kmX- p-Iƒ

b) Pe-a-en-\o-I-cW w \nb-{¥n-°p-hm≥ Kḧ sa‚vFSp-Ø n-́p≈ \S-]-Sn-Iƒ

Visit a nearby river and try to find out the sources of water pollution in that river. Also find out the
measures taken by the government to check the pollution of water in the river. On the basis of your

survey. Prepare a project report in about 500 words mentioning: (See lesson 23)

a) Various sources of water pollution

b) Measures taken by the government to check water pollution.
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(iv) \nß -fpsS kao-]-Ø p≈ Hcpam¿°‰vkµ¿in®vG sX√mw hn[-Ø n¬ IS DS-a-

IfpwD¬]m-Z-IcpwD]-t̀m-‡ m-°sfNqjW wsNøp-∂p-sh∂vI≠ p-]n-Sn-°p-I.\nß -

fpsS k¿s∆-bpsS A Sn-ÿ m-\-Ø n¬ Xmsg]d-bp∂ Imcy-ß ƒ Nq≠ n-°ḿn500

hm°p-I-fn¬ Hcps{]mPIvSvdnt∏m¿́vXøm-dm-°p-I. (ikB 24ns[ksa)

a) IS DS-a-Ifpw D¬]m-Z-Icpw D]-t̀m-‡ m-°sfNqjW w sNøp∂ coXn-Iƒ

b) D¬]m-Z-I-cpsSNqj-W -Ø n-s\-XnscD]-t̀m-‡ m-°ƒ°vD]-tbm-Kn-°m-hp∂ A h-

Im-i--ß ƒ.

Visit a market in your locality and try to find out various ways by which the consumers are cheated by the
shopkeepers/producers. Write a project report on the basis of your survey in about 500 words specially

mentioning: (See lesson 24)

a) The methods by which the shopkeepers/producers exploit the consumers.

b) The rights that the consumers can use in case of exploitation by producers.
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_nkn-\ vÃUokv

Business Studies

(215)

Syq́¿am¿° UvA ssk≥sa‚v
Tutor Marked Assignment

]c-am-h[nam¿°v:20

Max. Marks: 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pwDØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n-\p-ap≈ am¿°v

tNmZy-tØ m-sSm∏w sImSp-Ø n-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsSt]cv,F≥tdmƒsa‚v\º¿,hnjbwXpS-ß nbDØ -c-°-S-em-kns‚

apI-fn¬ Fgp-tX-≠-Xm-W v.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂v40-̨60hm°p-I-fn¬ DØ -c-sa-gp-

Xp-I.

Answer any one of the following questions in about 40-60 words:

(a) Nm¿t́ U vA °u-≠‚vB bn{]mIvSokvsNbvXp-h∂ Hcphy‡ nCt∏mƒ iºf

A Sn-ÿ m-\-Ø n¬ as‰mcpNm¿t́ U vA °u-≠ nwKvÿ m]-\-Ø n¬ tPmen°vtNcp-

∂p.B hy‡ n-bpsSB ZysXmgn¬F¥m-bn-cp∂p?Ct∏m-gsØ sXmgn¬F¥mW v?

c≠ vsXmgn-ep-I-fp-tSbpw A ¿∞ why‡ -am-°p-I.

ACharteredAccountant who had been doing his private practice how joins a charteredAccount firm on
salary basis. What was his occupation earlier and what is his present occupation? Give the meaning of
both the occupation.

(b) Hcphy‡ nFw.-_n.-_n.-Fkv]T\wCt∏mƒ]q¿Ø n-bm-°n.Xs‚ sshZKv[ytaJ-

e-bn¬Fß ns\hym]r-X-\m-Im-sa-∂pw,HcpsXmgn-en¬Fß ns\G ¿s∏-Sm-sa∂pw

A ǹ-{]m-b-s∏-Sp-I.

A person who has just completed his M.B.B.S. suggest him how he can engage himself in profession and
how can he engage in employment?

(c) HcpbphmhvXs‚ kao-]-Ø p≈ kvIqƒ hnZym¿∞ n-IsfA h-cpsS ]T-\-Ø n¬

kuP-\y-ambnklm-bn-°p-∂p.F∂m¬ Ct∏mƒA h-cn¬\n∂v̂ okvhmß nIrXy-

ambn]Tn-∏n-°p-hm≥ B cw-̀n-®p.A t±l w B Zyw G ¿s∏́ {]h¿Ø -\-Ø n-t‚bpw

Ct∏mƒ sNøp∂ {]h¿Ø -\-Ø n-t‚bpwt]cvFgp-Xp-I.\nß -fpsSDØ cw\ymbo-

I-cn-°p-I.

A young man was helping school going children of his neighborhood in their studies for free, now starts
charging fees forgiving them regular coaching. Name the nature of activity he was engaged inearlier and
the activity he is doing a present. Justify your answer.
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(d) Hcp{Kma-hmknas‰mcphy‡ n-tbmSv5Izn‚¬ tKmXºvhmß nA Sp-Ø p≈ ]́ -W -

Ø nseam¿°-‰n¬ hn¬°p-∂p.CXvHcphym]mcCS-]mSvB tW m?A ß n-s\-b-

s√-¶n¬ ImcW w hy‡ -am-°p-I.Hcphym]mcw F∂vhnfn-°-s∏-Sp-hm≥ A bmƒ

F¥vsNøW w?

A villager purchased 5 quintals of wheat from another villager and sold it in the mandi of near by town
and earn Rs. 2000. Is it business? If not give reason. What should he do to call it a business?

2-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepwH∂n\v40-̨60hm°p-I-fn¬ DØ -c-sa-

gp-Xp-I. 2

Answer any one of the following questions in about 40-60 words:

(a) cmk-h-f-ß fpw IoS-\m-in-\n-Ifpw hfschym]-I-ambnIrjn°vD]-tbm-Kn-°p-∂p-

≠v.F∂m¬ Ft∏m-gmW vChaÆvaen-\o-I-c-W -Ø n\vImc-W -am-Ip-∂Xv?aÆvaen-

\o-I-c-W -Ø ns‚ as‰mcpImc-W hpw IqSnFgp-XpI.

Fertilizer and Pesticides are widely used in cultivation. But when does it become a cause of land pollu-
tion? Give one more cause of land pollution.

(b) ]cn-ÿ n-Xn°vIqSp-X¬ \mi-\-jvS-ß ƒ hcp-Ø m-Xn-cn-°p-hm≥ G sX√mw \S-]-Sn-I-

fmW v_nkn-\ vkzoI-cn-t°-≠ Xv?A Ø -c-Ø n-ep≈ G sX-¶nepwc≠ v\S-]-Sn-Iƒ

Fgp-Xp-I.

What steps should business take so that further damage is not done to the environment? State any two
such steps.

(c) Ft∏m-gmW vHcpC -̨tIm-tagvkv{]h¿Ø \w B2B F∂vhnfn-°-s∏-Sp-∂-Xv.ChnsS

Fß n-s\-bmW vhne\n›-bn-°-s∏-Sp-∂Xv?

When does an E-commerce activity called B2B? How is price determined in this case?

(d) Kḧ sa‚vDƒs∏-Sp-∂Xpw C -̨tIm-ta-gvkns‚ m̀K-hp-ambnamdp∂ Nne{]h¿Ø -

\-ß -fpsS t]cvFgp-Xp-I.

Name some of the transactions that involve the government and make it a form of E-commerce.

3-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂v40-̨60hm°p-I-fn¬ DØ -c-sa-gp-

XpI 2

Answer any one of the following questions in about 40-60 words:

(a) HcpIpSpw-_-Ø nse5 A wK-ß ƒ Hcp_nkn-\kvB cw-̀n-°p-hm-\m-h-iy-ambhǹ-h-

ß ƒkwL -Sn-∏n-°p-∂p.F∂m¬ B ¢n]vX _m[yX F∂ \jvS-km-[yX G s‰-Sp-

°p-hm≥ A h¿Xøm-dm-bn-cp-∂n-√.CØ -c-Ø n-ep≈ \jvS-km-[y-X-s°-Xnsckwc-

£ W w\¬Ip∂ hym]mckwL -S\ G XmW v?CukwL -S\B cw-̀n-°p-hm-\m-h-

iy-amb G ‰hpw Ipd™ aqe-[\w F{X?CXnse Hcp]¶m-fn°vkwL -S-\-bn-

ep≈ Xs‚ as‰m-cmƒ°vssIam‰w sNøp-hm≥km[n-°ptam?

Five members of a family pool their resources to do a business but they don't want to take the risk of
unlimited liability.Which form of organisation will give them the protection against this risk?Howmuch
minimum capital will be required and will a member be free to transfer for his/her share to another
member?
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(b) Im¿jnIhrØ nsb {]mY-anI hyh-km-b-Ø nepw,kkyssXI-fpsS \gvkdn\S-

Ø ¬ ssPh-im-kv{X-]-c-amb hyh-km-b-Ø nepw Dƒs∏-Sp-Ø n-bXvF¥p-sIm≠ v?

hni-Zo-I-cn-°p-I.

Why should we put farming in the category of primary industry and planting nurseries in the category of
genetic industry?Explain.

(c) kẁ -cW w hfscNne-th-dn-b-Xm-W v.A XvHgn-hm-°p-hm≥ \ap°vkm[n-°ptam?

km[n-°n-s√-¶n¬ ImcW w hy‡ -am-°p-I.

Warehousing is very expensive can we do away with warehousing? If not give reason.

(d) C≥jz-d≥kvt]mfnknFSp-t°-≠-Xn-s√∂pw{]oan-b-ambnA S-bv°p∂ ]W wA \m-

hiyNne-hm-sW ∂pwHcphym]mcnNn¥n-°p-∂p.A t±l wC≥jz-d≥kvt]mfnkn

FSp-t°-≠-Xns‚ B h-iy-IX ]¶p-h-bv°p-I.

A businessman thinks there is no need of taking an insurance policy and payment of money as premium
is an unnecessary expenditure. Suggest him why should he take insurance policy.

4-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂v100-̨150hm°p-I-fn¬ DØ -c-sa-

gp-Xp-I. 4

Answer any one of the following questions in about 100-150 words:

(a) \nß -fpsS ]́ -W -Ø n-ep≈ Nnehyh-kmb bqW n-‰p-Iƒ kao-]-Ø p≈ \Zn-bn¬

amen-\y-ß fpw A h-in-jvS-ß fpw X≈ p-∂p.Cu{]hrØ nF¥p-sIm-≠ vsX‰m-

sW ∂pw A Xns‚ tZmj-h-i-ß ƒ Fs¥-√m-sa∂pwhni-Z-am-°p-I.

Some industrial units of your town are dumping waste and effluents into near by river. Why it is wrong
and what will be its ill effects.

(b) Hcphym]mcnhym]m-c-Ø ns‚kmaqlyDØ -c-hm-Zn-Xz-sØ -°p-dn®va\- n-em-°p-Ibpw

A Xn-\-\p-k-cn®v{]h¿Ø n-°p-IbpwsNbvXm¬,A [n-I-em̀wssIh-cn-°p-hm≥A sX-

ß ns\ klm-bn°pw?

If businessmen understand the concept of social responsibility of business and act upon it. How will it
help them in earning more profit?

(c) G ImwKhym]mcw\S-Ø p∂ Hcphym]mcn\√coXn-bn¬ Xs‚hym]mcw\S-Ø p-

Ibpw Ct∏mƒ Xs‚ hym]mcw hnI-kn-∏n-°p-hm-\p≈ Hc-h-kcw è n-°p-Ibpw

sNbvXp.C{]-ImcwsNøp-tºmƒhym]mcnt\cn-tS-≠ n-h-cp∂ _p≤n-ap-́p-IƒFs¥-

√m-sa∂vhni-Zo-I-cn-°p-I.

A businessman as a soleproprietor is doing good business and now gets an opportunity to expand it.
State the difficulties that will be faced by him in doing so.

(d) ta¬]-d™ kml-N-cy-Ø n¬ hym]mcnF¥mW vsNtø-≠-sX∂vA ǹ-{]m-b-s∏-Sp-

I.hym]mcwhnI-kn-∏n-°p-hm≥ èn®A h-kcwssIap-X-em-°p-hm≥CsX-ß ns\

A t±-l sØ klm-bn°pw?

In the above case what do you suggest he should do? In what way will it help him to exploit the oppor-

tunity to expand his business?
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5-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂v100-̨150hm°p-I-fn¬ DØ -c-sa-

gp-Xp-I. 4

Answer any one of the following questions in about 100-150 words:

(a) em̀-k-ºm-Z\w Hcp_nkn-\- ns‚ {]Yae£ y-am-sW -¶nepw A Xvam{X-a√_nkn-

\- ns‚ e£ y-ß ƒ.{]mY-anI e£ yw t\Sp-hm≥ klm-bn-°p∂ a‰v_nkn-\ v

e£ y-ß ƒ Fs¥-√m-amW v?G sX-¶nepw c≠ ve£ y-ß ƒ hni-Zo-I-cn-°p-I.

Profit earning may be the primary objective of business but not the only objectives. What are the other
objectives that also help in achieving the primary objective? Explain any two such objectives.

(b) B tKmfam¿°-‰n¬ \ΩpsS hym]m-cn-Iƒ ISpØ a¬kcw t\cn-Sp-∂p-≠ v.Cu

a¬kcw t\cn-Sp-hm≥klm-b-I-amb \S-]-Sn-{I-a-ß ƒ hni-Z-am-°p-I.

Our businessman have to face stiff competition in the world market. What measure will help them in
facing this competition? Explain .

(c) _nkn-\- n-\v,DS-a-ÿ ¿°v]c-am-h[nem̀w\¬IpIF∂ DØ -c-hm-ZnXzwkaq-l-

Ø nsea‰phǹm-K-ß -tfm-Sp≈ DØ -c-hm-Zn-Xz-ß ƒ \nd-th-‰msX ssIh-cn-°p-hm≥

km[y-a-√.

Business responsibility towards its owners of earning maximum profit cannot be achieved without dis-
charging its responsibility towards other sections of the society, and government is one such section.
Enlist any four responsibilities of business towards government.

(d) kaq-l-tØ mSvs]mXp-hm-bp≈ DØ -c-hm-Zn-Xz-ß ƒ \nd-th-‰msX _nkn-\- ns‚

kmaqlnI DØ -c-hm-ZnXzw ]q¿Æ-am-hp-I-bn-√.A Ø -c-Ø n-ep≈ \mevDØ -c-hm-Zn-

Xz-ß ƒ Fgp-Xp-I.

Social responsibility of business will be incomplete if it does not discharge its responsibilities towards
society in general. Enlist four such responsibilities.

6-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂v500hm°p-I-fn¬ DØ -c-sa-gp-XpI 6

Answer any one of the following questions in about 500 words:

(a) C¥ymKḧ sa‚ns‚ DZm-c-h¬°-cW \b-Ø ns‚ m̀K-ambn]e_lp-cmjv{S

Iº-\n-Iƒ°pw \ΩpsS cmPyØ v_nkn-\ v\S-Ø p-hm≥ A \p-hmZw \¬In-bn-́p-

≠ v.XnI™ tZio-b-hm-Zn-bmb \nß -fpsS kplrØ vCXns\ FXn¿°p-∂p.B

kpl r-Ø ns‚ ÿ m\Ø v\nß -fm-bn-cp-∂p-sh-¶n¬ Fß n-s\-bmW v\nß -fpsS

ho£ W w km[q-I-cn-°p-∂Xv?

Under Indiangovernmentspolicyof liberdisationmanymultinational companieshavebeenallowed todo
business in our country.Your friend as a staurch nationalist opposes them. If you are in his place how
will you prove your view point.

(b) _lp-cmjv{SIº-\n-Isf°p-dn-®p≈ \nß -fpsSkplr-Ø ns‚kwi-b-ß ƒ[o¿Ø o-

I-cn-°p-hm-\mbn_lp-cmjv{S Iº-\n-Iƒ \ΩpsSkºZvhyh-ÿ bv°v\¬Ip∂

G sX-¶nepw 4{]tbm-P-\-ß ƒ Fgp-Xp-I.

To remove your friends ambitious of about multinational companies. State any four points how MNC's
can be useful for our economy.
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(c) sXmgn-en-s\,hym]mcw,hnZKv[ sXmgn¬,DtZymKwF∂n-ß s\ Xcw-Xn-cn-°p-∂Xv

B i-b-°p-g-∏-Ø n-\nShcp-Ø p-∂p.CØ -c-Ø n-ep≈ B i-b-°p-g∏w Hgn-hm-°p-hm≥

DZm-l-cW klnXw Chhni-Zo-I-cn-°p-I.

Classifying occupation into business profession and employment is very confusing. Explain them by
giving examples to remove the confusion.

(d) C¥y-bpsShf¿®°vkẁ m-h\\¬In-bn-́p≈ I®-h-S-̨-hm-W nPytaJ-e-bn¬C¥y°v

kº-∂-ambHcpss]Xr-I-amW vD≈-Xv.C¥y≥hym]m-c-Ø ns‚ ]cn-W ma{]tXy-

I-X-Iƒhni-Z-am°nCXns\ \ymbo-I-cn-°p-I.

India has rich heritage in trade and commerce which has contributed to its growth?Justify the statement
by bringing the features of evolution of business in India.
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Krl-imkv{Xw
Home Science (216)

Syq́¿am¿°vUvA ssk≥sa‚v
Tutor Marked Assignment

]c-am-h[nam¿°v:20

Max. Marks: 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pwDØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pwA \p-h-Zn-

®n-́p≈ am¿°vtNmZy-tØ m-sSm∏w sImSp-Ø n-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsS t]cv,F≥tdmƒ \º¿,hnjbw XpS-ß nbhDØ c-°-S-em-kns‚

B Zyt]Pns‚ apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂v40-̨60hm°p-I-fn¬ Fgp-Xp-I. 2

Answer any one of the following section (a,b,c & d) in about 40-60 words.

(a) Krl-imkv{Xw Hcp]mTy-hn-jbw F∂ coXn-bn¬ \nß ƒ F¥va\-kn-em-°p∂p?

Xmsg]d-bp∂ Imcy-ß -fn¬ Krl-imkv{X ]T\w\nß sfFß s\klm-bn-°p∂p.

(i) IpSpw-_-Ø ns‚ B tcmKy]cn-]m-e\w

(ii) \nß -fpsS ]cn-ÿ nXnkwc-£ W w

(iii) IpSpw-_-Ø n-\p-th≠ nB tcm-Ky-I-c-amb £̀ -W m-kq-{XW w

(A ≤ymbw1,2,3,6,7ImW p-I)

What do you understand by ‘Home Science’ as a subject of study? How does the study of Home Science
help you with regard to:

(i) Taking care of the health of the family

(ii) Taking care of your environment

(iii) PlanningHealthymeals for the family

(Ref. lesson 1, 2, 3, 6 & 7)

(b) £̀ W w]mIwsNøp-∂-Xn\v\nß -fpsSA Ω kzoI-cn-°p∂ ]eam¿§-ß ƒ G sXm-

s°-bmW v?Xmsg]d-bp∂ Imcy-ß -fn¬ \nß -fpsSA Ωbv°vkzoI-cn-°m-hp∂ DNn-

X-amb]mN-I-coXn\n¿t±-in-°p-I.

(i) t]mj-I-ß -fpsS kwc-£ W w

(ii) {]mb-amb amXm-]n-Xm-°ƒ°p-th≠ n

(iii) Iuam-c-{]m-b-ap≈ Iṕn-°p-th≠ n

(A ≤ymbw 2,4,5ImW pI)
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List thedifferentmethodsofcookingusedbyyourmotherSuggest toyourmother theappropriatemethods
of cooking for :

(i) Conservingnutrients

(ii) For your aged grand parents

(iii) For an adolescent

(Ref. lesson 2,4,5)

(c) HcpIpSpw-_-Ø n¬ A —≥,K¿̀n-W n-bmb A Ω,aq∂phb-kmb Iṕn,{]mb-ap≈

A ΩqΩ F∂n-ß s\\mevA wK-ß -fp-≠v.CuIpSpw-_-Ø n\vHcpZnh-k-Ø n¬ th≠

Hcp̀ £ -W -hn-hc]́ nI Xøm-dm-°p-I.

(i) £̀ -W -hn-hc]́ n-I-bn¬{]kvXpX B lm-c-km-[-\-ß ƒDƒs∏-Sp-Ø m-\p≈ Imc-

W -ß ƒ Fgp-Xp-I.

(ii) \nß ƒ Xøm-dm-°nb £̀ -W -hn-hc]́ n-I-bn¬ \n∂pw G sX-¶nepw HcpB lm-

c-km-[\wXnc-s™ -SpØ vXmsg]d-bp∂ B fp-Iƒ°vtbmPn®coXn-bn¬ am‰w

hcp-Ø p-I.

 K¿̀n-W n-bmb A Ω

 {]mb-ap≈ A ΩqΩ

 aq∂phb-kmbIṕn

(A ≤ymbw 2,3, 4ImW pI)

Plan a menu for a day for a family of four members comprising of father, pregnant mother, a three year old
child and an old grand father

(i) Give reasons for inclusion of dishes in the menu

(ii) Select one dish from the menu you have drawn up and suggest how you will modify it for:

 Pregnant mother

 Old grandfather

 3-year old child

(Ref. lesson 2, 3,4)

(d) "B tcmKyw'F∂ ]Zw\n¿h-Nn-°p-I.\nß -fpsSA b¬]-°Ø vB fp-Iƒ°vFt∏mgpw

A kp-J-ß ƒ ]nSn-s]-Sp-∂p.

(i) Cukml-Ncyw D≠ m-Ip-hm-\p≈ \mevImc-W -ß ƒ Fg-Xp-I.

(ii) Cukml-Ncyw A Xn-Po-hn-°p-hm-\p≈ \mevam¿§-ß ƒ \n¿t±-in-°p-I.

(A ≤ymbw 6,7ImW p-I)

Define the term ‘health’.You have observed that the people of your neighbourhood fall ill frequently.

(i) List any four causes for this situation

(ii) Suggest four remedies to overcome this situation
(Ref. lesson 6,7)
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2. Hmtcmhǹm-K-Ø n-sebpw(a, b, c & d)G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hm°p-I-

fn¬ D-Ø -c-sa-gp-XpI 2

Answer any one of the following section (a,b,c & d) in about 40-60 words.

(a) ]I¿®-hym-[n-IfpwPohn-X-ssieotcmK-ß fpw XΩn-ep≈ hyXymkw F¥v?

(i) \nß -fpsS A b¬]-°Ø v]I¿®-hym-[n-Iƒ ]I-cp-∂XvXS-bp-∂-Xn-\p≈ c≠ v

am¿§-ß ƒ \n¿t±-in-°p-I.

(ii) Pohn-X-ssi-eo-tcm-K-ß ƒ XS-bp-∂-Xn\v\nß -fpsS IpSpw-_-Ø n-\p-th≠ am¿§-

\n¿t±-i-ß ƒ \¬Ip-I.

(iii) tcmKn-I-fpsS]cn-]m-e-\-Ø n¬\nß ƒ°v\nß -fpsS{]tZ-isØ A [n-Im-cn-Isf

Fß s\ Dƒs∏-SpØ mw?

(A ≤ymbw 8,11ImW pI)

Differentiate between communicable and life style diseases

(i) Suggest two ways by which you can help in preventing the spread of communicable diseases,
in your neighbourhood.

(ii) Guide your family about ways to prevent life style diseases.

(iii) How can you involve the local authorities in taking care of the ill?

(Ref. lesson 8, 11)

(b) \nß -fpsSktlm-Z-cn°vIpSpw-_-Ø n-\p-th≠ hkv{X-ß ƒhmß p-∂-Xn\vhfscsNdnb

HcpXpItbNne-hm-°p-hm≥km[n-°pI-bp-≈q.Xmsg]d-bp∂ Imcy-ß -fn¬ Nne-hp-

Iƒ B kq-{XW w sNøp-tºmƒkzoI-cn-°m-hp∂ am¿§-ß ƒ \n¿t±-in-°p-I.

(i) hkv{X-ß ƒ hmß p-tºmƒ

(ii) hkv{X-ß -fpsS ]cn-N-cW w

(iii) CuImcy-ß -fn¬ B h-iy-ambhǹ-h-ß ƒ {Iao-I-cn-°p-I.

(A ≤ymbw9,10,11,14ImW pI)

Your sister has a very small amount to spend on clothing for the family. Suggest ways to help her in
planning her expenses while:

(i) Purchasing of clothes

(ii) Care and maintenance

(iii) List the resources she can use to achieve this.

(Ref. lesson 9,10,11,14)

(c) \nß -fpsS ktlm-Z-c≥ Xs‚ ]pXnb hoSn\vÿ ew Xnc-s™ -Sp-°p-tºmƒ {i≤n-

t°≠ Imcy-ß ƒ Fs¥m-s°-bm-W v.]pXnbhón¬ Xmsg]d-bp∂ Imcy-ß ƒ Dd-

∏m-°p-∂-Xn\vA t±-l sØ klm-bn-°p-I.
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(i) kpc-£ n-XXzw

(ii) hónsehnhn[{]h¿Ø -\-ß ƒ°vth≠ ÿ ew

(iii) km[-\-ß ƒ kq£ n-°p-∂-Xn-\p≈ ÿ ew

(A -≤ymbw9,10,11,14ImW p-I)

List the points your brother needs to keep in mind while selecting a site for his new home. Help him to plan
his new home to ensure

(i) Safety

(ii) Space for various activities at home

(iii) Space for storage

(Ref. lesson 9,10,11,14)

(d) "hǹ-h-ß ƒ' \n¿h-Nn-°p-I.Xmsg]d-bp∂ Imcy-ß -fn¬ \nß ƒ D]-tbm-Kn-°p∂

hǹ-h-ß ƒ {Iao-I-cn-°p-I.

(i) hón¬ B h-iy-ambI¿́-\p-Iƒ hmß p-∂-Xn\v

(ii) IpSpw-_-Ø n¬ £̀ W w ]mNIw sNøp-∂-Xn\v

(iii) HcptUmIvS¿B Ip-∂-Xn\v

(A -≤ymbw12,14ImW p-I)

Define the term ‘Resource’. List the resources your will use in the following situations;

(i) Purchasing of curtains for your home

(ii) Cooking meals for your family

(iii) To become doctor

(Ref. lesson 12, 14)

3. Hmtcmhǹm-K-Ø n-sebpw G sX-¶nepw HcptNmZy-Ø n\v40-̨60hm°p-I-fn¬ DØ -c-sa-gp-XpI 2

Answer any one of the following section (a,b,c & d) in about 40-60 words.

(a) \nß -fpsS tPmen-°m-cn-bmb A Ω hnPbw {]m]n-°p-∂-Xn\vG sXms° hǹ-h-ß -

fmW v\∂mbn\n¿h-ln-t°-≠ Xv.Xmsg]d-bp∂ Imcy-ß -fn¬ A Ωsb klm-bn-

°p-∂-Xn\vam¿K-ß ƒ \n¿t±-in-°p-I.

(i) ka-bhpw Du¿÷hpw \n¿∆-lW w sNøpI

(ii) tPmen-ÿ -eØ vhnPbw {]m]n-°p-∂-Xn\v]men-t°≠ k∑m¿§n-I-X-Iƒ

(A ≤ymbw15,16,17ImW pI)

What three resources does your working mother needs to manage well to be successful. To help her

(i) Suggest some ways to manage time and energy.

(ii) The ethics she needs to observe to be successful at her work place.

(Ref. lesson 15,16,17)
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(b) \nß -fpsS ktlm-ZcnB ZysØ Iṕnsb K¿̀w [cn-®n-cn-°p-∂p.Xmsg]d-bp∂

Imcy-ß -fn¬ am¿§-\n¿t±-i-ß ƒ \¬Ip-I.

(i) Iṕn-bpsShnIm-ksØ kzm[o-\n-°p∂ L S-I-ß ƒ

(ii) ape-bq-́-ens‚ KpW -ß ƒ

(A ≤ymbw17,18ImW pI)

Your sister is expecting her first child. Guide her about the following.

(i) Factors influencing the development of her child.

(ii) Advantages of breast feeding.

(Ref. lesson 17,18)

(c) 16 hb-kp≈ ctajvIpSpw-_-Ø nepw Iq́p-Im-cpsS CS-bnepw Xosc]cn-Nn-X-\-√.

B scbpw CjvS-s∏-Sp-∂p-an-√.

(i) CXn-\p≈ \mevImc-W -ß ƒ Fgp-Xp-I.

(ii) cta-in\vIpSpw-_-Ø nepwIq́p-Im-cpsSCS-bnepwF√m-h-cp-ambntN¿∂p-t]m-Ip-

hm≥aq∂vam¿§-ß ƒ \n¿t±-in-°p-I.

(A ≤ymbw18,19ImW pI)

Ramesh a 16 year old and is not popular and liked by his family and friend.

(i) List any four reasons for this

(ii) Suggest three ways to help him get along with his friends and family.

(Ref. lesson 18, 19)

(d) ]pXn-b-Xmbnhnhml wIgn™ \o\ m̀cyF∂ \ne-bn¬ hnP-bn-°p-∂-Xn\vhfsc

{i≤m-ep-hm-W v.Xmsg]d-bp∂ Imcy-ß -fn¬ \o\bv°vB h-iy-ambam¿§-\n¿t±-i-

ß ƒ \¬Ip-I.

(i) ]pXnb IpSpw-_-hp-ambntN¿∂p-t]m-Ip-∂-Xn\v

(ii) ]pXnbhón-te°vB h-iy-ambkm[-\-ß ƒ hmß p-∂-Xn\v

(A -≤ymbw19,22ImW p-I)

Neena a newlywed is keen to be a successful house wife. Guide her about:

(i) Adjusting to her new family

(ii) Purchasing items for her new home

(Ref. lesson 19, 22)

4. XmsgsImSp-°p∂ 4tNmZy-ß -fn¬ G sX-¶nepw H∂n\v40-̨60hm°p-I-fn¬ DØ -c-sa-gp-Xp-I.

Answer any one of the following section (a,b,c & d) in about 40-60 words.

(a) \nß -fpsSA Ωm-h\v{]ta-lhpwDb¿∂ c‡ -k-Ω¿±hpwD≠ v.\nß -fpsSA Ωbv°v

Ft∏mgpw A Xn-kmcw,Pe-tZm-jv,NpaF∂n-h-bp-ap-≠v.
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(i) Cu{]iv\-ß -fpsS Imc-W -ß fpw A h\nb-{¥n-°p-hm-\p≈ am¿§-ß fpw Is≠-Ø p-I.

(ii) Chscklm-bn-°p-∂-Xn\v\nß -fpsSIpSpw-_-Ø nseB lmccoXn-I-fnepwa‰v

Imcy-ß -fnepwkzoI-cn-°m-hp∂ efn-X-ambam‰-ß ƒ \n¿t±-in-°p-I.

(A ≤ymbw 2,3,4,7,8ImW pI)

Your uncle is diabetic and suffers from high blood pressure also.Your mother often suffers from diarrhoea,
cold and cough.

(i) Identify the causes of these problems and suggest measures to control them.

(ii) Suggest some simple dietary and other changes your family can adopt in the home to help them.

(Ref. lesson 2,3,4,7,8)

(b) {Kma-Ø n¬ Xma-kn-°p∂ \nß -fpsSapØ »n\nß -fpsS A Ωbv°v10IntemhoXw

Dcp-f-In-g-ß v,X°m-fn,]okvF∂nhsImSp-Ø -b-®n-cn-°p-∂p.Ch-tbm-tcm∂pwkq£ n-

°p-∂-Xn-\p≈ Imem-h-[n-b-\p-k-cn®vChsbXcwXncn-°p-I.Ch m̀hn-bn-te°vkq£ n-

°p-∂-Xn\v\nß -fpsS A Ωbv°vCh-bpsS £̀ W ]cn-c-£ W coXn\n¿h-ln-°p-

∂XvFß -s\-sb∂va\- n-em-°n-s°m-Sp-°p-I.

(A ≤ymbw 5 ImW pI)

Your grandparents who live in a village and have sent your mother 10 Kg. each of potatoes, tomatoes and
peas. Classify them according to their shelf life. Guide your mother to preserve these for use in future
along with procedures for preservation.

(Ref. lesson 5)

(c) \nß -fpsS {]tZ-isØ sh≈-Ø ns‚ ]cn-tim-[-\-bn¬ A Xvaen-\-am-sW ∂vIs≠-

Ø p-I-bp-≠m-bn.

(i) Pe-a-en-\o-I-c-W -Ø ns‚Dd-hnSwIs≠ Ø nA Xv\nb-{¥n-°p-∂-Xn\vkm[y-amb

]cn-lmcw Is≠-Ø p-I.

(ii) CXv\nb-{¥n-®n-s√-¶n¬ \nß -fpsS {]tZ-iØ vt\cn-tS-≠ n-h-cp∂ {]iv\-ß ƒ

Fs¥m-s°-bmW v?

(iii) Pe-a-en-\o-I-c-W -Ø ns‚{]iv\-ß ƒ\nb-{¥n-°p-∂-Xn\v\nß ƒkam-l-cn-t°≠

hǹ-h-ß ƒ Fs¥m-s°-bmW v?

(A ≤ymbw 6,7ImW pI)

The testing of water samples of your locality reveals that it is highly contaminated.

(i) Find out the sources of water contamination and suggest possible solution to control them.

(ii) What are the problems your locality may face if this is not controlled?

(iii) What are the resources you need to mobilize to control the problem of water contamination?

(Ref. lesson 6,7)
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(d) \nß -fpsSj¿́vIgp-In-b-Xn-\p-tijw A Xns‚ \ndwaß n-b-XmbnImW -s∏-Sp-∂p.

(i) Cut]mcm-bva-I-fpsS Imc-W -ß ƒ Fgp-Xp-I.

(ii) Cu{]iv\-ß ƒ ]cn-l-cn-°p-∂-Xn\vam¿§-ß ƒ \n¿t±-in-°p-I.

(A ≤ymbw9,10,11ImW pI)

The colour of your shirt has faded and it has become limp after washing.

(i) List the causes for these defects.

(ii) Suggest remedies to rectify these problems.

(Ref. lesson 9, 10,11)

5. Xmsg]d-bp∂ hǹm-K-ß -fn¬ G sX-¶nepw H∂n\v40-̨60hm°p-I-fn¬ DØ -c-sa-gp-Xp-I. 4

Answer any one of the following section (a,b,c & d) in about 40-60 words.

(a) \nß -fpsS ktlm-ZcnXs‚ Hcphb- mb aI-\p-ambn\nß -fpsS IqsS Xma-kn-

°m≥ hcp-∂p.A h¿°p-th≠ nXmsg]d-bp∂ Imcy-ß -fn¬ Fs¥ms° {Iao-I-c-

W -ß -fmW v\nß ƒ sNtø-≠-Xv.

(i) kpc-£ n-XXzw

(ii) ÿ ehpwka-bhpw

(iii) £̀ -W hpw B tcm-Kyhpw

(A -≤ymbw13,15,16,18,19ImW p-I)

Your sister with her one year old son is coming to stay with you. What arrangements you will need to
make with regards to

(i) Safety

(ii) Space and time

(iii) Food and health

(Ref. lesson 13,15,16,18,19)

(b) HcpIS\S-Ø p∂ \nß -fpsS A —s\\nß -fpsSkaq-l-Ø nsekwc-£ W kwL -

S-\-bpsS {]kn-U‚mbnXnc-s™ -Sp-Ø n-cn-°p-∂p.

(i) Hcp\√IS\S-Ø n-∏p-Im-c≥F∂ \ne-bn¬ A t±l w]men-t°≠ aqey-ß fpw

k∑m¿§n-I-X-Ifpw Fgp-Xp-I.

(ii) Xs‚ kaq-l-Ø nseB fp-Isf\√ D]-t̀m-‡ m-°-fm-°p-∂-Xn\vth≠ am¿§-

\n¿t±-i-ß ƒ \¬Ip-I.

(A ≤ymbw 21,22ImW pI)

Your father is a shopkeeper and has been elected the president of your society’s welfare association

(i) List the values and ethics he must follow to be a good shopkeeper

(ii) Guide him to help to educate the people of society to be good consumers
(Ref. lesson 21, 22)
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(c) \nß -fpsS{]mb-ambB ‚n,Zo]m-h-en-°p-th≠ nXs‚hoSvip≤o-I-cW w\S-Ø p-∂-

Xn\v\nß -tfmSvklmbw A t]-£ n-°p-∂p.

(i) CXn-\p-th≠ n\nß ƒ sNtø≠ ]e{]h¿Ø -\-ß ƒ Fgp-Xp-I.

(ii) ip≤o-I-c-W -Ø nepw]mN-I-Ø nepwka-bhpwDu¿÷hpwkwc-£ n-°p-∂-Xn-\p≈

Ffp-∏-h-gn-Iƒ

(A ≤ymbw12,15 ImW pI)

Your old aunty has requested you to help spring clean her house for Diwali.

(i) List the different activities you will be required to undertake for this.

(ii) Tips to conserve time and energy for cleaning and cooking
(Ref. lesson 12,15)

(d) civanDSs\ hnhm-ln-X-bm-hm≥ t]mIp-∂p.Xmsg]d-bp∂ Imcy-ß -fn¬ A hƒ°v

th≠ am¿§-\n¿t±-i-ß ƒ \¬Ip-I.

(i) IpSpw-_-Ø n-ep≈ a‰p-≈-h-cp-ambnB tcm-Ky-I-c-amb_‘ whf¿Ø n-sb-Sp-°p-

∂-Xn\vA hƒ sNtø≠ Imcy-ß ƒ

(ii) IpSpw-_-Ø n-ep≈ a‰p-≈-h-cp-ambnB tcm-Ky-I-c-amb_‘ whf¿Ø n-sb-Sp-°p-

∂-Xn\vA hƒ Hgn-hmt°≠ Imcy-ß ƒ

(A ≤ymbw19,20ImW pI)

Rashmi is to be married soon. Guide her about -

(i) What she should do to develop healthy relationships in the family.

(ii) What things she should avoid to ensure healthy relationships in the family.

(Ref. lesson 19, 20)

6. XmsgsImSp-°p∂ \mse-Æ-Ø n¬ Hsc-Æ-Ø n\vt{]mPIvSvXøm-dm-°p-I 6

Make any one project out of the four listed below

(a) \nß -fpsS A Ωbv°vHcpamk-tØ °vHcpXo¿∞ -bm{X t]mtI-≠-Xp-≠ v.A Ω

hón-en-√mØ kml-N-cy-Ø n¬ A —s‚Cfbktlm-Z-c≥,apØ -—≥,apØ »nF∂n-

h-cpsS DØ -c-hm-ZnXzw G s‰-Sp-Ø p-sIm≠ vHcp]≤XnXøm-dm-°p-I.

(i) hǹ-h-ß -fpsS \n¿∆-lW w

(ii) £̀ -W -hn-h-c-]-́nI Xøm-dm-°epw ]mN-Ihpw

(iii) tcmKn-bmbapØ -»n-bpsS]cn-N-cW w

(iv) Iuam-c-°m-c-\mbktlm-Z-cs\]T-\-Ø nepwkvIqƒ tPmen-I-fnepwklm-bn-°p-I.

(v) Znh-tk-\-bp≈ ip≤o-I-c-W hpwkq£ n-°epw

(vi) tdj≥ hmß n-°pI

(A ≤ymbw2,3,4,7,12,14,15,16,20,22ImW pI)
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Your mother has to go on a pilgrim and will be away for a month. You are required to take care of your
father, younger brother, grandparents in her absence. List your plan for:

(i) Management of resources

(ii) Meal planning and cooking

(iii) Taking care of your ill grandmother

(iv) Helping with your adolescent brother with his education and school work.

(v) Daily cleaning and keep up

(vi) Purchasing of rations

(Ref. lesson 2,3,4,7,12,14,15,16,20,22)

(b) 19hb- p-≈,K¿̀n-W n-bmb \nß -fpsS ktlm-Zcn{]khw hsc\nß -fpsS IqsS

Xma-kn-°p-∂p.Xmsg]d-bp∂ Imcy-ß -fn¬ th≠ am¿§-\n¿t±-i-ß ƒ \¬Ip-I.

(i) sNdnb {]mb-Ø n¬ K¿̀w [cn-®m-ep≈ A ]-I-S-ß ƒ

(ii) aq∂m-a-sØ ss{Sa-Ã-dn¬ Ip™ ns‚ hnImkw

(iii) A hƒ ]men-t°≠ B tcmKykwc-£ W w

(iv) kpJ-{]-k-h-Ø n\pw{]k-h-Ø n-\p-ti-j-ap≈ ]cn-N-c-W -Ø n-\pw-th≠ n\S-tØ ≠

{Iao-I-c-W -ß ƒ

(v) c≠m-asØ Iṕn-bm-Ip-∂-Xn\vapºvkzoI-cn-t°≠ IpSpw-_m-kq-{XW coXn-Iƒ

(vi) A hƒ°pw Ip™ n-\pw-th≠ nXøm-dm-t°≠ hkv{X-ß ƒ

(A ≤ymbw2,7,10,17,18,20,22ImW pI)

Your 19 year old sister is seven month pregnant and will be staying with you till the delivery of the baby.
Guide her about

(i) The dangers of pregnancy in young age

(ii) The development of the baby during the last trimester

(iii) The health care she needs to follow

(iv) The arrangements that need to be made for the safe delivery and post natal care.

(v) Family planning method she can follow to help space the second child

(vi) Clothes she needs to purchase for herself and the baby.

(Ref. lesson 2,7,10,17,18,20,22)

(C) eX HcpIq́p-Ip-Spw-_-Ø n¬ A h-fpsS ktlm-Z-c≥,amXm-]n-Xm-°ƒ,A Ωm-h≥,

B ‚n,A h-cpsS c≠ va°ƒ F∂n-h-scmØ vXma-kn-°p-I-bm-W v.A h-fpsS A —≥

Hcp_nkn-\-kp-Im-c-\m-W v.A Ωm-h\pwB ‚nbpwA [ym-]-I-cm-W v.apØ -—≥tPmen-

bn¬ \n∂pwCt∏mƒhnc-an-®-bm-fm-W v.Ch-cpsSIpSpw-_-h-cp-am\wXmsg]d-bp∂p:
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1- A —s‚ hnl nXw Rs. 15,000,00.00

2- A ¶nƒ,B ‚nhnl nXw Rs. 15,0000.00

3-apØ -—s‚ hnl nXw Rs. 3,500.00

B sI Rs. 33,500.00

(i) hónseHmtcmA wK-Ø n\pwDØ -c-hm-ZnXzwsImSp-t°≠ hóp-Im-cy-ß ƒ\n¿t±-

in-°p-I.

(ii) IpSpw-_-Ø n\vD≈ hcp-am\w icn-bmbcoXn-bn¬ D]-tbm-Kn-°p-∂-Xn\vHcp

IpSpw_ _UvP‰vXøm-dm-°p-I.

(iii) IpSpw-_-Ø ns‚hcp-am\wIq́p-∂-Xn\v\nß ƒ°pw\nß -fpsSA Ωbv°pwsNøm-

hp∂ {]h¿Ø -\-ß ƒ Fgp-Xp-I.

(iv) IpSpw-_-Ø n-\p-th≠ Hcps]cp-am-‰-N ẃ Xøm-dm-°p-I

(v) amen-\y-ß ƒ Ipd-bp-∂-Xn-\p≈ am¿§-ß ƒ \n¿t±-in-°p-I

(vi) èy-ambhǹ-h-ß -fpsSicn-bmbhn\n-tbmKwDd-∏m-°p-∂-Xn\vam¿§-ß ƒ\n¿t±-

in-°p-I.

(A ≤ymbw1,4,5,6,7,9,12,13,14,15,16,21,22 ImW pI)

Lata lives in a joint family with her brother, parents, grandparents, uncle, aunt and two cousins. Her father
is a business man and her uncle and aunt are teachers. Her grandfather has just retired. The family’s
monthly income is as under:

(i) Father contribution Rs. 15,000.00

(ii) Uncle and aunt contribution Rs. 15,000.00

(iii) Grandfather contribution Rs. 3,500.00

Total Rs. 33,500.00

In order to run the home efficiently

(i) Suggest the household activities that each member can be made responsible for

(ii) Draw up a budget for the family for effective utilization of money available

(iii) List the activities you and your mother could undertake to add to the income of the family

(iv) Make a code of conduct for the family to follow

(v) Suggest methods of preventing waste

(vi) Suggest methods to ensure proper utilization of available resources.

(Ref. lesson 1,4,5,6,7,9,12,13,14,15,16,21,22)

(d) \nß -fpsSkvIqfn¬ HcmgvN "B tcm-Ky-ap≈ ]uc-∑m¿'F∂ t]cn¬ B N-cn-°-bm-

W v.\nß ƒ \nß -fpsS A b¬]-°Ø vHcpt_m[-h¬°-cW ]cn-]mSnkwL -Sn-∏n-

°p-∂-Xn\vB h-iy-s∏-́n-cn-°p-∂p.
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(i) Hcm-gvN-tØ °vth≠ {]h¿Ø -\-ß -fpsS Hcp]≤XnXøm-dm-°p-I.

(ii) \nß -fpsS F√m{]h¿Ø -\-ß ƒ°pw th≠ Hcp_UvP‰vXøm-dm-°p-I.

(iii) \nß -fpsS IpSpw-_w,kaq-l w,{]mtZ-inI A [n-Im-cn-Iƒ F∂n-h-sc-sbms°

G sXms° coXn-bn¬ Dƒs∏-Sp-Ø mw.

(iv) £̀ -W w,ipNnXzwF∂oImcy-ß -fn¬ HcpB tcmKyhnZym-̀ym-k-Ø n-\p≈ ]≤Xn

Xøm-dm-°p-I.

(v) ]cn-ÿ nXn]cn-]m-e-\-Ø n¬ Hcp]≤XnXøm-dm-°p-I.

(vi) ]cn-]m-Sn-bpsSZo¿L-Ime\S-Ø n-∏n\vklm-b-I-c-ambam¿§-ß ƒIs≠-Ø p-I.

(A ≤ymbw 2, 3, 6, 7, 8, 12, 15, 19 ImW pI)

Your school is planning to hold a “Healthy Citizens” week in the school.You have been asked to plan an
awareness programme for your neighbourhood.

(i) Develop a list of activities you will plan for the week

(ii) Draw up a budget for all your activities

(iii) List the ways you will involve your family, community and the local authorities

(iv) Make a plan for health education on food and hygiene

(v) APlan forenvironmentmanagement

(vi) Methods for creating long term support for the programme.

(Ref. lesson 2,3,6,7,8,12,15,19)
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a\-imkv{Xw
Psychology

(222)
Syq́¿am¿°vUvA ssk≥sa‚v

Tutor Marked Assignment

]c-am-h[nam¿°v:20
Max. Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pwDØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pwA \p-h-Zn-

®n-́p≈ am¿°vtNmZy-tØ m-sSm∏w sImSp-Ø n-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsS t]cv,F≥tdmƒ \º¿,hnjbw XpS-ß nbhDØ c-°-S-em-kns‚

B Zyt]Pns‚ apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1-Xmsg]d-bp-∂-h-bn¬ G sX-¶nepw HcptNmZy-Ø n\v40-̨60hm°p-I-fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

a) a\p-jy-cpsS s]cp-am-‰sØ Sn.hnF{X-tØ mfw kzm[o-\n-°p∂pF∂-Xn-s\-Ip-dn®v

Hcp]T\w \S-Ø m≥ \nß ƒ Dt±-in-°p-∂p.A Xn-\mbn]Ø vtNmZy-ß -fp≈ Hcp

tNmZym-henXøm-dm-°p-I. (A ≤ymbw 2ImW pI)

You want to study the effects of television on human behaviour. Prepare a questionnaire of ten questions

to find out about this impact. (See lesson 2)

b) am\-knI {]mbw10Dw imco-cnI {]mbw9Dw D≈ HcpIṕn-bpsS I.Q(_p-≤n-kq-N-

Iw)I≠ p-]n-Sn-°pI

(A ≤ymbw 20ImW pI)

Find out the I.Q of the person whose mental age is 10 yrs. and chronological age is 9 yrs.

(See lesson 20)

c) sXmgn¬ èn-°p-∂-Xn\vB h-iy-amb\mevs]mXpB h-iy-I-X-Iƒ \n¿t±-in-°p-I.

(A ≤ymbw 20ImW pI)

Suggest any four general requirements for a vocation/Job. (See lesson 20)

d) Hm̂ okvkml-N-cy-ß -fn¬ D]-tbm-Kn-°m-hp∂ sskt°m-f-Pn-bpsS \mev{]tbm-K-

ß ƒ Fgp-Xp-I. (A ≤ymbw 11ImW pI)

Suggest any two applications of psychology in an office setup. (See lesson 11)
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2-Xmsg]d-bp∂ G sX-¶nepw HcptNmZy-Ø n\v40-̨60hm°p-I-fn¬ DØ -c-sa-gp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

a) amt\-Pvsa‚nseD∂-Xm-[n-Im-cn-Iƒ IogvPo-h-\-°m¿°vIqSp-X¬ {]m[m\yw \¬I-

W -sa∂vDt±-in-°p-∂p-sh-¶n¬ kzoI-cn-°m-hp∂ L S-\sb Ipdn®vhna¿i-\m-fl-I-

ambn{]Xn-]m-Zn-°p-I. (A ≤ymbw 22ImW pI)

If the top management feels the need to give greater emphasis to the subordinates, comment on the

structure to be followed. (See lesson 22)

b) ]cn-ÿ n-Xn-bn¬ \n∂vHcpÿ m]-\-Ø n-te°v\nt£ -]n-°-s∏-Sm-hp∂ c≠ vDZm-l-c-

W -ß -sf-gp-XpI (A ≤ymbw 22ImW pI)

Give two examples of input from the environment in an organization. (See lesson 22)

c) s]mXp-ÿ -e-ß -fn¬ P\-ß ƒ s]cp-am-dp-∂-Xns\Ipdn®vImW -W -sa-¶n¬,G XpXc-

Ø n-ep≈ ho£ W coXn-bmhpw \nß -fp-]-tbm-Kn-°pI?G sX-¶nepw HcpImc-W -k-

lnXw hy‡ -am-°p-I. (A ≤ymbw 2ImW pI)

If you want to see how people behave in a public place, what type of observation will you use. Give one

reason for your answer. (See lesson 2)

d) {Iam-\p-K-X-ambcoXn-bpsSkzm[o\wanX-Xz-Ø n-em-°m≥ G XvXc-Ø n-ep≈ X{¥-

amW vklm-b-I-am-hpI? (A ≤ymbw 2ImW pI)

To minimise the effect of order, which technique will be helpful? (See lesson 2)

3-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepwH∂n\v40-̨60hm°p-I-fn¬ DØ -c-sa-

gp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

a) tIkvÃUn-bpsS c≠ vt]mcm-bva-Iƒ Fgp-Xp-I. (A ≤ymbw 2ImW pI)

Suggest any two disadvantages of case study method. (See lesson 2)

b) hmbp-a-en-\o-I-c-W sØ \nb-{¥n-°m≥ c≠ vam¿§-ß ƒ Fgp-XpI

(A ≤ymbw 23ImW pI)

Suggest any two ways to control air pollution. (See lesson 23)

c) sXmgn¬ Xnc-s™ -Sp-°p-tºmƒ IqSp-X¬ {]m[m\yw A ¿l n-°p-∂XvG Xn-\m-W v̨

(Xm¬]cyw A YhmA ǹ-cp-Nn) (A ≤ymbw 3ImW pI)

Which is more important while making a career choice- interest or aptitude? (See lesson 3)

d) Hcphy‡ n°vkz¥w sXmgn-en¬ A h-\-hs‚ I¿Ø -hy-sØ -°p-dn®vt_m[-hm-\m-

hp-∂n-s√-¶n¬,A Xns‚ ]cn-W nX êw F¥m-bn-cn°pw?A XvF{]-Imcw A dn-b-

s∏-Sp∂p?

If a person is not clear about his/her role in the job, what can be the consequence and what is it called?
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4-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂n\v100-̨150hm°p-I-fn¬ DØ -c-

sa-gp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

a) A \p-tbm-Py-amb sXmgn¬ Xnc-s™ -Sp-°p-∂-Xn\vDX-Ip∂ 4hgn-Iƒ \n¿t±-in-°p-I.

(A ≤ymbw 20ImW pI)

Suggest any four steps for making a good career choice. (See lesson 20)

b) Xmsg]d-bp∂ coXn-bn-ep≈ t\XrXzcoXn-Iƒ ]n≥Xp-S-cp-I-bm-sW -¶n¬ sXmgn-em-

fn-I-fp-am-bp≈ _‘ w G XvcoXn-bn-em-bn-cn°pw?

(A ≤ymbw 22ImW pI)

(a) ta[m-hnXzw

(b) c£ m-I¿Ø rXzw

(c) A ǹ-{]m-b-am-cm-b¬

(d) ]¶m-fnØ w

What will be the nature of relationship of the workers if you follow the following leadership styles
at the work place– (See lesson 22)

(a) Authoritarian

(b) Paternalistic

(c) Consultative

(d) Participative

c) sXmgn-en¬ Dev]m-Z\wh¿≤n-∏n-°m-\p≈ \mevam¿§-ß ƒ Is≠-Ø p-I.

(A ≤ymbw 22ImW pI)

Examine any four strategies for developing productivity at work. (See lesson 22)

d) \nXy-Po-hn-X-Ø n¬ a\-im-kv{X-Ø ns‚ \mev{]tbm-K-ß ƒ \n¿t±-in-°pI

(A ≤ymbw1ImW pI)

Suggest any four application of psychology in our day to day life. (See lesson 1)

5-XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ G sX-¶nepw H∂n\v100-̨150hm°p-I-fn¬ DØ -c-

sa-gp-XpI 4

Answer any one of the following questions in about 100–150 words.

a) A \p-Iqekml-N-cy-ß ƒkrjvSn-°m≥ Hcphy‡ n°vFs¥√mw\¬Im≥km[n-

°pw.\mevam¿§-ß ƒ \n¿t±-in-°p-I. (A ≤ymbw 23ImW pI)

How one can contribute for better environment. Suggest any four ways. (See lesson 23)
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b) Hcp\√ÿ m]\Imem-hÿ krjvSn-°p-∂-Xn\v4coXn-Iƒ \n¿t±-in-°p-I.

(A ≤ymbw 22ImW pI)

Suggest any four ways of developing a good organizational climate. (See lesson 22)

c) ""B tKm-f-Xm-]\wA ¥-co-£ -Ø n\vHcp̀oj-W n-bmW v''˛̨Cu{]kvXm-h-\sb\mev

Imc-W -ß ƒ \¬Inkm[q-I-cn-°p-I. (A ≤ymbw 23ImW pI)

"Global warming is a threat to the environment."Analyze the statement with the help of four reasons.
(See lesson 23)

d) B {inX Nc-Ø n-\pw,kzX{¥ Nc-Ø n\pw HmtcmDZm-l-c-W -ß ƒ Fgp-Xp-I.

Give one example each for dependent and independent variable.

6-XmsgsImSp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepw H∂n-s\-°p-dn®vHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the four given below :

a) HcpsXmgn¬ÿ m-]\w kµ¿in®vA hn-SpsØ Dev]m-Z\w IqSp-X¬ B °p-I-bpw,

sXmgn¬ sshZKv[yw{it≤-b-am-hp-∂-Xn\pwD≈ am¿§-ß sfIpdn®v]T\w\S-Ø p-

Ibpw 200hm°p-I-fn¬ Ipd-bmsX Hcpdnt∏m¿́vXøm-dm-°p-Ibpw sNøp-I.

Visit a work place and try to study the strategies to develop productivity and excellence at work area in

any organisation and prepare a report in about 200 words.

b) Xmsg]d-™ n-cn-°p∂ DtZym-K-ß -fn¬ D≠ m-Im-hp∂ tPmen-km-[y-X-Isf]‰nA dn-

bp-∂-Xn-\p-th≠ nHcpA ǹ-apJw\S-Ø p-I.DZm:(a){]mb-]-cn-[nsbap≥\n¿Ø n,(b)

kv{Xǫ-]p-cpjhǹ-P-\sØ ap≥\n¿Ø n,(c) ùXn-I-ambkm[y-X-Isfap≥\n¿Ø n,

(d) hnZym-̀ym-khpw]cn-io-e-\hpw XΩn-ep≈ _‘ sØ A Sn-ÿ m-\-s∏-Sp-Ø n.

(i) F© n-\o-b¿ (ii) tUmIvS¿ (iii) A ≤ym-]nI (iv) h°o¬

Interview any of the following professional to know about their job requirements e.g., age requirement,

gender requirement, physical requirement and educational and training requirements:

(i) Engineer (ii) Doctor (iii)Teacher (iv) Lawyer

c) sXmgn¬ B h-iy-I-Xsb Ipdn®vhni-I-e-\-hpw,B i-b-hn-\n-a-bhpw \S-Ø p-∂-Xv

\nß sfFß s\kzm[o-\n°pw?\nß -fpsSImgvN-∏mSv200hm°p-I-fn¬ Ihn-bmsX

hni-Zo-I-cn-°p-I.

What is the effect on you of analysing and communication of job requirements? Describe in 200 words of

your views.

d) hy‡ n°vA \p-tbm-Py-amb tPmen°vth≠ {]tXyI ]cn-io-e\w Xcp∂ G sX-

¶nepw c≠ v]cn-io-e\ tI{µ-Ø n-tem,A Xp-ambn_‘-s∏´kwL -S-\-bntem

kµ¿i\w\S-Ø p-I.ta¬]-d-™ -Xns\imkv{Xo-b-ambnho£ n®v200hm°p-I-fn¬

Ihn-bmsX Hcpdnt∏m¿́vXøm-dm-°p-I.

Visit any two of special training institutes/organisations which provide special training and prepare a per-
son for proper job. Observe them scientifically and prepare a report of 200 words.
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m̀c-XobkwkvIm-chpw ]mc-º-cyhpw

Indian Culture and Heritage

(223)

Syq́¿am¿°vUvA ssk≥sa‚v
Tutor Marked Assignment

]c-am-h[nam¿°v:20

Max. Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pwDØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pwA \p-h-Zn-

®n-́p≈ am¿°vtNmZy-tØ m-sSm∏w sImSp-Ø n-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsS t]cv,F≥tdmƒ \º¿,hnjbw XpS-ß nbhDØ c-°-S-em-kns‚

B Zyt]Pns‚ apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ \mevtNmZy-ß -fn¬ G sX-¶nepwHsc-Æ-Ø n\v40-̨60hm°p-I-fn¬DØ cw

Fgp-XpI 2x1=2

Answer any one of the following questions in about 40-60 words.

a) C¥y-bnse\K-c-kw-kvIm-c-ß sfkw_-‘ n®v\ap°vèn® A dn-hp-I-fn¬ H∂m-a-

tØ -XmW vlmc-∏≥kwkvImcw F∂v\ap°vF{]-Imcwa-\- n-em°mw?

(A ≤ymbw 3ImW pI)

How do we know that the Harappan Civilization is the first known urban culture of India?

(See lesson 3)

b) C¥y≥ kwkvIm-c-Ø n¬ t]¿jy≥ B {I-a-W -Ø ns‚ A \-¥c^ew F¥m-bn-

cp∂p? (A ≤ymbw 3ImW pI)

What was the impact of Persian invasion on Indian culture? (See lesson 3)

c) P\-ß -fpsS CS-bn¬ kmaq-lnI ISaF∂ HcpNn¥ D≠ m-Ip-∂-Xn\vA tim-I-

[¿Ωw F{]-Imcw Imc-W -ambn? (A ≤ymbw 3ImW pI)

How didAshoka’s policy of Dhamma bring a feeling of social responsibility among the people.
(See lesson 3)

d) Kp]vX c̀W Ime-L -́-Ø nsekmwkvIm-cnI ]ptcm-KXnF{]-Imcw B bn-cp∂p?

(A ≤ymbw 3ImW pI)

What were the cultural developments during the Gupta Period?
(See lesson 3)

2. XmsgsImSp-Ø n-cn-°p-∂-Xn¬ G sX-¶nepwH∂n\v40-̨60hm°p-I-fn¬ DØ cwFgp-Xp-I.2x1=2

Answer any one of the following in about 40-60 words each.
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a) a≤y-ImeC¥y-bnsetdmUvKXm-KX \n¿Ωm-W -ß -fn¬ sj¿jm-kqcn(sj¿jm

N{I-h¿Ø n)bpsS apJy-kw-̀m-h-\-Iƒ G sXms° B bn-cp∂p?

(A ≤ymbw 4ImW pI)

What were the major contributions of Sher Shah Suri in constructing roads in medieval India?
(See lesson 4)

b) sU ¬l nkp¬Ø m-∑m-cpsS c̀-W -Im-eØ vP\-ß -fpsSPohn-X-coXnF{]-Im-c-am-bn-

cp∂p? (A ≤ymbw 4ImW pI)

What was the life style of the people under the Delhi Sultanate? (See lesson 4)

c) C…mwaX-Ø ns‚ G sX-¶nepw 4A Sn-ÿ m\ {]am-W -ß ƒ Fgp-Xp-I.

(A ≤ymbw 4ImW pI)

List any four fundamental principles of Islam. (See lesson 4)

d) q̀X-Im-e-L -́-Ø n¬ \n∂pw Ime-L -́-Ø n-\-\p-k-cn-®p≈ am‰-ß -tfmsS C∂pw \mw

A \p-h¿Ø n-°p∂ G sX-¶nepw 4A \p-jvTm-\-ß -fp-sS-tbm,B tL m-j-ß -fp-sStbm

t]cvFgp-Xp-I. (A ≤ymbw 4ImW pI)

Name any four rituals or festivals which we perform today that have been continued from the past with
necessary changes in keeping with time. (See lesson 4)

3. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepw Hsc-Æ-Ø n\v40-̨60hm°p-I-fn¬ DØ cwFgp-Xp-I.2x1=2

Answer any one of the following in about 40-60 words each.

a) ]m›mXycmPy-ß -fpsS Db¿®-bpsS êw C¥y-bn¬ F¥vA \-¥c ê-ß ƒ

D≠ m°n? (A ≤ymbw 5 ImW pI)

How did the rise of the west leave its impact on India? (See lesson 5)

b) 18-̨mw \q‰m-≠ n¬ C¥y-bn¬ \ne-\n-∂n-cp∂ kmaq-lnI ÿ nXnG sXms°?

(A ≤ymbw 5 ImW pI)

What were the social conditions prevalent in India in the 18th century ?

(See lesson 5)

c) ap…owkap-Zm-b-Ø ns‚ ]cn-jvIm-c-Ø n-\mbnk¿kbvZvA l-ΩZvJm≥ \S-Ø nb

]cn-{i-a-ß ƒ G h? (A ≤ymbw 5 ImW pI)

What efforts did SyedAhmed Khan make to bring reforms in the Muslim society?

(See lesson 5)

d) B [p-\nIC¥y-bnsekmaq-lnI]cn-jvI¿Ø m-°ƒkv{XoI-fpsSD∂-a-\-Ø n-\mbn

]cn-jvIm-c-ß ƒ \S-∏n-em-°p-hm≥ {ian-®XvF¥p-sIm≠ v?

(A ≤ymbw 5 ImW pI)

Why did the social reformers tried to bring reforms in the condition of women in modern India?
(See lesson 5)
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4. XmsgsImSp-Ø n-cn-°p-∂-Xn¬ G sX-¶nepw Hsc-Æ-Ø n\v100-̨150hm°p-I-fn¬ DØ cw

Fgp-Xp-I.

Answer any one of the following in about 100-150 words each. 4x1=4

a) C¥y-bnse]n¬°meXe-ap-d-I-fn¬s∏-́-h¿Ncn{Xwa\- n-em-°p-∂-Xn-s‚bpw]mcm-

bW w sNøp-∂-Xn-s‚bpw {]m[m-\ysØ kw_-‘ n®v\ymbo-I-cn-°p-I.

(A ≤ymbw 3ImW pI)

Justify the importance of reading/ understanding History to the younger generations of India.
(See lesson 3)

b) kq̂ n{]ÿ m-\hpw,̀‡ n{]ÿ m-\hpwHtc\mW -b-Ø ns‚Ccp-h-i-ß -fm-W vF∂

{]kvXm-h-\sbkm[q-I-cn®v\nß ƒ°vG sXms° \ymb-hm-Z-ß ƒ D∂-bn°mw?

(A ≤ymbw 4ImW pI)

Whatargumentswillyouput forward infavourof thestatement thatSufimovementandBhaktimovement
were the two faces of the same coin? (See lesson 4)

c) a≤y-ImeC¥y-bn¬ \ne-\n-∂n-cp∂ cmjv{Sob kml-N-cy-ß -fpsS ê-am-bn-́mW v

\mtSm-Sn-I-e-I-fp-tSbpw s]bn‚n-ß p-I-fp-sSbpwkwKo-X-Ø n-s‚bpw hnImkw F∂v

hniz-kn-°p-∂XvF¥p-sIm≠ v? (A ≤ymbw 4ImW pI)

Why is it believed that the development of folk arts, painting and music was the result of the political
situation that prevailed in medieval India? (See lesson 4)

d) B [p-\nI C¥y-bpsS DW ¿∆n\pw Db¿®°pw cmPmdmw taml≥ tdmbn-bpsS ]¶v

F¥m-bn-cp∂p? (A ≤ymbw 5 ImW pI)

What role did Raja Ram Mohan Roy play in the awakening of modern India?

(See lesson 5)

5. XmsgsImSp-Ø n-cn-°p-∂-Xn¬ G sX-¶nepw Hsc-Æ-Ø n\v100-̨150hm°p-I-fn¬ DØ cw

Fgp-Xp-I. 4x1=4

Answer any one of the following in about 100-150 words each.

a) {]mNo\C¥y-bn¬ Pohn-®n-cp∂ Hcphy‡ n-bm-bn-cp∂pF∂v\nß ƒk¶-ev]n-°p-

I.]n¬°meXe-ap-dbv°vth≠ n\nß -fpsS]mc-ºcywkwc-£ n-°p-hm≥G sXms°

{ia-ß ƒ \nß ƒ \SØ pw? (A ≤ymbw 3ImW pI)

Imagine yourself as an inhabitant ofAncient India.What efforts would you make to preserve you heritage
for the future generations to come? (See lesson 3)

b) A Iv_¿N{I-h¿Ø nbpw Plmw-Ko¿N{I-h¿Ø nbpw jmP-lm≥ N{I-h¿Ø nbpw

kmwkvIm-cnI taJ-e-I-fnseIem-Im-c-∑m-sct{]m’m-ln-∏n-®n-cp-∂p.Cut{]m’m-l-

\-ß ƒapKƒ s]bn‚nw-Kns‚hf¿®bv°vF{]-Imcw{]tbm-P-\-s∏́ p?hnh-cn-°p-I.

(A ≤ymbw 4ImW pI)

In the field of cultureAkbar, Jahangir and shahjahan patronized the artist. How did this patronage benefit
Mughal Paintings. Elaborate. (See lesson 4)

c) C¥y-bn-se-Ø p-∂-Xn\v,Hcpkap-{Z-am¿§whmkvtImU KmaI≠ p-]n-Sn-®-Xns‚ A \-



69m̀c-Xob kwkvIm-chpw ]mc-º-cyhpw (Indian Culture and Heritage)

¥-c-̂-e-ß ƒ C¥y-bnsehn]-W n-I-fn¬ Df-hm-°n-bXvG sXms°?

(A ≤ymbw 5 ImW pI)

What were the impacts on the markets of India after the discovery of the sea route to India by Vasco De
Gama? (See lesson 5)

d) C¥y-bnseh¿Ø -am\∏{X-ß -fp-sSbpw a‰vA ®-Sn-am-[y-a-ß -fp-sSbpw hf¿® C¥y-

bnsekzmX-{¥y-k-a-c-Ø n\vF¥vkẁ m-h-\-Iƒ \¬In?(A ≤ymbw 5 ImW pI)

How did the growth of press contribute towards India’s freedom struggle?
(See lesson 5)

6. XmsgsImSp-Ø n-cn-°p∂ 4t{]mP-IvSp-I-fn¬ G sX-¶nepw HscÆ w\n¿h-ln-°p-I. 6X1=6

Make any one project out the list of four projects given below:

a) kn°p-a-XhpwC…mwaXhpwC¥y-bnsea≤y-Im-e-L -́-Ø n¬ hf¿∂ c≠ v{][m-\-

s∏́ aX-hn-izmkhnizmk-ß -fm-W v.\ΩpsSkmaqlyhyh-ÿ n-Xnsbhf-sc-b-[nIw

kzm[o-\n®c≠ vaX-hn-izmkhǹm-K-ß -fmW vCh.CXva\- n-em°nCuc≠ vaX-

hn-̀m-K-ß -fp-sSbpw G ‰hpw Ipd™ 6 XXz-ß ƒ hoXw Dƒs∏-SpØ nHcpdnt∏m¿́v

Xøm-dm-°p-I.Ccp-a-X-ß -fp-ambn_‘-s∏́ {][m-\-s∏́ ÿ e-ß -fp-tSbpwhnh-c-W -

ß ƒ Dƒs∏-Sp-Ø pI.

The medieval period in Indian history saw the coming of the two important religions i.e. Sikhism and
Islam. These religions have influenced our society tremendously. Keeping this in mind, make a report
containing at least six teachings of those religions.Also write about their important religious places or
place.

b). ]n¬°methZ-Im-e-L -́-Ø n¬aX-N-S-ß p-I-fn¬hyXn-bm-\-ß ƒD≠m-bn-́p-≠v.{]mcẁ

Ime-L -́-Ø nseCuiz-c-k-¶ev]w ]n¬°m-eØ v{_lvam-hv,hnjvW p,atl-iz-c≥,

F∂ {XnXzhnizm-k-Ø n-te°vamdn.CuCuiz-c-k-¶-ev]-Ø n\vC∂pw \ΩpsS

kaq-l-Ø n¬ Hcpkp{]-[m-\-ambÿ m\w D≠ v.CXva\- n-em°nIpd-™ Xvc≠ v

Cuizck¶-ev]-Ø ns‚ F¶nepw {]m[m-\y-hp-ambn_‘-s∏-́-Xmbn,G ‰hpw Ipd-

™ Xv6t£ {X-ß ƒ,6B tL m-j-ß ƒ,6 ‡̀ n-Km-\-ß ƒDƒs∏-SpØ nHcp{]_‘ w

Xøm-dm-°p-I.C{]-Im-c-ap≈ Cuiz-c-k-¶-ev]-ß -fp-ambn{]kn-≤-ambÿ e-ß ƒC¥y-

bpsS Hcp̀ q]-S-Ø n¬ A S-bm-f-s∏-Sp-Ø p-I.

In the latter Vedic age there was a change in religious practices. The place of the early Gods was now
taken by the trinity of Brahma, Vishnu and Mahesh. These Gods even today occupy a very important
place in our society. Keeping this in mind make a report in which at least six temples, six festivals and six
devotional songs of at least two Gods be prepared. On a map of India show the areas where these gods
are popular.

c) a≤y-Im-e-L -́-Ø n¬ kv{XoI-fpsS Hu]-Nm-cnIhnZym-̀ym-k-Ø n\vA {X {]m[m-\y-ap-

≈-XmbnIW -°m-°n-bn-cp-∂n-√.F∂m¬ A h-cpsS Ign-hp-Iƒ a‰vtaJ-e-I-fn¬

sXfn-bn-°p-∂-Xn-\pw,{]I-Sn-∏n-°p-∂-Xn\pw XS- -ß ƒ D≠ m-bn-cp-∂n-√.a≤y-Im-e-

L -́-Ø nseh\n-X-I-fpsS krjvSn-]-c-amb {]h¿Ø -\-]-Y-ß sfkw_-‘ n®vHcp

Ipdn∏vXøm-dm-°p-I.C{]-Im-c-ap≈ {]h¿Ø -\-ß sfkw_-‘ n®v]T\w \SØ n

\ΩpsS Ime-L -́-Ø nepw Ch-bn¬ G sXms°,FhnsS Hs° XpS-cp∂pF∂v,
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\nß -fpsS \K-c-Ø ntem,]́ -W -Ø n-tem,{Kma-ß -fntem,hn]-W n-I-fntemk¿t∆

\SØ nI≠ p-]n-Sn-°p-I.

Formal education was not considered very important for women during medieval society. But this did not
prevent them from showing their talents in various other fields. Make a list of the creative work done by
these women. Make a survey of your city/ town/ market and find out how many this creative work
continued even today and make a report there is continuity in our culture

d) B [p-\nI C¥y-bnseF√mkmaq-lnI ]cn-jvImc{]ÿ m-\-ß sfkw_-‘ n®v

a\- n-em°nXmsgImW p∂ amXr-I-bn¬ Hcpt{]mPIvSvXøm-dm-°p-I.

Go through all the reform movements that took place in modern India and prepare a project on the
followingformat:

1 2 3 4 5 6 7

kmaq-lnI

]cn-jvI¿Ø m-

hns‚ t]cv

kmaq-lnI

]cn-jvImcw

\S-∏n-em-°n-bXv

G XvtaJ-e-bn¬

]cn-jvImcß ƒ

F¥p-sIm≠ v

B h-iy-am-bn-cp∂p

]cn-jvImcß ƒ

G sXms°

]cn-jvImcß ƒ

\S-∏n-em-°phm≥

Kḧ sa‚vF¥v

\nba\n¿ΩmW

\S-]-Sn-Iƒ

]m m°n

]cn-jvImcß fpsS

ê-ambn\ΩpsS

kaq-l-Ø n¬ F¥v

am‰-ß ƒ D≠ m°n

kzmX-{¥y-e-

_v[n-°p-tijw

Kḧ sa‚v

G sXms°

]cn-jvIm-ß fpw

\nba\S-]-Sn

Ifpw\S-∏n-

em°n
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A ° u-≠ ≥kn
Accountancy

224
Syq́¿am¿° UvA ssk≥sa‚v

Tutor Marked Assignment

B sI-am¿°v:20
Max. Marks: 20

\n¿t±-i-ß ƒ: (i)F√mtNmZy-ß fpw\n¿∫-‘-am-W v.Hmtcm-∂n-s‚bpwaqeywA Xm-Xn-SØ vtcJ-s∏-Sp-

Ø n-bn-́p≠ v.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsSt]cv,{Ia-\-º¿,]T-\-tI-{µ-Ø ns‚t]cv,hnj-bw,F∂nhH∂m-asØ ]pd-

Ø ns‚apI-fn¬ Xs∂ Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ H∂n-s\-°p-dn®v40̨60hm°p-I-fn¬hni-Zo-I-cn-°pI. 2x1=2

Answer any one of the following questions in about 40-60 words.

(a) A °u-≠ nß v_p°vIo∏nw-Kn-t\-°mfpwanI-®-Xm-W v.Cu{]kvXm-h-\sbhne-bn-cp-Ø p-I.

Accounting is much wider concept than book keeping : Justify the statement.

(b) Fß -s\-bmW vA °u-≠ nwKvamt\-Pvsa‚n\vKpW -I-c-am-Ip-∂-Xv.hni-Z-am-°p-I.

How is management benefitted from accounting. Explain.

(c) Fß -s\-bmW v_p°vIo∏nwKvtImSXntIkp-I-tfbpwSmIvkvaqey-tØ bpwklm-bn-°p-

∂Xv?

How does Book keeping help in related court case and tax assessment?

(d) _p°vIo∏nw-Kn-t‚-bpw,A °u-≠ n-t‚bpw hyXym-k-ß ƒ Fgp-XpI (i) H_vP-IvSohv(ii)

ß̂ vj≥.

Differentiate between Book-keeping andAccounting on the basis of (i) Objective and (ii) Function

2. Xmsg-]-d-bp-∂-h-bn¬ G sX-¶nepwH∂v40̨60hm°p-I-fn¬Fgp-Xp-I. 2x1=2

Answer any one of the following in about 40-60 words each.

(a) HcpI®h-S-°m-c≥50,000cq]°vkm[-\-ß ƒIS-Ø n\vhn‰p.A t±-l-Ø ns‚A °u-≠‚v

Fgp-Xn-bXvC{]-Im-c-am-W v,Cu{Sm≥km-£ ≥Hcpdh\ypB W v.]t£ B I®-h-S-°m-c≥

]d-™ XvCXvFgp-tX-≠ Xvicn°pwcq]Ińn-b-Xn-\p-ti-j-am-bn-cn-°-W w.I®-h-S-°m-c≥]d-

™ -Xn\p{]ImcwCXvG XvtIm̈ k]v‰vB W v.(s]mXp[mc-W -bm-W v).

A trader has sold goods of Rs. 50000 on credit; his accountant records, this transaction as an item of

revenue but the trader insist that the same should be recorded when actual cash is received. Name the

accounting concept involved about which trader is unware. State this concept.

(b) Hcpÿ m]\DSaG {]n¬amksØ iºfw15000cq]am¿®vamksØ iº-f-tØ m-sSm∏w

15000cq]sImSp-Ø p.CXvA °u-≠‚vam¿®vamksØ iºfw30,000cq]-bmbnImW n-®p.

CXvG XvtIm̈ k-]v‰n-t\-bmW vXnc-kv°-cn-®-Xv.G XvtIm̈ kv]v‰msW ∂v]d-bp-I.
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The store keeper of a firm has been given one months salary of april of Rs 15000 along with salary of

march as of Rs 15000. The accountant has show Rs. 30000 as in expense for the year which end on

31st march. While accounting concept is voilated? State the concept.

(c) tIm̈ kv]v‰n-t\bpw,k{º-Zm-b-Ø n-t‚bpwhyXym-k-ß ƒFgp-Xp-I.

How will you differentrate between concept and conventions?

(d) A °u-≠ nw-Kn\v\≥a-Iƒam{X-amtW mD≈ Xv?

Are there only advantages of accounting?

3. Xmsg-]-d-bp-∂-h-bn¬ G sX-¶nepwH∂v41̨60hm°p-I-fn¬Fgp-Xp-I. 2x1=2

Answer any one of the following in about 40-60 words each.

(a) A °u-≠ nwKvC≥ ¿̂ta-j≥D]-tbm-Kn-°p∂ \mevt]cpsSt]cvFgp-Xp-I.

Name any four parties who use accounting information?

(b) _m[y-XsbFß -s\-bmW vXcw-Xn-cn-°p-∂Xv?Hmtcm-∂n¬\n∂pwHscÆwhoXwFgp-XpI.

How are liabilities classified? Give one item of each type.

(c) F¥mW vtU_n-t‰gvkv(debtors)DZm-l-c-W -k-lnXwhni-Z-am-°p-I.

What are debtors? Explain it by giving an example.

(d) FIvkvs]≥kn-t‚bpw(Nn-e-hn-t‚-bpw)FIvkvs]≥Un-®-dn-t‚bpwhyXymkwF¥mW v?DZm-

l-c-W -k-lnXwhni-Z-am-°p-I.

What is the difference between expense and expenditure? Explain by giving an example.

4. Xmsg-]-d-b-∂-h-bn¬ G sX-¶nepwH∂v100̨150hm°p-I-fn¬Fgp-Xp-I. 4x1=4

Answer any one of the following in about 100-150 words each.

(a) Hcpÿ m]-\-Ø ns‚em̀-\-jvSsØ ]¿®-bn pw,skbn¬kpwFß -s\-bmW vkzm[o-\n-°p-

∂Xv?Fß -s\-bmW vem̀-\jvSwIym∏n-‰-ens\kzm[o-\n-°p-∂-Xv.

How are purchase and sales related to profit / loss of a concern? How does profit / loss affect the

capital?

(b) _nkn-\- n\vD≈ nepw]pd-Ø p-ap≈ D]-tbm-K-ß ƒ°vFß -s\-bmW vA °u-≠nwKvC≥̂ ¿ta-

j≥D]-tbm-K-{]-Z-am-Ip-∂-Xv.

How is accounting information useful for users both inside and outside the business? Explain.

(c) _nkn-\ vF‚n‰ntIm̈ k]v‰v{]ImcwHcpÿ m]\DS-a-bpw,ÿ m]-\hpwthsd-bm-sW ∂v

]d-b-s∏-Sp-∂p.A °u-≠ nw-Kn\vCXvF¥vXcw{]k-‡ n-bm-W p-≈ Xv?

As per business entity concept the enterprise and its owners are separate independent entities. What is

role of this concept is accounting?

(d) HcpB kvXn_p°n¬tcJ-s∏-Sp-Ø p-tºmƒA Xvhmß nbhne-bn-em-bn-cn-°-W w.A Xvam¿°‰v

hne-bn-em-bn-cn-°-cp-Xv.CXvG XptIm̈ k-]v‰mW v(s]m-Xp-[m-c-W )CXvkm[q-I-cn-°m≥hnhn-

[-XcwkqNn-IIƒtcJ-s∏-Sp-Ø p-I.

Why is it that assets are recorded in books of accounts at their purchase price and not at their marled

price? Identify the concept and State various points of significane of this concept.
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5. Xmsg-]-d-bp-∂-h-bn¬ G sX-¶nepwH∂v100̨150hm°p-I-fn¬Fgp-Xp-I. 4x1=4

Answer any one of the following in about 100-150 words each.

(a) _p°vIo∏nwKvA s√-¶n¬ A °u-≠ nw-Kp-ambn_‘-s∏́ {Sm≥km-£ -\mW vXmsg-]-d-bp-∂-Xv.

A Xp-ambn_‘-s∏́ Im‰-KdnFgp-Xp-I.

Following are the trainsactions related to book keeping or accounting. Write aganist them the related

catagory:

1. I®-h-S-Ø ns‚em̀wI≠ p-]n-Sn-°pI

Calculation of business profits.

2. tSḿ¬ U_vt‰¿kv

Calculation of total debtors.

3. {IU n‰vskbn¬kv(I-S-Ø n\vhn‰-Xv)

Credit sales.

4. Imin\vhmß n-b-Xv.

Cash Purchases.

5. Hcp_nkn-\ vÿ m]-\-Ø ns‚ n̂\m≥jy¬ s]mkn-j≥\n¿Æ-bn-°p-I.

Ascertaining the finanical position of the business enterprise.

6. Iym]n-‰¬Fwtπm-bnUv\n¿W -bn-°p-I.

Ascertaining Capital employed.

7. iºfwsImSp-°pI

Payment of salary.

8. tSḿ¬{IU n-t‰¿kvI≠p-]n-Sn-°pI

Calculation of total creditors.

(b) Xmsg-]-d-b-∂-h-bn¬ G XmW vB kvXn,G XmW vkm[\wF∂vtcJ-s∏-Sp-Ø p-I.

State in each case whether the items are to be counsidered ‘goods’ or assets.

1. Hm̂ okvD]-tbm-K-Ø n\v̂ ¿W n-®¿hmß n

Furniture purchased for office.

2. {]W -bmkv̂ ¿W n-®¿luknß v̂ ¿W n-®¿hn‰p.

Furniture sold by Pranays Furniture House.

3. sdU n-sabvUvKm¿a≥kvPwKvj-\n¬\n∂pwj¿́pw,{Sukdpwhmß n.

Shirts and trousers purchased by readymade Garments Junction.

4. _nkn-\ vB h-iy-Ø n-\mbnIw]yq-́¿hmß nHm̂ o-kn¬ C≥ÃmƒsNbvXp.

Computers purchased by a business concern to be installed in office.
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(c) em̀wam{X-a√]t£ F√m\jvSkm[y-X-Ifpw]cn-K-W n-°-W w.CXvG XvA °u-≠ nwKv

k{º-ZmbwB W v?CXv{]kvXm-hn-°p-I.

Anticipate no profit but provide for all possible losses. Which accounting convention is based on this

Principle? State the significance of this converts.

(d) n̂\m≥jy¬tÃ‰vsa‚vA ¿∞ -h-Ø m-bn-cn-°W wF∂p-]-d-b-s∏-Sp-∂XvG Xvk{º-Zm-b-amW v?

CXvA °u-≠ nw-Kn\vFß s\{]mtbm-Kn-I-am-Ipw,hnh-cn-°pI?

Which convention of accounting if followed will make the Financial Statements meaningful? Explain its
contribution to accounting by stating its significance.

6. Xmsg-]-d-bp∂ \mevs{]mP-Iv‰p-I-fn¬\n∂pwG sX-¶nepwH∂vFgp-Xp-I. 6X1=6

Make any one project out the list of four projects given below:

(a) A °u-≠ nwKvC≥ ¿̂ta-js‚B h-iy-IX Fs¥m-s°-bm-W v.A °u-≠ nwKvC≥ ¿̂ta-j≥

A h-cpsSB h-iy-I-XsbFß s\km[q-I-cn-°pw.

Identify the needof the followingwhich requireaccounting information.State how accounting information

fullfill thoseneeds?

(b) A °u-≠ nw-Kn\v\≥a-Iƒam{XtaD≈ p.am{X-a√t]mcm-bva-IfpwD≠ v?F¥mW v\nß -fpsS

DØ cw?t]mcm-bva-IƒDs≠-¶n¬ G sX-¶nepwA s© Æwhni-Z-am-°p-I.

Does accounting has only advantages or it has some limitations also? What is your answer? If it has

limitations, state any five limitations.

(c) _p°vIo∏nw-Kn-\pw,A °u-≠ nw-Kn\pw HcphyXym-khpw C√mF∂vHcphnZym¿∞ nIcp-

Xp∂p?CXv\nß ƒkΩ-Xn-°ptam?A sX F¶n¬ _p°vIo∏nw-Kn-\pwA °u-≠ nw-Kn-\pw

D≈ G sX-¶nepw A © vs]mXp-kz̀m-h-ß ƒFgp-Xp-I.

A student of accounting thinks that there is no difference between book keeping and accounting? Do you

agree with this? If yes, state any five similarities between Book keeping and accounting.

(d) A °u-≠ ns‚G Xvk{º-Zm-b-amW v,HtcA °u-≠ ns‚coXnA Yhm\nbawh¿jmh¿j-ß -

fn¬ XpS-c-W -sa∂vA \p-im-kn-°p-∂-Xv.A °u-≠ nwKvk{º-Zm-b-Ø ns‚t]cv]d-bp-I.A Xv

{]kvXm-hn-°p-I.

Which convention of accountancy advocates for following the same accounting? Principle or method for

number of years. Name and state the convention. Give its advantages also.
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Nn{X-Ie
Painting

(225)
Syq́¿am¿°vUvA ssk≥sa‚v

Tutor Marked Assignment

]c-am-h[nam¿°v:20

Max. Marks: 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pwDØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pwA \p-h-Zn-

®n-́p≈ am¿°vtNmZy-tØ m-sSm∏w sImSp-Ø n-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß -fpsS t]cv,F≥tdmƒ \º¿,hnjbw XpS-ß nbhDØ c-°-S-em-kns‚

B Zyt]Pns‚ apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the

answer sheet.

1-Xmsg]d-bp∂ G sX-¶nepw H∂ns\Ipdn®v40-̨60hm°p-I-fn¬ hnh-cn-°pI 2

Answer any one of the following questions in about 40-60 words each.

a) \nß ƒ°vX∂n-cn-°p∂ A ỳmk]pkvX-I-Ø ns‚ t]Pv19se29-̨mw \º¿Nn{X-

Ø ns‚ A Sn-ÿ m-\-Ø n¬ 1/4 Cw]o-cn-b¬ Im¿SnPvt]∏-dn¬ hc-bv°p-I.Hcp{]Ir-

Xn-Zriywhḿ¿{]q̂ vt]\-bp-]-tbm-Kn®vhc-bv°p-I.CuNn{X-Ø n\vHmbn¬t]bvtÃm

t]mÃ¿IftdmD]-tbm-Kn®v\ndw sImSp-°pI (A ỳmk]pkvXIw ]mTw-̨1)

Make a copy of the landscape drawing given on page 10 figure no. 29 in your Practical Guideline book
on 1/4 imperial size cartidge paper. Draw the landscape with waterproof marker pen. Colour it with

either poster colour or oil pastels. (See prove. guideline lesson 1)

b) Ccṕpwshfn-®hpwF∂ kt¶XwD]-tbm-Kn®vIpd-™ Xvaq∂vhkvXp-°sf{XntIm-

W w,ka-N-Xp-cw,hrØ wF∂n-h-D]-tbm-Kn®vtcJ-s∏-Sp-Ø p-I.

(A ỳmk]pkvXIw ]mTw-̨1)

Draw at least three objects with light and shade from a circle, square and triangle each.

(See prove. guideline lesson 1)

c) A arX sj¿Kn-ens‚{]i-kvX-amb""{_lva-Nm-cn-Iƒ''F∂ Nn{Xw]Tn-°p-I.A h-

cpsS A tX \nd-k-t¶Xw D]-tbm-Kn®v\mevCcn-°p∂ cq]-ß ƒ hc-bv°p-I.

(]mTw 8)

Study the famous painting 'Brahmacharies' ofAmrita Shergil. Make a composition with four seated

figures and use the colour combinations of the Amrita Shergil painting. (See lesson 8)

d) Nn{X-Iem]pkvX-I-Ø ns‚ 6̨mw t]Pn¬ sImSp-Ø n-cn-°p∂ "IdpØ cmP-Ip-amcn'

F∂ hnJymX A P¥ Nn{Xwkq£ va-ambn]Tn-°p-I.\nß -fpsS A ỳmk]pkvX-

I-Ø n¬ 33-̨mw t]Pn¬ CØ cwa\p-jy-ap-J-ß -fpsS A t\Iw Nn{X-ß ƒ D≠ v.Ch-
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bn¬ "IdpØ cmP-Ip-amcn'bpsS khn-ti-j-X-Iƒ ]I¿Ø m≥ {ian-°p-I.

(]mTw1{i≤n-°pI)

Study carefully the famousAjanta painting 'Black Princess' (page no.6 of painting text book) Now take
your Practical guideline book. There are many drawings of human faces on page 33. Try to give the

features of the face of 'Black Princess' to these faces. (See lesson 1)

2. XmsgsImSp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwH∂n-s\-°p-dn®v40-̨60hm°p-I-fn¬hni-Zo-I-cn-°p-I.
2x1=2

Answer any one of the following in about 40-60 words each.

a) \nß -fpsS ZrjvSn-tIm-W n-eqsS ImW p∂ coXn-bn¬ HcpsXcp-hn¬ ImW -s∏-Sp∂

]Ø vhnf-°p-Im-ep-I-fpsS Hcp\nchbv°p-I.Xnc-›o\tcJ-bp-sSbpwA {]-Xy-£ -

am-Ip∂ _nµphpw tcJ-s∏-Sp-Ø m≥ad-°-cp-Xv.

Draw a row of ten lamp posts on the street using you knowledge of Perspective. Do not forget to mention

the horizontal line and the vanishing point in your drawing.

b) HcpPme-I-hncnaq∂pXcw \nd-ß ƒ D]-tbm-Kn®vkrjvSn-°p-I.CXn¬ c≠ p-Xcw

taḿo-̂p-Iƒ (A \p-Iev]ß ƒ)D≠ m-bn-cn-°-W w.

Create a design with three colours for a curtain. Use the repetition of two motives in this design.

c) \nß -fpsS hoSn\papI-fntemhcm-¥-bntemCcn-°p∂ Hcp{]mhns\ {i≤n-°p-I.

hrØ w,{XntIm-W w,Hmh¬ F∂oA Sn-ÿ m\ cq]-ß -fp-]-tbm-Kn®vCXns‚ Hcp

eL p-hmbcq]-tcJ D≠ m-°p-I.A Xn-\p-tijw Hcps]≥kn¬ sIm≠ vhni-Z-amb

A wK-h-Sn-hp-Iƒ krjvSn-°p-Ibpw Nmb-s∏≥kn¬ sIm≠ v\ndw sImSp-°p-Ibpw

sNøp-I.CXns‚ Hcpt̂ mt́mFSpØ vXs‚ tiJ-c-Ø n¬ hbv°p-Ibpw CXns‚

hnhn[L -́ß ƒ hni-Zo-I-cn-°p-Ibpw sNøp-I.

Watch a Pigeon on your balcony or roof. Draw a simple outline in the basic circle, triangle and oval
shapes. Now give the detailed contour of the bird. Colour it with coloured pencil. Take a photograph of

the three stages in making of this painting and put it in your portfolio.

d) ]{X-am-kn-I-I-fn¬\n∂v]Ø vhoXw hm¿Ø m-i-I-e-ß ƒ tiJ-cn-°p-I.ChD]-

tbm-Kn®vHcp"sImfmjv'D≠ m-°p-I.Ch-bn¬hc-Ifpw\nd-ß fpwtN¿°mw.CXns‚

\n¿Ωn-Xn-°p-th≠ n\nß ƒ D]-tbm-Kn®D]-I-c-W -ß -sfbpwam¿§-ß -sfbpwIpdn®v

40hm°n¬ Ipd-bmsX D]-\y-kn-°p-I.

Collect at least ten paper cuttings from newspapers and magazines.Arrange a collage using the scrap
material. Complete the collage adding colours and lines. Write at least 40 words describing tools and
materials that you have used to create this collage.

3. Xmsg]d-bp-∂-h-bn¬ G sX-¶nepw H∂ns\ Ipdn®v40-̨60hm°p-I-fn¬ hnh-cn-°p-I. 2x1=2

Answer any one of the following in about 40-60 words each.

a) \nß -fpsS A Sp-°-f-bnse D]-I-c-W -ß sfIpdn®v]Tn-°p-I.CXn¬ G sX-¶nepw

cs≠ Æ w D]-tbm-Kn®vHcptImw]-kn-j≥ Xøm-dm-°p-I.

Go to your kitchen and study utensils and tools in the kitchen. Choose two of these tools and utensils and

make a composition with these objects.
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b) A cn-s∏mSnt\¿Ω-bmbnsh≈-Ø n¬ Ie-°p-I.he-Xp-I-ønseX≈-hn-cepwNq≠ p-

hn-c-en-\p-an-S-bn¬ Cukwbp‡ w]nSn-°p-I.CXp-]-tbm-Kn®vXd-bn¬ Hcp{]mcq]w

(hn-e-ß -s\)hc-°p-I.]gb ImeØ vtIme-an-Sp∂ coXnCXn-\mbnA h-ew-_n-

°mw.CXn-ep-]-tbm-Kn®kt¶-X-I-ß -sf-°p-dn®vhni-Zo-I-cn-°p-I.CXns‚ HcpNn{X-

sa-SpØ vXs‚ tiJ-c-Ø n¬ kq£ n-°p-I.

Fetch rice powder and dilute it with water no use your thumb and fore finger to hold the diluted rice
powder. Navigate its flow to draw a design on the floor.You can take inspiration from traditional floor
painting such asAlpana and Kolam. Write about the forms you have used in this design. Take a photo-

graph of this design and put it in your scrap book.

c) sXḿ-Sp-Ø p≈ Hcpayqknbw kµ¿in-°p-I.A h-bn¬ kq£ n-®n-cp∂ Nn{X-ß ƒ

{i≤n-°p-I.G sX-¶nepw Hcp{]tXyI ssien-bn-ep≈ Nn{X-ß ƒ kq£ va-ambn

\nco-£ n-°p-I.CXnsekt¶-X-ß ƒ D]-tbm-Kn®vkz¥-ambnHcpNn{Xwhc-bv°p-

I.B ibw]pXn-b-Xm-bn-cn-°-W w.CXn-s\-Ip-dn®vIpd-™ Xv30hm°p-I-fn¬ hnh-cn-

°p-I.

Visitanearbymuseumandwatchacollectionofminiaturepaintings.Chooseanyonestyle,eitherRajasthani
or Pahari school of painting.Take inspiration from this painting and make a painting in the same style, but

with a modern theme. Explain your theme in 30 words.

d) Ipd®vIfn-aÆvtiJ-cn®v6 x 6 hen-∏-Ø n-ep≈ ssSep-Iƒ \n¿Ωn-°pI(]pdw 27).

ChnsS sSdm-tIm-́-bn-ep≈ HcpNn{X-ap-≠v.CXnseIpd®p̀ mKw FSpØ v\nß -fp-

≠m-°nb ä ssS-en¬ HcpPyman-Xobcq]wD≠ m-°p-I.CXns\Ipdn®vHcpIpdn-

s∏-gp-Xp-Ibpw Nn{X-sa-SpØ vkq£ n-°p-Ibpw sNøp-I.

Collect some day and give it a shape of a tile of size 6x6 inches. Open page 27 of your book.You will find
a picture of Vishnupur Terracotta. Take a small part of this picture and prepare a relief work on the day
slab. Write a few lines on the theme you have chosen. Take a photograph of you creation and put it in

your portfolio.

4. XmsgsImSp-Ø n-cn-°p∂ H∂ns\Ipdn®v100-̨150hm°p-I-fn¬ hnh-cn-°p-I. 4x1=4

Answer any one of the following in about 100-150 words each.

a) enb-W m¿tUmUmhn-© n-bpsS ""samW m-enk'' F∂ hnJymX Nn{X-Ø ns‚ Hcp

tIm∏nkwL -Sn-∏n-°p-I.½ Cw]o-cn-b¬ sskkn-ep≈ HcpIm¿{SnUvPvjo‰n¬ B

apJw ]I¿Ø p-I.DS≥ thsdhc-°p-I.A Xn¬ B [p-\nI hkv{X-ß ƒ hc®p

tN¿°p-I.Nn{X-Ø n\v\ndw sImSp-°pI

(]mTw 5 t\m°pI)

Collect a print of the famous painting 'Mona Lisa' of Leanardo da Vinci. Take a cartridge sheet of ½

imperial size. Copy the face of 'Mona Lisa', but create a different torso under the face. Drape the torso
in a modern dress and give a new look to the famous painting of 'Mona Lisa'. Use poster colours to

decorate this painting. (See lesson 5)

b) ssa°-em-© temknssÃ≥ Nm∏-ens‚ ta¬°qc-bn¬ hc®kp{]-kn-≤-Nn{X-amb

""B Zm-ans‚ P\\w'' t\m°n-bńvA XnsessZh-Ø ns‚ ssIbpsS L S\ ho£ n-
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°p-I.CXns\ A wKo-I-cn®vHcpIpdn∏vXøm-dm-°p-I. (]mTw 5 t\m°pI)

Look for a copy of the famous painting 'Birth ofAdam', a famous Fresco on the ceiling of the Sistive

chapel in Rome by MichaelAngelo in an art library or museum. Follow the format of the famous painting
and capture the anatomy of the hand of God in this painting. Write a few lines of appreciation on this

work. (See lesson 5)

c) ae-Iƒ,ac-ß ƒ,sh≈-®m-́w F∂n-h-bpsS tcJm-Nn{Xw Xøm-dm-°p-I.Ch-bpsS

Hcpkwtbm-PnX Nn{Xwhc®v\ndw sImSp-°p-I.

Make sketches of mountains, trees, water falls and foulders. Create two different compositions based on

these sketches. Colour them with poster colour or oil pastel. (See prac. lesson 2)

d) \nß -fpsS ]pkvX-I-Ø ns‚ 58-̨mw t]Pn-ep≈ hm¬tKm-Kns‚ ""\£ -{X-J-Nn-X-amb

cm{Xn''F∂ Nn{X-Ø ns‚ HcptIm∏nkwL -Sn-∏n-°p-I.{_jvD]-tbm-Kn-®n-cn-°p-∂-

Xns‚ {]tXyIX a\- n-em-°p-I.C\n\nß ƒ Xpd-kmb Hcp{]Ir-Xn-Zr-iy-Ø n\p

ap∂n-en-cp∂v1/2 Cw]o-cn-b¬ sskkn-ep≈ HcpNn{Xw hc®v\ndw sImSp-°p-I.

hm¬tKm-Kns‚ coXnA h-ew-_n-°mw.hm¬tKm-Kns‚ ssiensbF¥p-sIm-≠mW v

"Cw]o-cn-b-enkw'F∂phnfn-°p-∂-Xv.15hm°p-I-fn¬ DØ cw Fgp-Xp-I.

(]mTw 6 t\m°pI)

Get a copy of 'Starry Night' by Van Gogh (it is available on page 58 of your text book). Notice the
technique or style of brush stroke of Van Gogh. Now, go out in the open and seat yourself in front
of a view of land scape. Take your poster colours, brush and Cartridge sheet of 1/2 imperial size.
Capture the land scape in front of you with colour in the technique of Van Gogh. Explain why Van
Gogh's style is called 'impressionism' in 15 words. (See lesson 6)

5. XmsgsImSp-Ø n-cn-°p∂ H∂ns\ Ipdn®v100-̨150hm°p-I-fn¬ D]-\y-kn-°p-I. 4x1=4

Answer any one of the following in about 100-150 words each.

a) \nß -fpsS {]mtbm-KnI ]pkvX-I-Ø ns‚13-̨mw]pd-Ø n¬ hḿ¿I-f¿D]-tbm-Kn-°p-

∂-Xns‚ hnhn[ L -́ß ƒ hni-Zo-I-cn-®n-́p-≠ v.Hcp]q∏m-{X-Ø n¬ Ipd®vbYm¿∞

]pjv]-ß ƒtiJ-cn-°p-I.CXvhḿ¿I-f-dp-]-tbm-Kn®vhc-bv°p-∂-Xns‚hnhn[L -́

ß ƒ hni-Zo-I-cn-°p-I.hḿ¿I-f¿,t]Ã¿If¿F∂n-h-bpsS hyXymkw F¥v

F∂vhni-Zo-I-cn-°p-I. (]mTw 2t\m°pI)

Different steps of water colour painting are explained with illustration in your Practical book (page 13).
Collect somereal flowers andput themina flowervase.Show the different stepsofdrawingandcolouring
the flower vase with flowers in water colour technique. Put the steps in your portfolio.Also write about
the differences between water colour and poster colour technique.

(See Prac. lesson 2)

b) HcpNXp-c-s∏-́n,HcpDcp≠ ]¥v,Hcpknen-≠ ¿F∂n-h-sb-Sp-°p-I.Ch-bpsS

hen∏w Xpey-am-bn-cn-°-W w.Ch-bpsS Nn{Xw HcpA-4 t]∏-dn¬ ]c-kv]cw _‘-

s∏́ pInS-°p∂ coXn-bn¬ hc-°p-I.CXn-\mW v"Iyq_nIvIe'F∂p]d-bp-∂-Xv.

CXn¬\n∂v{]tNm-Z\w Dƒs°m≠ v]n°m-tkm-bpsS Iyq_nIvcN-\-I-fpsShnh-c-

ß ƒ tiJ-cn-°p-I.
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(ikB 7ns[ksa)

Collect a square box, a round ball and a cylindrical shape, all almost equal size. Study and draw these
forms on seperate sheets of paper with a pencil. Now compose the geometrical shapes on anA-4 size
paper overlapping each other. This is the basic method of Cubist art. Thus, you have created the art of
Cubism with these shapes. Take inspiration from works of picasso that are available in art books. (See
lesson 7)

c) km¬h-tZm¿UmenHcpk¿dnb-en-ÃnIvNn{X-Im-c-\m-W v.Ct±l wbYm¿∞ _nw_-

ß sfA bYm¿∞ -ambnNn{Xo-I-cn-®p.C{]-Imcw Hcpa\p-jy-cq]w,c≠ pa\p-jy-

\n¿ΩnX hkvXp-°ƒ,HcparK-cq]w F∂nhhc-bv°p-I.Ch-sb√mw bYm¿∞ -

sa∂ptXm∂n-∏n-°p∂ hn[w tbmPn-∏n-°p-I.CuB i-bsØ 40hm°n¬ Ipd-

bmsX hni-Zo-I-cn-°p-I. (]mTw 7ImW pI)

Salvador Dali was a surrealist painter. He composed very realistic forms in an unrealistic way. In the same
way, draw two human figures, one animal figure and two man made objects. Now, combine all these
elements in such a way that they look unreal. Explain the idea behind your painting in 40 words. (See

lesson 7)

d) tai,s]≥kn¬,]q]m-{Xw,]pkvX-Iw,s]≥kn¬Iq-SvF∂n-h-bpsS tcJm-Nn{Xw

hc-bv°p-I.1/2Cw]o-cn-b¬ sskkn-ep≈ Im¿{SnUvPvIS-em-kn¬ Ch-sb√mwXΩn-

ep≈ _‘ w shfn-hm-°p∂ Xc-Ø n¬ {Iao-I-cn-°p-I.Cß s\ sNøp-tºmƒkam-

\-X,ebw,Xmfw F∂nhtZymXn-∏n-°m≥ {ian-°p-I.

Draw sketches of a table, pencil, flower vase, pencil box and book. These are available at your home.
Take a 1/2 imperial size cartridge paper and arrange all these drawings into such a composition that
expresses a relationship betwwen each object. Take care to show the elements of balance, harmony and

rhythmin this composition. (See Prac. lesson 4)

6. G sX-¶nepw Hcp{]h¿Ø \w sNøpI 6X1=6

Make any one project out the list of four projects given below:

a) ap{Z-W hpw{Km̂ nIvkpwc≠ v{]tXyIXcwIe-I-fm-W v.{]n‚nw-Knsehnhn[kt¶-

X-ß ƒ G sXms°?Chbv°v{]tXyI D]-I-c-W -ß fpw hkvXp-°fpw B h-iy-am-

W v.\nß ƒ°vCXvkz¥-ambnXøm-dm-°mw.HcpDcp-f-°n-gß vs\SpsI ]nf¿∂-

tijw A Xn¬ HcpsNdnbIØ nD]-tbm-Kn®vHcpaq¿Ø cq]w sImØ n-sb-Sp-°p-

I.CXn¬ ajnap°nbHcp]™ n-sIm≠ vA a¿Ø nXpS-bv°p-I.CXns\ HcpIS-

em-kn¬ ]Xn-∏n-®m¬ Nn{Xw èy-am-Ip-∂p.IqSp-X¬ hen-∏-ap≈ Nn{X-ß ƒ°v]e

Dcp-f-°n-gß vIj-W -ß ƒ D]-tbm-Kn-°mw.

Graphic or print making is a very popular form of art. Write the names of different techniques of print

making. Most types of professional print making require tools and materials.You can also create your
print in an affordable technique. Fetch a potato of reasonable size. Cut it horizontally into half. Now, take
a small knife and create a design on the flat surface of the potato by elliminating those portions that are not
to be printed take a piece of cotton wool, dab it in colour or ink and rub the coloured cotton wool on the
flat projected surface of the potato. To make a bigger picture, you can use more than one potato and
different colours on it. (See Prac. lesson 4)
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b) Hcphmb-\-imekµ¿in®vB [p-\nINn{X-I-esbIpdn-®p≈ Hcp]pkvXIwIs≠-

Ø p-I.CXn¬ Im≥U n-kvIn,s]mt≈ m-°v,ate-hn-®vXpS-ß n-b-h-cpsS A aq¿Ø

Nn{X-ß ƒ It≠-°mw.Chsb ]T\ hnt[-b-am-°p-Ibpw B Ime-L śØ a\-

 n¬ B hm-ln-°p-IbpwsNøp-I.HcpCw{]o-cn-b¬ IS-em-kn¬hc-Ifpw\nd-ß fpw

D]-tbm-Kn®vkam-\-Xbv°pwXmf-e-b-ß ƒ°pwXpey-]-cn-K-W \sImSpØ vHcpNn{Xw

hc-°p-I.CXns\Ipdn®v50hm°n¬ Ipd-bmsX hni-Zo-I-cn-°p-I.

Visit a nearby library and locate a book of modern art.You will find examples of abstract art of famous
painters like kandinsky, Mondrian, Jadeson Pollock, Malevich and others.After studying them, imagine
such an abstract theme of a painting. Take an imperial size of paper and use lines and colours on if,
keeping in mind the importance of balance, rhythm, harmony and-texture of a picture. When the picture
is completed, analyze the picture and give your view on it in fifty words.

(See Prac. lesson 4)

c) \nß ƒhón-em-tL m-jn-°p∂ c≠ vD’-h-ß ƒ I≠ p-]n-Sn-°p-I.CXns‚ A e-¶m-c-

Ø n-\mbnXøm-dm-°p∂ c≠ vcq]-tcJ 1/2 Cw]o-cn-b¬ IS-em-kn¬ a\p-jy-s‚bpw

arK-ß -fp-sSbpw cq]-ß ƒ D]-tbm-Kn®vsNbvXv\ndw sImSp-°p-I.]q°-fpsS cq]-

ß fpw D]-tbm-Kn-°mw.

Identify any two festivals that are celebrated at your home. Make a layout of the decoration you would
plan to do. The layout should be on a 1/2 imperial size paper in colours. Don't forget to use motifs of
humanandanimal figures alongwith floraldesign. (See Prac. lesson 2)

d) 24'' x 20''hen-∏-ap≈ HcpXpW n-I-jW w FSp-°p-I.CXn¬ Hcp\mtSm-Sn-I-e-bpsS

{]mKvcq]w Xp∂n-sb-Sp-°p-I.CXn-\mbn]e\nd-ß -fn-ep≈ \qep-Iƒ D]-tbm-Kn-

°mw.Cß s\D≠ m-°p∂ XpW nHcptai-hncnB bnD]-tbm-Kn-°mw.CXns‚ Hcp

Nn{X-sa-SpØ v\nß -fpsStiJ-c-Ø n¬kq£ n-°p-I.CXp-≠m-°m-\mbn\nß ƒsXc-

s™ -SpØ ]ucm-W nI Iem-cq-]-ß sfIpdn®vHcpIpdn∏vXøm-dm-°p-I.

Take a piece of cloth (24 inches x20 inches) which can be used as a small table cloth. Study some folk art
form, such as Phulkari, Kantha, etc. Plan a design to be stiched on this cloth. Decide the colour that you
want to use. Get the coloured thread and a needle. Pick different matives from traditonal work of Chandar
or sarees. Create your own design find use long stitch to make a beautiful table cloth. Take a photograph
of your creation and put it on your portfolio. Mention those traditional art forms from which you picked
up the motives and explain your reason for choosing them. (See Prac. lesson 4)
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Um‰mF≥{SnHm∏-td-j≥kv

Data Entry Operations

(229)

A ssk≥sa‚v
Assignment

B sI-am¿°v:20
Max. Marks: 20

\n¿t±-i-ß ƒ: (i) F√mtNmZyß fpw\n¿_-‘-ambpwA ‰‚vsNø-W w.Hmtcm∂ns‚bpwam¿°vA XmXv
tNmZy-tØ m-sSm∏w \¬In-bn-́p-≠ v.

(i) All questions are compulsory. The marks allowed for each question are given at same place.

(ii) B ≥k¿jo‰ns‚B ZysØ t]Pns‚apIƒ m̀K-Ø mbnt]cvF≥tdmƒsa‚v\º¿,

s\bnw IqSmsX hnjbw F∂n-h-sb√mw Fgp-Xp-I.

(ii) Write your name, enrolment number,AI name and subject on the top of the first page of the
answer sheet.

1. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepw H∂n\vam{Xw DØ cw Fgp-Xn-bm¬ aXn.

Attempt any 1 ( 2marks each)

1. cmPvHcpt̂ mt́ m-{Km-̂¿B W v.A h\vt̂ mt́m-{Km̂ nh¿°vsNøp-∂-Xn-\p-th≠ nHcpIw]yq-́¿

A kw_vfnsNø-W w.CuIw]yq-́-dn¬ cmPn\vt̂ mt́ m-{Km̂ vkpwhoU n-tbmkpwtÃm¿sNøp-I-

bpw,IqSmsX FU n-‰nw-Kv,kvIm\nw-Kv,{]n‚nwKvF∂otPmen-Iƒ sNøp-Ibpw thW w.CXn-\p-

]‰nb HcpIw]yq-́¿tIm̈ n̂-Ktd-j≥ \n¿t±-in-°p-I.

Raj is a photographer and for his photography work he wants to assemble a computer system. On this
computer he wants to store photographs, videos. He also has to do a lot of editing, scanning, and printing
work. Suggest him a computer configuration for this purpose.

2. A temIvA hs‚Hm∏-td-‰nwKvknÃw(hn≥tUm-kv)A hs‚Iq́p-Im-c-t‚-Xp-ambnXmc-XaywsNbvX-

t∏mƒ A XvA ]vtU ‰vD]-tbm-Kn®v]pXnb ô®-dp-Iƒ B UvsNtø-≠-Xp-≠ v.A Xn-\p-th≠

sÃ]vkvFgp-Xp-I.

Alok compared his Operating system (Windows) with his friend’s and found that it is not updated. He
wants to add new features from Windows Update. Write the steps he should follow for the same.

3. tcW p""C -̨thƒUv'' s\∏‰nHcpdnt∏m¿́vFgp-Xp-Ibpw A Xvdnhyq-hn-\p-th≠ nka¿∏n-°p-Ibpw

sNbvXp.dnhyq-h¿B tUmIyp-sa‚n¬ Nneam‰-ß ƒ\n¿t±-in-°p-I-bpw,NneIa‚vkvHdn-Pn-\¬

tUmIyp-sa‚n¬hcp-Ø m≥tcW p-hn-t\mSv\n¿t±-in-®p.CXn-\p-th≠ ndnhyq-h¿D]-tbm-Kn® ô®¿

G Xm-sW ∂vFgp-Xp-I.IqSmsX tU mIyp-sa‚vA ]vtU ‰vsNøp-∂-Xn-\mbntcW psNtø≠

sÃ]vkpwFgp-Xp-I.

Renu wrote one report on “e-world” and submitted it for the review. The reviewer suggested some
changes and inserted comments without modifying the original document and asked her to
incorporate those changes in the document. Write the name of the feature used by the reviewer and
steps Renu should follow to update the document.
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4. Xmsg-sIm-Sp-Ø n-cn-°p∂ Imcy-ß ƒsNøm≥th≠ Iokvt{SmIvkvA s√-¶n¬Iot_m¿Uvtjm¿́v

I v́Fgp-Xp-I.

Write down the key strokes (Keyboard shortcuts) for the following actions

B £ ≥ Iokvt{SmIv(Iot_m¿Uvtjm¿́vI v́)

Action Key Stroke

Hm∏̈ F b̂¬

Open a file

tkhv

Save

ss ≥̂U v

Find

skeIvSvB ƒ˛F‚-b¿tUmIyp-sa‚v

Select all- Entire Document

2. Attempt any 1 ( 2marks each)

1. A ¬I A h-fpsS kvIqfn-te°vth≠ nFw.-F-kv.-th-Un¬ Hcpam\p-h¬ Xøm-dm-°n.A hƒ°v

A Xns‚ q̂́-dn-ep≈ tU ‰vA ]vtU ‰vsNøp-Ibpw t]Pv\º¿C≥tk¿́vsNøp-Ibpw thW w.

Fß -s\-bmW vA hƒ A XvsNøpI.A Xn-\p≈ sÃ]vkvFgp-Xp-I.

Alka has prepared a manual in MS Word for her school. She wants to update the date in the footer and
also wants to insert the Page numbers. How can she achieve this, write the steps.

2. tkml≥ sabn¬ sa¿PvsNøp-∂-Xn-\p≈ sÃ]vkns‚ HcpenÃvXøm-dm-°n.]t£ A h≥ A Xv

sNøp-tºmƒIpsdsX‰p-IƒhcpØ nXmsg-sIm-Sp-Ø n-cn-°p∂ hmIyß -fnsesX‰p-IƒXncp-Ø pI.

Soham made a list of steps for doing Mail Merge. But he has made many mistakes while performing it.
Correct the mistakes in the sentences given below:

i) se‰-dns‚ t_mU n-bn-emW vUm‰m-tkmgvkvDƒs°m-≠ n-cn-°p-∂-Xv.

The data source contains the body of the letter.

ii) sabn≥tUmIyp-sa‚n-ep≈ sSIvÃpw{Km̂ n-Ivkpw,sa¿PvUvtUmIyp-sa‚ns‚th¿j≥kn-\-

\p-k-cn®vhyXy-kvX-am-W v.

Maindocumentcontaining the textandgraphics isdifferent foreachversionof themergeddocument.

3. cP\n""tkhvhḿ¿'' F∂-Xn-s\-∏‰nHcpB ¿́n-°nƒ Fgp-Xp-I-bm-W v.Xmsg-sIm-Sp-Ø n-cn-

°p∂ Imcy-ß ƒ tjm¿́vI v́IoD]-tbm-Kn®vsNøp-∂-Xn\vA hsfklm-bn-°p-I.

Rajni is writing an article on ‘Save Water’. Help her to do the following using short cut keys:

i) sSIvÃvPÃnss^sNøm≥ Align text to ‘Justify’

ii) sl U nwKvt_mƒUvB °p-Ibpw A ≠ ¿sse≥ sNøp-Ibpw sNøp-I.

Make the heading BOLD and UNDERLINED

iii) apgp-h≥tUmIyp-sa‚nepwtk̂ v‰nF∂ hm°vtkhvF∂m°nam‰p-I.

Replace the word ‘safety’ with ‘save’ in the entire document

iv) b̂¬ tkhvsNøp-I.Save the file



83Data Entry Operations

4. Zneo-]ns‚ A Ω F√mamkhpw t{Kmkdn enÃv{Intb‰vsNøpw.Zneo]vA Ω-tbmSvHcp-amkw

hmß p∂ t{KmkdnsF‰w-kns‚enÃvXcm≥]d-™ p.A h≥FIvk¬ h¿°vjo‰n¬ sF‰wkv

HcptImf-Ø nepw Izm≠ n‰nA SpØ tImf-Ø nepw A Xn-s‚-sbms° hne A Xn-\-SpØ tImf-

Ø nepw sk‰vsNbvXp.Ct∏mƒ A h\vHmtcmsF‰-Ø n-s‚bpw HcpamksØ XpI IW -°p-

Iq́m≥km[n°pw IqSmsX HcpamksØ tSḿ¬ _n√pw.

\nß ƒ A Ω-tbmSvt{KmkdnsF‰-Ø ns‚enÃvtNmZn-°p-I.h¿°vjo‰n{]n∏-b¿sNbvXv{]n‚v

sNbvXvA Ωsbklm-bn-°p-I.

Dilip’s mother creates grocery list every month. Dilipasked his mother to give him the list of grocery items
she buys for a month. He used worksheets in Excel with items in one column and quantity in another
column and their prices in the next column. Now he can very easily calculate amount spent on each item
and the total monthly bill.

Ask your mother for grocery list of the month and help her by creating and printing the worksheet in
Excel.

3. G sX-¶nepwH∂vFgp-Xp-I.Attempt any 1 ( 2marks each)

1. KucnA h-fpsS\mev{̂ ≠ vkns‚Uo‰-bn¬kvh¿°vjo‰n¬ {Iotb‰vsNbvXp.Hmtcm{̂ ≠ n\pw

HmtcmtImfw D≠ m-°n-b-Xn-\p-tijw A h-s\-∏-‰ntbmA s√-¶n¬ A h-sf-∏-‰ntbmD≈ Uo‰-

bn¬kvA Xn¬ FgpXnA Xn-\p-tijwA hƒ Hmt́m-̂n‰v̂ o®dpwdm]vsSIvÃv̂ o®dpwD]-tbm-

Kn-®p.""Hmt́m-̂n‰vtImfwkv''\p≈ sÃ]vkvFgp-Xp-I.

Gauri is creating a worksheet with details of her 4 friends. She makes a separate column for each friend
and writes about him or her in the cell and then she usesAutofit and Wrap Text features. Write the steps
toAutofit Columns.

2. G sX-¶nepw Hcp¢mkns‚ ssSwtS-_nƒ FIvk-en¬ \n¿Ωn-°p-I.

Make a time table of any class in Excel.

1) ]ocn-b-Un\pw s\bnw Hm̂ vH tUbv°pw t_m¿U¿B UvsNøp-I.

Add the border for Periods and Name of the Days.

2) i\n,Rmb¿Znh-k-ß ƒ hyXykvX If-dp-Iƒ n̂¬ sNøp-I.

Fill different colours for Saturday and Sunday.

3) Xmsg-sIm-Sp-Ø n-cn-°p∂ h¿°vjo‰v]cn-tim-[n-°p-I.A Xn¬ hnhn[h¿j-ß -fn¬ hnhn[

tImgvkp-Iƒ°p≈ ÃpU≥kns‚FÆw sImSp-Ø n-cn-°p-∂p.

Consider the following worksheet that shows the number of students in different courses in different
years.
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Xmsg-sIm-Sp-Ø n-cn-°p∂ t̂ m¿ap-e-I-fpsS dnkƒ v́F¥mW v?

What will be the result of the following formulas?

=SUM(B4:B8)

=MIN(C3:D7)

=AVERAGE(C6:C8)

=MAX(B7:B8)

4. cmlp¬ "kvt]m¿SvkvsU ' sb∏‰nHcp{]k-t‚-j≥ Xøm-dm-°n-bn-́p-≠ v.A Xn¬ 3ss…Up-Iƒ

{]k-t‚-j-\n¬ ImW n-t°≠ B h-iy-an√.]t£ B kvssfUp-Iƒ{]k-t‚-j-\n¬ \n∂vU nen‰v

sNøp-Ibpwth≠.G Xv̂ o®¿D]-tbm-Kn-®mW vCXvsNøp-∂XvA Xn-\p≈ sÃ∏p-IƒFgp-Xp-I.

Rahul prepared a presentation on ‘Sports Day’. He does not want 3 slides to appear during the slide
show. But at the same time he does not want to delete the slides as it may be used later. What feature he
should use to do so and also write the steps for the same.

4. G sX-¶nepwH∂vFgp-Xp-I.Attempt any 1 ( 4 marks each)

1. ap‡ nkvIqfnseIw]yq-́¿So®-dm-W v.A hƒ Xs‚ hnZym¿∞ n-tbmSvXmsg-sIm-Sp-Ø n-cn-°p∂

tPmen-Iƒ Iw]yq-́¿em_n¬ sNøm≥ B h-iy-amb sÃ∏p-IƒFgp-Xm≥ B h-iy-s∏-́p.

Mukti is a computer teacher in the school. She asks her student to write down the steps for the following
tasks in the computer lab:

i) Hcpt̂ mƒU¿{Intb‰vsNbvXvA Xn\v“ My_Folder”.F∂p-t]-cp-sIm-Sp-°p-I.

Create a folder and name it as “ My_Folder”.

ii) “test.docx” F∂ MS Word b̂¬ {Intb‰vsNbvXv“ My_Folder” ¬ tkhvsNøpI

Create MS Word file named “test.docx” and save it in ”My_Folder”

iii) “test.docx” s‚HcptIm∏n“My_Folder”¬ D≠ m-°p-I.

Make a copy of “test.docx” in “My_Folder”.

iv) “My_Folder”F∂ t̂ mƒU-dns‚t]cp-am‰n\nß ƒ°n-jvS-ap≈ H∂vsImSp-°p-I.

Change the name of folder “My_Folder” to a different name of your choice.

2. cmPvHcp_m¶n-emW vtPmensNøp-∂-Xv.A h\vU¬l n{_m© n¬ \n∂pwkz¥w\mSmb]m‰v\-

bn-te°v{Sm≥kv̂¿thW w.U¬l nbnse{_m© vsl UvA h-t\mSvB ]vfn-t°-j≥Fgp-Xn-bńv

A Xns‚tIm∏n-Iƒsl UvIzm¿t́-gvkv,U¬ln{_m© v,]m‰v\{_m© v,A Uvan-\n-kvt{S-‰ohvHm̂ okv

F∂n-hn-S-ß -fn-te°vA b-bv°m≥B h-iy-s∏-́p.B πn-t°-j≥Fgp-Xp-∂-Xn-\mbnG Xp̂ o®-dmW v

cmPvD]-tbm-Kn-t°-≠ Xv?IqSmsX cmPns‚ dnt́ ¨ A {U- p≈ F≥h-e∏v{]n‚vsNøm-\p≈

sÃ]vkpwFgp-Xp-I.
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Raj is working with a bank. He wants transfer from Delhi branch to his hometown in Patna. Delhi branch
head asked him to write a formal application and send copies to Headquarters, Delhi branch, Patna
branchandAdministrative office.Which feature shouldRajuse inwriting the application?Alsowrite steps
to create and print envelopes that include Raj’s return address.

3. A ǹkvIqfn-\p-th≠ nHcpamK-kn≥Ih¿U nssk≥ sNøp-I-bm-W v.A h\vA Xn¬ Xmsg-sIm-Sp-

Ø n-cn-°p∂ ô®-dp-Iƒ tN¿°-W w.

Abhi is designing a magazine cover for the school. He wants to include the following features in it:

i) t]Pvt_m¿U¿Page Border

ii) t]Pn\vHcp_m°v{Ku≠ vC ÎvSvA Background effect for the page.

iii) Hcp]nIvN¿A s√-¶n¬ Hcp¢n]vB ¿́vA picture or a clipart.

iv) thUvB ¿́vWordArt

CusÃ∏p-IƒtN¿°m-\p≈ sÃ]vkvFgp-Xp-I.Write steps to include these features.

4. anÃ¿]n.-knwKvF.-_n.-kn.]ªn-t°-j-\nse Hcps{Sbn\nFU n-‰¿B W v.A h≥ \ne-hn¬

Iw]yq-́¿lm¿Uvshb-dn-s\-°p-dn-®p≈ Hcp_p°n-emW vh¿°vsNøp-∂-Xv.Xmsg-sIm-Sp-Ø n-cn-

°p∂ ]mc-{Km̂ v{i≤m-]q¿∆w hmbn-®ńv]n.-knw-Kns\klm-bn-°p-I.

Mr. P. Singh is a trainee editor inABC publication. He is currently working on a book related to Computer
hardware. Read the following paragraph carefully and help Mr. P. Singh in his job:

B apJw

BIOS(_tbmkvt_knIvC≥]ṕv/Húv]ṕvknÃw)F∂ t{]m{Km-amW v\Ωƒ kzn®vHm̈
sNbvXp-I-gn-bp-tºmƒIw]yq-́¿Ãm¿́vsNøp-∂-Xn-\p-th≠ nt]gvk-W ¬ Iw]yq-́-dns‚ ssat{Im

t{]mk- ¿D]-tbm-Kn-°p-∂-Xv.IqSmsX Iw]yq-́-dns‚ Hm∏-td-‰nwKvknÃhpw Iw]yq-́-dn-t\mSv

A ‰m®vsNbvXn-́p≈ U n-ssh-kp-I-fmb lm¿UvU nkvIv,hoUntbmA tUm-]v‰¿,Iot_m¿Uv,

aukv,{]n‚¿XpS-ß n-b-h-bp-am-bp≈ Um‰mtbbpw \nb-{¥n-°p∂p.

INTRODUCTION

BIOS (basic input/output system) are the program a personal computer’s microprocessor uses to get
the computer system started after you turn it on. It also manages data flow between the
computer’s operating system and attached devices such as the hard disk, video
adapter, keyboard, mouse and printer.

_tbmkvA ‰m° v

Hcp_tbmkvA ‰m°vF∂p-]-d-bp-∂Xvaeo-jykvtImUv_tbm-kns\ C≥ ÎvSvsNøp-∂-

XmW v.XpS¿∂vÿ nc-ambndo_q́vsNøp-Ibpwt̂ wsh-b-dns\\in-∏n°m≥{ian-°p-IbpwsNøpw.

BIOS attack

A BIOS attack is an exploit that infects the BIOS with malicious code and is persistent through reboots
and attempts to reflash the firmware.

_q́nwKv

Iw]yq-́nw-Kn¬,_q́nwKvF∂p-]-d-bp-∂-Xv,CPUhnte-°p≈ Ce-Iv{Sn-°¬ ]h-dn-\p-th≠ nkzn®v
Hm̈ sNbvXp-I-gn-bp-tºmƒIw]yq-́¿\S-Ø p∂ A Sn-ÿ m-\-]-c-ambIpd®vHm∏-td-j≥kvB W v.

BOOTING

In computing, booting (also known as booting up) is the initial set of operations that a computer
system performs when electrical power to the CPU is switched on.

i) F√msSIvÃpwTimes New Roman 12 pt, te°vam‰p-I.
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Change all the text to Times New Roman 12 pt.

ii) ssS‰n¬ sk‚¿B °p-I,IqSmsX F√msl U nwKvkpwt_mƒUvB °p-I.

Center the title and make the title and all the headings bold.

iii) ]mc-{Km-̂n\vap≥]pw]n≥]pwkvt]kvCSpI

Insert space before and after the paragraphs.

iv) {]n‚v{]nhypD]-tbm-Kn®vF√mwIdIvSvB bn-́p-s≠ ∂vDd-∏p-h-cp-Ø p-I.

Use print preview to make sure everything looks correct.

5. G sX-¶nepwH∂vFgp-Xp-I.Attempt any 1 ( 4 marks each)

1. B ƒC≥UykvIqƒFUyp-t°-j≥k¿th2013¬ \n∂v\mKm-em‚n¬1367Kḧ sa‚vkvIqfp-

Iƒ,16 tem°¬ t_mU nkvIqfp-Iƒ,9ss{]h‰vFbvU UvkvIqfp-Iƒ,16 tem°¬ t_mU n

kvIqfp-Iƒ,9ss{]h‰vFbvU UvkvIqfp-Iƒ,IqSmsX 96 ss{]h‰vA ¨ FbvU UvkvIqfp-Iƒ

D≠ vvF∂vImW p-hm≥km[n-°pw.

Cuhnh-c-ß ƒ FIvk¬ jo‰n¬ F‚¿sNøp-Ibpw Um‰sb{]Xn-\n-[m\w sNøp∂ Hcpss]

Nm¿́vDƒs∏-Sp-Ø p-Ibpw sNøp-I.

InAll India School Education Survey 2013 it was found that the state of Nagaland has 1367 Government
Schools, 16 Local Body Schools, 9 PrivateAided Schools, and 96 Private Un-Aided Schools.

Enter this information in an Excel sheet and insert a Pie Chart to represent this data.

2. C≥Uy-bnsekwÿ m-\-ß -sfbpw A Xns‚ Xe-ÿ m-\-ß -sfbpw kw_-‘ n-°p∂ HcpIznkv

t{]m{Kmw \S-Ø p-hm-\mbnDXvI¿jvHcp]h¿t]mbn‚v{]k-t‚-j≥ \n¿Ωn-®n-́p≠ v.F√m

kvssfU nepw sSIvÃvt̂ man¬ aƒ ń-∏nƒ tNmbvkvtNmZy-ß ƒ A S-ß n-bńp≠ v.Ct∏mƒ A h\v

A Xn¬ Ipd®vam‰-ß ƒ hcp-Ø -W w.\nß ƒ A Xn-\p-th≠ sÃ]vkvFgpXnA hs\ klm-bn-

°pI.

Utkarsh created a PowerPoint presentation to conduct a quiz on States of India and their Capitals.All his
slides contain multiple choice questions in text form. Now he wants to make some improvements in the
presentation.You have to help him by writing the steps to do the following:

(i) Ipd®pkvssfUp-Iƒkwÿ m-\-ß -fpsSam∏vDƒs∏-Sp-Ø p-I.

Insert maps of states in some slides.

(ii) Nne ss…Up-Iƒ°vkabw G ¿s∏-Sp-Ø p-I.A Xp-aqew tNmZy-ß ƒ Hcpka-b-]-cn-[n-°p-

≈ n¬ am{XtaImW p-hm≥km[n-°p.

Set timings for certain slides so that a question appears only for a limited time.

(iii) kvssfUvtjmbpsSka-bØ vIpd®vA \n-ta-j-t\m-Sp-IqSnkvssfUvkvImW n-°p-I.

During the slide show slides appear with some animation.

(iv) HmtcmkvssfU n-s‚bpw Nph-́n¬ C∂sØ XobXnImW n-°pI

Current date appears at the bottom of each slide.

3. \nß ƒ HcpUm‰mF≥{SnHm̂ o-kn-emW vh¿°vsNøp-∂XvF∂vk¶-ev]n-°p-I.XpS¿®-bmbn

\nß ƒ°vD]-t̀m-‡ m-°ƒ°vIØ p-IƒFgp-tX-≠-Xm-bn-́p-≠ v.an°-hmdpwIØ p-I-fpsSD≈-S°w

Htc-t]m-se-bm-bn-cn°pw.]t£ D]-t̀ m-‡ m-°-fpsS hy‡ n-]-c-amb hnh-c-ß ƒ hyXy-kvX-am-bn-

cn°pw.\ΩpsS tPmenIqSp-X¬ kuI-cy-{]-Z-ambnsNøp-hm-\mbn MS Word s‚ Mail Merge
ô®¿D]-tbm-Kn-°mw.CXn-\mbnHcpkmw]nƒ Um‰mtkmgvkvU nssk≥ sNøp-I.Um‰m
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tkmgvkn¬ Ipd-™ Xv5 ô¬UvF¶nepw D≠ m-bn-cn-°-W w.

Suppose you are working as a Data Entry Operator in an office. Very frequently you are asked to write
personalized letters to various clients. Most of the times contents of the letters are the same but personal
details of clients are different to make the letters personalized.You want to use Mail Merge feature of MS
Word to make your job convenient. Design a sample Data Source (in Excel) for this purpose. The data
source should have at least 5 fields.

4. Xmsg-]-d-bp∂ \n¿t±-i-ß ƒ Dƒs°m-≈ n-®p-sIm≠ vHcpthUvtUmIyp-sa‚vD≠ m-°m-\mbn

\nß ƒ°vHcpA ssk≥sa‚vIńnF∂n-cn-°-s .́

Suppose you are given an assignment to create a word document with following specifications:

(i) tUmIyp-sa‚ns‚ ssS‰n¬ sk‚¿A sse≥ sNbvXXpw t_mƒUpw B bn-cn-°-W w.

Title of the document should be Bold and Centre aligned.

(ii) ]n∂oSvhcp∂ m̀K-ß ƒapgp-h≥PÃnss^ sNøp-I.

For the remaining text the alignment should be “Justified”.

(iii) tUmIyp-sa‚ns‚ A h-km\w UmjvUvsse≥ (̨-̨-̨-̨-̨)D≠ m-bn-cn-°-W w.

There should be a dashed line ( -------) at the end of the document.

(iv) t]Pns‚ Hmdn-b-t‚-j≥em‚vkvtI]vB bn-cn-°-W w.

Page orientation should be Landscape.

apI-fn¬ sImSp-Ø n-cn-°p∂ Imcy-ß ƒ sNøm≥ sÃ]vkp-IƒFgp-XpI

Write steps to perform each of the above mentioned functions.

6. s{]mPIvSv̨ G sX-¶nepwH∂vFgp-Xp-I.Project - Attempt any 1 ( 6 marks each)

1. HcpkvIqfnsekvt]m¿SvkvUn∏m¿́vsa‚vtÃm¿sNøm\pwkvt]m¿Svkvdnte-‰UvUm‰mA \-

ssekvsNøm-\p-ambnh¿°vjo‰vD≠ m-°n-bn-́p-≠ v.h¿°vjo‰pwA Xns‚ {Km̂ pwXmsg-sIm-Sp-

Ø n-́p-≠v.

The sports department of a school has created a worksheet to store and analyse sports related data. The
worksheet and the corresponding graphs are given below:

Sports Department
(Progressive Minds School)

S.No. Team Coach Matches Matches Highest %age of
Neela Played Won Level Matches Remarks

Won

1 Basket Ball( J) Neelam 10 8 State 80.00%  

2 Basket Ball( S) Indrash 15 10 State 66.67%  

3 Volley Ball( J) Archita 12 9 State 75.00%  

4 Volley Ball( S) M. Pal 18 15 National 83.33%  

5 Cricket (J) Narendra 10 7 Zonal 70.00%  

\nß ƒ CXp-t]mseas‰mcpkvIqfn-\p-th≠ nh¿°vjo‰pw{Km̂ pw \n¿Ωn-°p-I.
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You are required to create similar worksheet with charts for some other school.

2. \nß -fpsSNp‰p-]m-Sp-Isfkw_-‘ n®vhnh-c-ß ƒtiJ-cn-°p-I.(G -cn-b,hoSns‚\º¿,t]meokv

tÃj≥,t]mÃvHm̂ o-kv,RWAXpS-ß n-b-h)A Xn-\p-tijwIpd-™ Xv2t]PvD≈ tUmIyp-sa‚v

Xøm-dm-°p-I.tUmIyp-sa‚n¬ Dd-∏mbpwIrXy-amb4]S-ß ƒ sImSp-Ø n-cn-°-W w.

Gather information about your locality (likeArea, Number of houses, Police Station, Post Office, RWA
etc.) and prepare a document of at least 2 pages about it.The document must contain at least 4 relevant
images.

3. ""Cwt]m¿́≥kvHm̂ vsl ¬Ø v''F∂ hnj-b-sØ -∏‰nHcp]h¿t]mbn‚v{]k-t‚-j≥ D≠ m-

°p-I.Xmsg-]-d-™ n-cn-°p∂ Imcy-ß ƒ A Xn¬ Dƒs°m-≈ n-°p-I.

Create a PowerPoint presentation on “Importance of Health”. It must include the following (one slide
each):

(i) F¥mW vsl¬Ø v?What is Health

(ii) sa‚¬ sl¬Ø vB ‚v̂ nkn-°¬ sl¬Ø vMental Health and Physical Health

(iii) sl ¬Ø n̂ pUvlm_n‰vkvHealthy Food Habits

(iv) tdmƒHm̂ v̂ nkn-°¬B IvSn-hn‰nC≥sabn-s‚-bn-\nwKvsl¬Ø v.Role of Physical activity
inmaintainingHealth

4. \nß -fpsS ÃU nsk‚-dnseIw]yq-́¿em_n-s\-]‰nHcpdnt∏m¿́vXøm-dm-°p-I.dnt∏m¿́n¬

\n¿_-‘-ambpw Xmsg-]-d-™ n-cn-°p∂ Imcy-ß ƒ Dƒs∏-Sp-Ø n-bn-cn-°-W w.

Create a report on Computer Lab(s) in your study centre. The report must at least include the following
information:

(i) ÃUnsk‚-dnseIw]yq-́-dp-I-fpsSFÆw.Number of computers in the study centre.

(ii) ÃUnsk‚-dnseIw]yq-́¿em_p-I-fpsSFÆhpw Hmtcmem_n-sebpwIw]yq-́-dp-I-fpsS

FÆhpw

Number of computer labs in the study centre and number of computers in each lab.

(iii) ÃUnsk‚-dnseIpd-™ Xvc≠ vIw]yq-́-dn-s‚-sb-¶nepwtIm̈ n̂-K-td-j≥Fgp-Xp-I.

Configuration of at least 2 computers in the study centre

(iv) hnhn-[-ß -fmb Hm∏-td-‰nwKvknÃ-Ø ns‚ t]cp-Iƒ

Names of various Operating Systems being used

(v) C≥Ãmƒ sNbvXn-́p≈ ]e-X-c-Ø n-ep≈ tkm̂ v‰vshb-dp-I-fpsS t]cv.

Names of various software installed

(vi) G Xp-X-c-Ø n-ep≈ ]ptcm-K-a-\-amW v\nß ƒ em_n¬ {]Xo-£ n-°p-∂-Xv.

What improvements do you expect in the lab(s)
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(232)

\n¿±njvS]T\{]h¿Ø \w

B sIam¿°v̨ 20

Ipdn∏v:(1)F√mhǹm-K-ß -fnsebpw tNmZy-ß ƒ°vX∂n-cn-°p∂ \n¿t±-i-ß ƒ

A \p-k-cn®vDØ -c-sa-gp-X-W w.

(2)DØ c°S-em-kns‚ H∂mw]pdØ v\nß -fpsSt]cv,tdmƒ\-º¿,A ≤yb\

tI{µ-Ø ns‚ t]cv,hnj-b-Ø ns‚ t]cvF∂nhFgp-X-W w.

1.XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ Hsc-Æ-Ø n\v40˛60hm°n¬ DØ -c-

sa-gp-Xp-I.(2am¿°v)

(1) ]pkvXI hmb-\-bn¬ {i≤n-t°≠ Imcy-ß fpwhmbn®pIpdn-s∏-Sp-°p-∂-Xp-

sIm-≠p≈ {]tbm-P-\-ß fpw Fs¥√mw? (B -[mcw:]mTw:4)

(2) ‘DÆmbnhmc-cp-≠m-bn........hmcn-b-I-Ø q-́n-tbsd’F∂ hcn-I-fn-eqsSIp™ pÆn

\¬Ip∂ G ‰hpw {][m\kqN\ F¥v? (B -[mcw:]mTw:5)

(3) \nß -fpsSPohn-X-Ø nse{][m-\-s∏́ HcpZnh-ksØ kẁ -h-ß ƒ Ub-dn-

°p-dn-∏mbnFgp-Xp-I. (B -[mcw:]mTw:6)

(4) koXmkzbw-hcw F∂ Ihn-X-bn¬ P\w hnkva-bn-°m≥ Imc-W -ambn

Fgp-Ø -—≥ Nq≠ n-°m-W n-°p-∂XvFs¥√mw? (B -[mcw:]mTw:7)

2.XmsgsImSp-Ø n-cn-°p∂ tNmZy-ß -fn¬ Hsc-Æ-Ø n\v40̨ 60hm°n¬ DØ -c-sa-gp-Xp-

I. (2am¿°v)

(1) \nXyPohn-X-Ø n¬ Npcp-°n-∏-d-tb≠ nhcp∂ Nnekµ¿̀-ß ƒhnh-cn-°pI?

(B -[mcw:]mTw :13)

(2) q̀{]-Ir-Xn-bn¬ tIc-f-tØ mSpkmZriyw hl n-°p∂p_men-Zzo]v̨

hni-Zo-I-cn-°p-I. (B -[mcw:]mTw :14)
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(3) B ibhn]p-e\w sNøp-I.

ap√q-∏q-sºm-Sn-tb-‰p-In-S°pw

I√n-\p-ap-≠m-samcpkuc̀yw (B -[mcw:]mTw :17)

(4) “Nn∂nb ]q¶p-e-Ifmw ]́ p-sXm-ß ¬ Nqgp-samcps]m∂-timIwhnS¿Ø nb

IpS-X≥ Iogn¬”.kzmckywhni-Z-am-°p-I. (B -[mcw:]mTw :10)

3.XmsgsImSp-Ø n-́p≈ tNmZy-ß -fn¬ Hsc-Æ-Ø n\v40˛60hm°n¬ DØ -c-

sa-gp-Xp-I.(2am¿°v)

(1) koX-bpsSIY ‘s]ß ƒ’ F∂ Ihn-X-bn¬ H.-F≥.-hn.Ipdp∏v[z\n-∏n-®n-cn-

°p-∂XvFß s\? (B -[mcw:]mTw:18)

(2) “IY-IfnA \-h[nkpµcIe-I-fpsSkwtbm-Pn-X-cq-]-amW v” h̨ni-Zo-I-cn-°p-I.

(B -[mcw:]mTw :21)

(3) k¿∆-aX ktΩ-f-\-Ø n¬{io\mcm-bW KpcpDb¿Ø nbap{Zm-hmIywF¥v?

A Xns‚ s]mcpƒ F¥v? (B -[mcw:]mTw:23)

(4) Pm\Ω Hcpinem{]Xnat]mse\n∂pt]mIm≥CS-bmbkẁ hwhnh-cn-°p-I.

(B -[mcw:]mTw:27)

4.XmsgsImSp-Ø n-́p≈ tNmZy-ß -fn¬ G sX-¶nepw Hsc-Æ-Ø n\v100̨ 150hm°n¬

DØ -c-sa-gp-Xp-I.(4am¿°v)

(1) I® ńkzman-bm-cpsS IY-bn¬ kRvP-b≥ ]tcm-£ -ambnB sc-sb√mw

]cn-lkn°p-∂p. (B -[mcw:]mTw:2)

(2) tKm]-kv{Xo-I-fpsS IrjvW -t{]aw D∑m-Zm-h-ÿ -tbmfw FØ n-bn-cn-°p-∂p.

Fs¥ms° kqN-\-I-fmW vCu]mT-Ø n¬ \n∂pw CXn\vèn-°p-∂-Xv.

(B -[mcw:]mTw:3)

(3) IpSpw_ PohnXwB Z¿i ]q¿Æ-am-°m≥sI.]n.tIi-h-ta-t\m≥apt∂ḿp

hbv°p∂ Imcyß ƒ Fs¥√mw? (B -[mcw:]mTw:8)
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(4) ]Ø mw-¢mkvP-bn®pIgn™ \nß ƒ hnSp-X¬ k¿́n-̂n-°-‰n\pw kz̀mh

k¿́n-̂n-°-‰n-\p-ambnka¿∏n-°p∂ HcpA t]£ Xøm-dm-°p-I.

(B -[mcw:]mTw:9)

5.XmsgsImSp-Ø n-́p≈ tNmZy-ß -fn¬ G sX-¶nepw Hsc-Æ-Ø n\v100̨ 150hm°n¬

DØ -c-sa-gp-Xp-I.(4am¿°v)

(1) “\oe-IW vTkzman-sb-t∏m¬ hnjw Xmt\ p̀Pn-®ńp{]mW -hmbpXcp-t∂m-

\m-bnX sXmgp-t∂≥”.Cuhcn-I-fnse{]tbm-K-hn-tijwhy‡ -am-°p-I?

(B -[mcw:]mTw:20)

(2) \mc-Z≥ cmh-W s\ hmen¬ IpSp-°nb coXnIp© ≥\-ºym¿hnh-cn-°p-∂-

sX-ß s\? (B -[mcw:]mTw:24)

(3) Ph-l¿em¬ s\l vdp-hns‚ A ǹ-{]m-b-Ø n¬ C¥y-bpsS G I-Xz-Ø ns‚

khn-ti-j-X-Iƒ Fs¥√mw? (B -[mcw:]mTw:26)

(4) ‘s\bv∏m-bkw’ F∂ IY-bn¬ \K-c-Po-hn-X-Ø ns‚ khn-ti-j-X-Iƒ

am[-hn-°ṕnA h-X-cn-∏n-°p-∂-sX-ß s\? (B -[mcw:]mTw:19)

6.t{]mPIvSv

Xmsg-s°m-Sp-Ø n-cn-°p∂ \meptNmZy-ß -fn¬ G sX-¶nepw H∂n\v500hm°n¬

Ihn-bmsX DØ -c-sa-gp-Xp-I.(6am¿°v)

(1) t{ijvT-̀m-jm-]-Zhnèn® ae-bmf m̀j-bpsSal-Xz-sØ -°p-dn®vD]-\y-kn-°p-I.

(2) imkv{X kmt¶-XnIcwKsØ ]ptcm-KXnhmb-\-io-e-Ø n\vXS- -ambn\n¬°p∂p

˛CuA ǹ-{]m-bØ ns‚ kmwKXyw ]cn-tim-[n-°p-I.

(3) ‘{]IrXnkwc-£ -W hpwa\p-jy\pw’ C̨uhnj-b-Ø n¬ \S-Ø p∂ skan-\m-dn¬

A h-X-cn-∏n-°p-∂-Xn-\p≈ {]_‘ w Xøm-dm-°p-I.

(4) h¿≤n®phcp∂ KXm-K-X-°p-cp°v\K-c-Po-hn-XsØ amX-a-√,{Kma-Po-hn-X-sØ bpw

kmc-ambn_m[n-°p-∂p.KXm-K-X-°p-cp°v]cn-l-cn-°p-∂-Xn-\p≈ \nß -fpsS

\n¿t±-i-ß ƒ Dƒs∏-SpØ nA [n-Im-cn-Iƒ°vka¿∏n-°p-∂-Xn-\p≈ \nth-Z\w

Xøm-dm-°p-I.


